



# GUVERNUL REPUBLICII MOLDOVA

## HOTĂRÂRE nr. \_\_\_\_

din 2021

Chişinău

### Cu privire la transmiterea unor bunuri

---

În temeiul art. 6 alin. (1) lit. a) și art. 14 alin. (1) lit. b) din Legea nr. 121/2007 privind administrarea și deetatizarea proprietății publice (Monitorul Oficial al Republicii Moldova, 2007, nr. 90-93, art. 401), cu modificările ulterioare, și al art. 8 alin. (2) din Legea nr. 523/1999 cu privire la proprietatea publică a unităților administrativ-teritoriale (Monitorul Oficial al Republicii Moldova, 1999, nr. 124-125, art. 611), cu modificările ulterioare, Guvernul HOTĂRÂSTE:

**1.** Se transmit, cu acordul consiliilor raionale, cu titlu gratuit, din proprietatea statului, administrarea Ministerului Educației și Cercetării, în proprietatea unităților administrativ-teritoriale bunurile indicate în anexă.

**2.** Ministerul Educației și Cercetării în comun cu autoritățile publice locale vor institui comisiile de transmitere, în termen de 30 de zile, și vor asigura transmiterea bunurilor indicate în anexă conform prevederilor Regulamentului cu privire la modul de transmitere a bunurilor proprietate publică, aprobat prin Hotărârea Guvernului nr. 901/2015.

**3.** Prezenta hotărâre intră în vigoare la data publicării în Monitorul Oficial al Republicii Moldova.

**Prim-ministru**

**Natalia GAVRILIȚĂ**

**Contrasemnează:**

**Ministrul educației  
și cercetării**

**Anatolie TOPALĂ**

Anexă

la Hotărârea Guvernului nr.

## LISTA

**bunurilor și materialelor circulante care se transmit din proprietatea statului, administrarea**

**Ministerului Educației și Cercetării, în proprietatea unităților administrativ-teritoriale**

Nr. crt.	Raionul/ municipiul	Denumirea bunurilor distribuite	Unitatea de măsură	Prețul unei buc., lei	Cantitatea	Valoarea de bilanț, lei
1.	Anenii Noi	<b>Tablet</b> <b>Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter: Wireless, Silent Optical Mouse, 2.4GHz, USB: 10.1 Carrying case</i>	buc	8139,33	12	97671,96
		<b>DLP Data Video Projector</b> <b>Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS-232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling Mount: Cable HDMI to HDMI 4.5m: Power Cord Cable Extension High quality:</i>	buc	7166,15	4	28664,60

	<p><b>Laptop 15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case</p> <p><b>Colored MFD CANON MAXFY MB5140</b> <i>Additional Dual Resistant High Density 4 ink tanks (Black, Cyan, Magenta, Yellow)/ PGI-2400XL BK/PGI-2400XL: Cable USB2.0-Am-Vm, 1.8m, A-plug B-plug, Black:</i></p> <p><b>Read ABCD Romanian</b> Phonology and Reading Mixed type software (step by step reading) in Romanian Language with Universal Desingn of Learning (UDL)</p> <p><b>Text Aloud 4</b> Text to speech software with hilighting whilst reading, incudes Russian and Romanian voice</p> <p><b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.</p> <p><b>Mind Express4 AAC</b> Alternative, Augumentative Communication software, for Education and Communication</p> <p><b>iCSPEECH Standard Edition</b> Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian</p> <p><b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian</p> <p><b>IWRITITE prediction, Romanian</b> Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.</p>	buc	5968,31	4	23873,24
		buc	4195,76	4	16783,04
		buc	1783,93	4	7135,72
		buc	1665,00	4	6660,00
		buc	1189,29	4	4757,16
		buc	2293,62	4	9174,48
		buc	3482,91	4	13931,64
		buc	1104,34	4	4417,36
		buc	1189,26	4	4757,04

	<p>Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen,licens with dongle, <b>(ZoomText, Magnifier/Reader)</b></p> <p>Software to develop language activities in Romanian and Russian language <b>(Clicker7)</b></p> <p>Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b></p> <p>Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons)</p> <p><b>Item 6 includes item 5 as well</b></p> <p>Mind Mapping software, with a library of pictures and possibility to make mind maps for sinior children <b>Inspiration 10.</b></p> <p><b>Recordable Talking Wall Panel Story Sequencer (intem 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, ppelling and phonology, auditory discrimination, vizual discrimination etc.</p> <p><b>Recordable Talking Interactive Wall (intem 2)</b> Talking board with a nomber of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovissual discrimination and many mare.</p>	buc	6544,08	4	26176,32

	<p><b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.</p> <p><b>Chater Block (item 4)</b> Dice (talking), for young children.</p> <p><b>Attention Training Sowtware (sent digitally) (item 5)</b> Attention Training set.</p> <p><b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).</p> <p><b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special cades/labels, set of about 400 self-sticking codes, (5% deviation +/-)</p> <p><b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)</p> <p><b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100</p> <p><b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100</p> <p><b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.</p> <p><b>Keeping up with Cheetah Romanian/English book</b></p>	buc	2662,52	4	10650,08

<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,90	24	165,60
<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	12	69,96
<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	4	23,32
<b>MOLDOVA BOX AND HANDLES</b>	buc	17,50	4	70,00
<b>Start arrows for Intems 10-12 (Sageti)</b>	buc	1,00	8	8,00
FM Hearing Aids for students, to be user in the classroom and the Resoursec Room <b>PHONAK BOLERO V30 P PHONAK ROGER MyLink</b>	buc	11619,89	4	46479,56
<b>PHONAK ROGER TouchScreen Mic</b> FM transmiter for the Teacher, who teaches hearing impaired students.	buc	11827,15	4	47308,60
First Aid kit Hearing Aids <b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tblrts)-2 pcs; Phonak air puffer-1pcs.; Phonak Cleasing beaker(dryng tub)-1 pcs.; Set of3 cleaning tools-1pcs.; Nattery13*H ZINC/AIR-1pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:	buc	773,92	4	3095,68
<b>Monster 2 High Visibility RO Keyboard</b> KYB-MON2VIS-UCUH Accuratus Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&2 Port USB Hub, with stikers in Romanian language	buc	842,75	4	3371,00

	<b>BigKeys LX gwerty Upper Case Black on White RO</b> Ablenet BigKeys LX QWERTY Keyboard-Romanian language	buc	2814,63	4	11258,52
	<b>Keyboard Gembird KB-U-103-RU Standard Black/RO</b> KB-U-103-RU Gembird with self-sticking plastic labels, small and caps letters, in Romanian language	set	134,74	12	1616,88
	<b>BigKeys LX Keyguard PROSOPSIS</b> Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	4	6141,04
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	4	10245,36
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	4	11362,64
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	4	12383,36
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	4	1960,16
	<b>Praetorian Optima Joystick SKU:OPMAJ</b>	buc	3725,62	4	14902,48
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	4	6701,36
	<b>Pretorian Smoothie 125</b>	buc	665,28	4	2661,12
	<b>Pretorian Smoothie 75</b>	buc	665,28	4	2661,12
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	4	7366,92
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	4	59572,23

	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	4	6506,68
	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	4	47046,08
	A portable HD Video magnifier tablet, with at least 10 inches screen ( tabletă cu rezoluție HD, cu ecranul de cel puțin 10 incii)	buc	18888,64	4	75554,56
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Foi laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059,00	4	8236,00
	Cloured Magnetic Number Frames 80pcs	set	1334,77	4	5339,09
	Bee-Bot Programmes Floor Robot	buc	1265,19	4	5060,75
	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	8	4771,56
	Bee-Bot Countryside Mat	buc	596,45	4	2385,78
	BEE-Bot Shapes, Colour and Size Mat	buc	596,45	4	2385,78
	Easi-Tomer	buc	596,45	4	2385,78
	Mixed Colours Reading Ruler 10pk	buc	271,11	8	2168,89
	Coloured Eye Level Reading Ruler 10pk	set	298,22	4	1192,89
	GET a Grip Pencil Grips	set	976,00	4	3904,01
	Development Pensil Grips	set	271,11	4	1084,45

		<b>Romanian Letters of the Alphabet</b> <b>Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language	set	896,03	4	3584,12
		<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	4	538,96
		<b>Total</b>			<b>344</b>	<b>764251,09</b>
2.	Bălți	<b>Tablet Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB:</i> <i>10.1 Carrying case</i>	buc	8139,33	21	170925,93
		<b>DLP Data Video Projector Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS-232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling Mount: Cable HDMI to HDMI 4.5m: Power Cord Cable Extension High quality:</i>	buc	7166,15	7	50163,05
		<b>Laptop 15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case	buc	5968,31	7	41778,17

	<b>Colored MFD CANON MAXFY MB5140</b> <i>Additional Dual Resistant High Density 4 ink tanks (Black, Cyan, Magenta, Yellow)/ PGI-2400XL BK/PGI-2400XL: Cable USB2.0-Am-Vm, 1.8m, A-plug B-plug, Black:</i>	buc	4195,76	7	29370,32
	<b>Read ABCD Romanian</b> Phonology and Reading Mixed type software (step by step reading) in Romanian Language with Universal Desingn of Learning (UDL)	buc	1783,93	4	7135,72
	<b>Read ABCD Russian</b> Phonology and Reading Mixed type software (step by step reading) in Russian Language with Universal Desingn of Learning (UDL)	buc	2123,72	3	6371,16
	<b>Text Aloud 4</b> Text to speech software with hilighting whilst reading, incudes Russian and Romanian voice	buc	1665,00	7	11655
	<b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.	buc	1189,29	4	4757,16
	<b>Maths 1 Russian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Russian language.	buc	1274,23	3	3822,69
	<b>Mind Express4 AAC Alternative, Augumentative Communication software, for Education and Communication</b>	buc	2293,62	7	16055,34
	<b>iCSPEECH Standard Edition</b> Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian	buc	3482,91	7	24380,37
	<b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian	buc	1104,34	7	7730,38

	<b>IWRTITE prediction, Romanian</b> Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.	buc	1189,26	4	4757,04
	<b>IWRTITE prediction, Russian</b> Prediction software to speedup writing and help also with spell checking, for Russian language. To predict words.	buc	1274,26	3	3822,78
	Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen,licens with dongle, <b>(ZoomText, Magnifier/Reader)</b>	buc	6544,08	7	45808,56
	Software to develop language activities in Romanian and Russian language <b>Clicker7)</b>	buc	5174,35	7	36220,45
	Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b>	buc	1319,95	4	5279,8
	Primary school Social skils software, Russian language <b>(On the Road with Safety)</b>	buc	1496,22	3	4488,66
	Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons) <b>Item 6 includes item 5 as well</b>	buc	1149,74	7	8048,18
	Mind Mapping software, with a library of pictures and possibility to make mind maps for sinior children <b>Inspiration 10.</b>	buc	1149,74	7	8048,18
	<b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, ppelling and phonology,	buc	789,44	7	5526,08

	auditory discrimination, vizual discrimination etc.				
	<b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.	buc	743,66	7	5205,62
	<b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.	buc	2662,52	7	18637,64
	<b>Chater Block (item 4)</b> Dice (talking), for young children.	buc	423,57	7	2964,99
	<b>Attention Training Software (sent digitally) (item 5)</b> Attention Training set. (Set de formare a atentiei)	buc	967,37	7	6771,59
	<b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels). (Stilou vorbitor care citeste si inregistreaza texte pe coduri speciale autocolante)	buc	1495,80	14	20941,2
	<b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special cades/labels, set of about 400 self-sticking codes, (5% deviation +/-)	set	396,62	14	5552,68
	<b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)	buc	486,80	14	6815,2

	<b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,40	28	24455,2
	<b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,40	7	6113,8
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	4	3584,12
	<b>Russian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	895,82	3	2687,46
	<b>Keeping up with Cheetah Romanian/English book</b>	buc	267,75	7	1874,25
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,90	42	289,8
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	21	122,43
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	7	40,81
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,50	7	122,5
	<b>Start arrows for Items 10-12 (Sageti)</b>	buc	1,00	14	14
	FM Hearing Aids for students, to be used in the classroom and the Resource Room <b>PHONAK BOLERO V30 P PHONAK ROGER MyLink</b>	buc	11619,89	7	81339,23
	<b>PHONAK ROGER TouchScreen Mic</b> FM transmitter for the Teacher, who teaches hearing impaired students.	buc	11827,15	7	82790,05

	First Aid kit Hearing Aids <b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer-1pcs.; Phonak Cleasing beaker(dryng tub)-1 pcs.; Set of3 cleaning tools-1pcs.; Nattery13*H ZINC/AIR-1pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:	buc	773,92	7	5417,44
	<b>Monster 2 High Visibility RO Keyboard</b> KYB-MON2VIS-UCUH Accuratus Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&2 Port USB Hub, with stikers in Romanian language	buc	842,75	7	5899,25
	<b>BigKeys LX gwerty Upper Case Black on White RO</b> AbleNet BigKeys LX QWERTY Keyboard-Romanian language	buc	2814,63	7	19702,41
	<b>Keyboard Gembird KB-U-103-RU Standard Black/RO</b> KB-U-103-RU Gembird with self-sticking plastic labels, small and caps letters, in Romanian language	set	134,74	21	2829,54
	<b>BigKeys LX Keyguard</b> PROSOPSIS Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	7	10746,82
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	7	17929,38

	<b>AbleNet Quick Talker 12</b>	buc	2840,66	7	19884,62
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	7	21670,88
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	7	3430,28
	<b>Praetorian Optima Joystick SKU:OPMAJ</b>	buc	3725,62	7	26079,34
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	7	11727,38
	<b>Pretorian Smoothie 125</b>	buc	665,28	7	4656,96
	<b>Pretorian Smoothie 75</b>	buc	665,28	7	4656,96
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	7	12892,11
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	7	104251,4088
	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	7	11386,69
	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	7	82330,64
	A portable HD Video magnifier tablet, with at least 10 inches screen	buc	18888,64	7	132220,48
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Foi laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059,00	7	14413
	Cloured Magnetic Number Frames 80pcs	set	1334,77	7	9343,4061
	Bee-Bot Programmes Floor Robot	buc	1265,19	7	8856,309

		Bee-Bot Transparent Grid Mat 8x8	buc	596,45	14	8350,2342
		Bee-Bot Countryside Mat	buc	596,45	7	4175,1171
		BEE-Bot Shapes, Colour and Size Mat	buc	596,45	7	4175,1171
		Easi-Tomer	buc	596,45	7	4175,1171
		Mixed Colours Reading Ruler 10pk	buc	271,11	14	3795,561
		Coloured Eye Level Reading Ruler 10pk	set	298,22	7	2087,5589
		GET a Grip Pencil Grips	set	976,00	7	6832,0091
		Development Pensil Grips	set	271,11	7	1897,7805
		<b>Romanian Letters of the Alphabet</b> <b>Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	7	6272,21
		<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	7	943,18
		<b>Total</b>				<b>1339496,78</b>
3.	Basarabeasca	<b>Tablet Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB: 10.1 Carrying case</i>	buc	8139,33	6	48835,98

	<b>DLP Data Video Projector Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS- 232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling Mount: Cable HDMI to HDMI 4.5m: Power Cord Cable Extension High quality:</i>	buc	7166,15	2	14332,30
	<b>Laptop 15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case	buc	5968,31	2	11936,62
	<b>Colored MFD CANON MAXFY MB5140</b> <i>Additional Dual Resistant High Density 4 ink tanks (Black, Cyan, Magenta, Yellow)/ PGI- 2400XL BK/PGI-2400XL: Cable USB2.0-Am- Vm, 1.8m, A-plug B-plug, Black:</i>	buc	4195,76	2	8391,52
	<b>Read ABCD Romanian</b> Phonology and Reading Mixed type software (step by step reading) in Romanian Language with Universal Desing of Learning (UDL)	buc	1783,93	1	1783,93
	<b>Read ABCD Russian</b> Phonology and Reading Mixed type software (step by step reading) in Russian Language with Universal Desing of Learning (UDL)	buc	2123,72	1	2123,72
	<b>Text Aloud 4</b> Text to speech software with hilighting whilst reading, includes Russian and Romanian voice	buc	1665,00	2	3330,00
	<b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.	buc	1189,29	1	1189,29
	<b>Maths 1 Russian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Russian language.	buc	1274,23	1	1274,23

	<b>Mind Express4 AAC Alternative, Augumentative Communication software, for Education and Communication</b>	buc	2293,62	2	4587,24
	<b>iCSPEECH Standard Edition</b> Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian	buc	3482,91	2	6965,82
	<b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian	buc	1104,34	2	2208,68
	<b>IWRTITE prediction, Romanian</b> Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.	buc	1189,26	1	1189,26
	<b>IWRTITE prediction, Russian</b> Prediction software to speedup writing and help also with spell checking, for Russian language. To predict words.	buc	1274,26	1	1274,26
	Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen,licens with dongle, <b>(ZoomText, Magnifier/Reader)</b>	buc	6544,08	2	13088,16
	Software to develop language activities in Romanian and Russian language <b>Clicker7)</b>	buc	5174,35	2	10348,70
	Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b>	buc	1319,95	1	1319,95
	Primary school Social skils software, Russian language <b>(On the Road with Safety)</b>	buc	1496,22	1	1496,22

	Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons) <b>Item 6 includes item 5 as well</b>	buc	1149,74	2	2299,48
	Mind Mapping software, with a library of pictures and possibility to make mind maps for senior children <b>Inspiration 10.</b>	buc	1149,74	2	2299,48
	<b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, spelling and phonology, auditory discrimination, visual discrimination etc.	buc	789,44	2	1578,88
	<b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.	buc	743,66	2	1487,32
	<b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.	buc	2662,52	2	5325,04
	<b>Chater Block (item 4)</b> Dice (talking), for young children.	buc	423,57	2	847,14
	<b>Attention Training Software (sent digitally) (item 5)</b> Attention Training set. (Set de formare a atentiei)	buc	967,37	2	1934,74

	<b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).	buc	1495,80	4	5983,20
	<b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special cades/labels, set of about 400 self-sticking codes, (5% deviation +/-)	set	396,62	4	1586,48
	<b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)	buc	486,80	4	1947,20
	<b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,40	8	6987,20
	<b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,40	2	1746,80
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	1	896,03
	<b>Russian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	895,82	1	895,82
	<b>Keeping up with Cheetah Romanian/English book</b>	buc	267,75	2	535,50
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,90	12	82,80
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	6	34,98
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	2	11,66

	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,50	2	35,00
	<b>Start arrows for Intems 10-12 (Sageti)</b>	buc	1,00	4	4,00
	FM Hearing Aids for students, to be user in the classroom and the Resoursec Room <b>PHONAK BOLERO V30 P PHONAK ROGER MyLink</b>	buc	11619,89	2	23239,78
	<b>PHONAK ROGER TouchScreen Mic</b> FM transmiter for the Teacher, who teaches hearing impaired students.	buc	11827,15	2	23654,30
	First Aid kit Hearing Aids <b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer-1pcs.; Phonak Cleasing beaker(dryng tub)-1 pcs.; Set of3 cleaning tools-1pcs.; Nattery13*H ZINC/AIR-1pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:	buc	773,92	2	1547,84
	<b>Monster 2 High Visibility RO Keyboard</b> KYB-MON2VIS-UCUH Accuratus Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&2 Port USB Hub, with stikers in Romanian language	buc	842,75	2	1685,50
	<b>BigKeys LX gwerty Upper Case Black on White RO</b> Ablenet BigKeys LX QWERTY Keyboard-Romanian language	buc	2814,63	2	5629,26
	<b>Keyboard Gembird KB-U-103-RU Standard Black/RO</b> KB-U-103-RU Gembird with self-sticking plastic labels,	set	134,74	6	808,44

	small and caps letters, in Romanian language				
	<b>BigKeys LX Keyguard PROSOPSIS</b> Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	2	3070,52
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	2	5122,68
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	2	5681,32
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	2	6191,68
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	2	980,08
	<b>Praetorian Optima Joystick SKU:OPMAJ</b>	buc	3725,62	2	7451,24
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	2	3350,68
	<b>Pretorian Smoothie 125</b>	buc	665,28	2	1330,56
	<b>Pretorian Smoothie 75</b>	buc	665,28	2	1330,56
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	2	3683,46
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	2	29786,12
	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	2	3253,34
	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	2	23523,04
	A portable HD Video magnifier tablet, with at least 10 inches screen	buc	18888,64	2	37777,28

	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Folii laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059,00	2	4118,00
	Cloured Magnetic Number Frames 80pcs	set	1334,77	2	2669,54
	Bee-Bot Programmes Floor Robot	buc	1265,19	2	2530,37
	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	4	2385,78
	Bee-Bot Countryside Mat	buc	596,45	2	1192,89
	BEE-Bot Shapes, Colour and Size Mat	buc	596,45	2	1192,89
	Easi-Tomer	buc	596,45	2	1192,89
	Mixed Colours Reading Ruler 10pk	buc	271,11	4	1084,45
	Coloured Eye Level Reading Ruler 10pk	set	298,22	2	596,45
	GET a Grip Pencil Grips	set	976,00	2	1952,00
	Development Pensil Grips	set	271,11	2	542,22
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	2	1792,06
	<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	2	269,48
	<b>Total</b>			<b>172</b>	<b>382811,34</b>

4.	Briceni	<b>Tablet</b> <b>Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB:</i> <i>10.1 Carrying case</i>	buc	8139,33	3	24417,99
		<b>DLP Data Video Projector</b> <b>Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS- 232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling</i> <i>Mount: Cable HDMI to HDMI 4.5m:</i> <i>Power Cord Cable Extension High quality:</i>	buc	7166,15	1	7166,15
		<b>Laptop</b> <b>15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case	buc	5968,31	1	5968,31
		<b>Colored MFD CANON MAXFY MB5140</b> <i>Additional Dual Resistant High Density 4 ink</i> <i>tanks (Black, Cyan, Magenta, Yellow)/ PGI-</i> <i>2400XL BK/PGI-2400XL: Cable USB2.0-Am-</i> <i>Vm, 1.8m, A-plug B-plug, Black:</i>	buc	4195,76	1	4195,76
		<b>Read ABCD Romanian</b> Phonology and Reading Mixed type software (step by step reading) in Romanian Language with Universal Desingn of Learning (UDL)	buc	1783,93	1	1783,93
		<b>Text Aloud 4</b> Text to speech software with hilighting whilst reading, includes Russian and Romanian voice	buc	1665	1	1665

	<b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.	buc	1189,29	1	1189,29
	<b>Mind Express4 AAC Alternative</b> , Augumentative Communication software, for Education and Communication	buc	2293,62	1	2293,62
	<b>iCSPEECH Standard Edition</b> Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian	buc	3482,91	1	3482,91
	<b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian	buc	1104,34	1	1104,34
	<b>IWRITITE prediction, Romanian</b> Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.	buc	1189,26	1	1189,26
	Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen,licens with dongle, <b>(ZoomText, Magnifier/Reader)</b>	buc	6544,08	1	6544,08
	Software to develop language activities in Romanian and Russian language <b>(Clicker7)</b>	buc	5174,35	1	5174,35
	Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b>	buc	1319,95	1	1319,95
	Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons)	buc	1149,74	1	1149,74
	<b>Item 6 includes item 5 as well</b>				

	Mind Mapping software, with a library of pictures and possibility to make mind maps for senior children <b>Inspiration 10.</b>	buc	1149,74	1	1149,74
	<b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, spelling and phonology, auditory discrimination, visual discrimination etc.	buc	789,44	1	789,44
	<b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.	buc	743,66	1	743,66
	<b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.	buc	2662,52	1	2662,52
	<b>Chatter Block (item 4)</b> Dice (talking), for young children.	set	423,57	1	423,57
	<b>Attention Training Software (sent digitally) (item 5)</b> Attention Training set.	buc	967,37	1	967,37
	<b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).	buc	1495,8	2	2991,6
	<b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special codes/labels, set of about 400 self-sticking codes, (5% deviation +/-)	set	396,62	2	793,24

	<b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)	buc	486,8	2	973,6
	<b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	4	3493,6
	<b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	1	873,4
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	1	896,03
	<b>Keeping up with Cheetah Romanian/English book</b>	buc	267,75	1	267,75
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,9	6	41,4
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	3	17,49
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	1	5,83
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,5	1	17,5
	<b>Start arrows for Items 10-12 (Sageti)</b>	buc	1	2	2
	FM Hearing Aids for students, to be used in the classroom and the Resource Room <b>PHONAK BOLERO V30 P PHONAK ROGER MyLink</b>	buc	11619,89	1	11619,89
	<b>PHONAK ROGER TouchScreen Mic</b> FM transmitter for the Teacher, who teaches hearing impaired students.	buc	11827,15	1	11827,15

	First Aid kit Hearing Aids <b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer-1pcs.; Phonak Cleasing beaker(dryng tub)-1 pcs.; Set of3 cleaning tools-1pcs.; Nattery13*H ZINC/AIR-1pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:	buc	773,92	1	773,92
	<b>Monster 2 High Visibility RO Keyboard</b> KYB-MON2VIS-UCUH Accuratus Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&2 Port USB Hub, with stikers in Romanian language	buc	842,75	1	842,75
	<b>BigKeys LX gwerty Upper Case Black on White RO</b> AbleNet BigKeys LX QWERTY Keyboard-Romanian language	buc	2814,63	1	2814,63
	<b>Keyboard Gembird KB-U-103-RU Standard Black/RO</b> KB-U-103-RU Gembird with self-sticking plastic labels, small and caps letters, in Romanian language	set	134,74	3	404,22
	<b>BigKeys LX Keyguard PROSOPSIS</b> Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	1	1535,26
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	1	2561,34

	<b>AbleNet Quick Talker 12</b>	buc	2840,66	1	2840,66
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	1	3095,84
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	1	490,04
	<b>Praetorian Optima Joystick SKU:OPMAJ</b>	buc	3725,62	1	3725,62
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	1	1675,34
	<b>Pretorian Smoothie 125</b>	buc	665,28	1	665,28
	<b>Pretorian Smoothie 75</b>	buc	665,28	1	665,28
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	1	1841,73
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	1	14893,0584
	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	1	1626,67
	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	1	11761,52
	A portable HD Video magnifier tablet, with at least 10 inches screen ( tabletă cu rezoluție HD, cu ecranul de cel puțin 10 incii)	buc	18888,64	1	18888,64
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Foi laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059	1	2059
	Cloured Magnetic Number Frames 80pcs	set	1334,77	1	1334,7723
	Bee-Bot Programmes Floor Robot	buc	1265,19	1	1265,187

		Bee-Bot Transparent Grid Mat 8x8	buc	596,45	2	1192,8906
		Bee-Bot Countryside Mat	buc	596,45	1	596,4453
		BEE-Bot Shapes, Colour and Size Mat	buc	596,45	1	596,4453
		Easi-Tomer	buc	596,45	1	596,4453
		Mixed Colours Reading Ruler 10pk	buc	271,11	2	542,223
		Coloured Eye Level Reading Ruler 10pk	set	298,22	1	298,2227
		GET a Grip Pencil Grips	set	976,00	1	976,0013
		Development Pensil Grips	set	271,11	1	271,1115
		<b>Romanian Letters of the Alphabet</b> <b>Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language	set	896,03	1	896,03
		<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	1	134,74
		<b>Total</b>			<b>86</b>	<b>191062,77</b>
5	Cahul	<b>Tablet Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB:</i> <i>10.1 Carrying case</i>	buc	8139,33	15	122089,95

	<p><b>DLP Data Video Projector Acer P1255</b>          4000 ANSI lumens DLP XGA (1024x768),          20000:1,5,000/10,000 hours, 1x HDMI,          1xHDMI/MHL,1xDC out, 1x audio out, 1xRS-          232,1 x composite video, 2x VGA, 1x 10W          (mono) Yes, Throw ratio 1.51-1.97          Additional Cable HDMI to HDMI 4.5m          Additional Power Cord Cable Extension High          quality: <i>Sopar TAPA universal Projector Ceiling          Mount: Cable HDMI to HDMI 4.5m:          Power Cord Cable Extension High quality:</i></p>	buc	7166,15	5	35830,75
	<p><b>Laptop 15.6 LENOVO V15-ADA/</b>          Wireless Optical USB Mouse/15.6 NB Carrying          case</p>	buc	5968,31	5	29841,55
	<p><b>Colored MFD CANON MAXFY MB5140</b>  <i>Additional Dual Resistant High Density 4 ink          tanks (Black, Cyan, Magenta, Yellow)/ PGI-          2400XL BK/PGI-2400XL: Cable USB2.0-Am-          Vm, 1.8m, A-plug B-plug, Black:</i></p>	buc	4195,76	5	20978,80
	<p><b>Read ABCD Romanian</b> Phonology and          Reading Mixed type software (step by step          reading) in Romanian Language with          Universal Desing of Learning (UDL)</p>	buc	1783,93	3	5351,79
	<p><b>Read ABCD Russian</b> Phonology and Reading          Mixed type software (step by step reading) in          Russian Language with Universal Desing of          Learning (UDL)</p>	buc	2123,72	2	4247,44
	<p><b>Text Aloud 4</b> Text to speech software          with hilighting whilst reading, includes          Russian and Romanian voice</p>	buc	1665,00	5	8325,00
	<p><b>Maths 1 Romanian</b> Early Mathematical          concepts, numbers 1 to 5 downloadable          software, in Romanian language.</p>	buc	1189,29	3	3567,87
	<p><b>Maths 1 Russian</b> Early Mathematical          concepts, numbers 1 to 5 downloadable          software, in Russian language.</p>	buc	1274,23	2	2548,46

	<b>Mind Express4 AAC Alternative, Augumentative Communication software, for Education and Communication</b>	buc	2293,62	5	11468,10
	<b>iCSPEECH Standard Edition</b> Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian	buc	3482,91	5	17414,55
	<b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian	buc	1104,34	5	5521,70
	<b>IWRITITE prediction, Romanian</b> Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.	buc	1189,26	3	3567,78
	<b>IWRITITE prediction, Russian</b> Prediction software to speedup writing and help also with spell checking, for Russian language. To predict words.	buc	1274,26	2	2548,52
	Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen,licens with dongle, <b>(ZoomText, Magnifier/Reader)</b>	buc	6544,08	5	32720,40
	Software to develop language activities in Romanian and Russian language <b>Clicker7)</b>	buc	5174,35	5	25871,75
	Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b>	buc	1319,95	3	3959,85
	Primary school Social skils software, Russian language <b>(On the Road with Safety)</b>	buc	1496,22	2	2992,44

	Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons) <b>Item 6 includes item 5 as well</b>	buc	1149,74	5	5748,70
	Mind Mapping software, with a library of pictures and possibility to make mind maps for senior children <b>Inspiration 10.</b>	buc	1149,74	5	5748,70
	<b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, spelling and phonology, auditory discrimination, visual discrimination etc.	buc	789,44	5	3947,20
	<b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.	buc	743,66	5	3718,30
	<b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.	buc	2662,52	5	13312,60
	<b>Chater Block (item 4)</b> Dice (talking), for young children.	buc	423,57	5	2117,85
	<b>Attention Training Software (sent digitally) (item 5)</b> Attention Training set. (Set de formare a atentiei)	buc	967,37	5	4836,85

	<b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).	buc	1495,80	10	14958,00
	<b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special cades/labels, set of about 400 self-sticking codes, (5% deviation +/-)	set	396,62	10	3966,20
	<b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)	buc	486,80	10	4868,00
	<b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,40	20	17468,00
	<b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,40	5	4367,00
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	3	2688,09
	<b>Russian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	895,82	2	1791,64
	<b>Keeping up with Cheetah Romanian/English book</b>	buc	267,75	5	1338,75
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,90	30	207,00
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	15	87,45
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	5	29,15

	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,50	5	87,50
	<b>Start arrows for Intems 10-12 (Sageti)</b>	buc	1,00	10	10,00
	FM Hearing Aids for students, to be user in the classroom and the Resourcse Room <b>PHONAK BOLERO V30 P PHONAK ROGER MyLink</b>	buc	11619,89	5	58099,45
	<b>PHONAK ROGER TouchScreen Mic</b> FM transmiter for the Teacher, who teaches hearing impaired students.	buc	11827,15	5	59135,75
	First Aid kit Hearing Aids <b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer-1pcs.; Phonak Cleasing beaker(dryng tub)-1 pcs.; Set of3 cleaning tools-1pcs.; Nattery13*H ZINC/AIR-1pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:	buc	773,92	5	3869,60
	<b>Monster 2 High Visibility RO Keyboard</b> KYB-MON2VIS-UCUH Accuratus Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&2 Port USB Hub, with stikers in Romanian language	buc	842,75	5	4213,75
	<b>BigKeys LX gwerty Upper Case Black on White RO</b> Ablenet BigKeys LX QWERTY Keyboard-Romanian language	buc	2814,63	5	14073,15
	<b>Keyboard Gembird KB-U-103-RU Standard Black/RO</b> KB-U-103-RU Gembird with self-sticking plastic labels,	set	134,74	15	2021,10

	small and caps letters, in Romanian language				
	<b>BigKeys LX Keyguard</b> PROSOPSIS Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	5	7676,30
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	5	12806,70
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	5	14203,30
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	5	15479,20
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	5	2450,20
	<b>Praetorian Optima Joystick</b> SKU:OPMAJ	buc	3725,62	5	18628,10
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	5	8376,70
	<b>Pretorian Smoothie 125</b>	buc	665,28	5	3326,40
	<b>Pretorian Smoothie 75</b>	buc	665,28	5	3326,40
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	5	9208,65
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	5	74465,29
	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	5	8133,35
	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	5	58807,60

	A portable HD Video magnifier tablet, with at least 10 inches screen	buc	18888,64	5	94443,20
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Foi laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059,00	5	10295,00
	Cloured Magnetic Number Frames 80pcs	set	1334,77	5	6673,86
	Bee-Bot Programmes Floor Robot	buc	1265,19	5	6325,94
	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	10	5964,45
	Bee-Bot Countryside Mat	buc	596,45	5	2982,23
	BEE-Bot Shapes, Colour and Size Mat	buc	596,45	5	2982,23
	Easi-Tomer	buc	596,45	5	2982,23
	Mixed Colours Reading Ruler 10pk	buc	271,11	10	2711,12
	Coloured Eye Level Reading Ruler 10pk	set	298,22	5	1491,11
	GET a Grip Pencil Grips	set	976,00	5	4880,01
	Development Pensil Grips	set	271,11	5	1355,56
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	5	4480,15

		<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	5	673,70
		<b>Total</b>			<b>430</b>	<b>956685,44</b>
6	Călărași	<b>Tablet</b> <b>Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB:</i> <i>10.1 Carrying case</i>	buc	8139,33	18	146507,94
		<b>DLP Data Video Projector</b> <b>Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS- 232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling</i> <i>Mount: Cable HDMI to HDMI 4.5m:</i> <i>Power Cord Cable Extension High quality:</i>	buc	7166,15	6	42996,90
		<b>Laptop</b> <b>15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case	buc	5968,31	6	35809,86
		<b>Colored MFD CANON MAXFY MB5140</b> <i>Additional Dual Resistant High Density 4 ink tanks (Black, Cyan, Magenta, Yellow)/ PGI-2400XL BK/PGI-2400XL: Cable USB2.0-Am-Vm, 1.8m, A-plug B-plug, Black:</i>	buc	4195,76	6	25174,56
		<b>Read ABCD Romanian</b> Phonology and Reading Mixed type software (step by step	buc	1783,93	5	8919,65

	reading) in Romanian Language with Universal Desingn of Learning (UDL)				
	<b>Read ABCD Russian</b> Phonology and Reading Mixed type software (step by step reading) in Russian Language with Universal Desingn of Learning (UDL)	buc	2123,72	1	2123,72
	<b>Text Aloud 4</b> Text to speech software with hilighting whilst reading, includes Russian and Romanian voice	buc	1665,00	6	9990,00
	<b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.	buc	1189,29	5	5946,45
	<b>Maths 1 Russian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Russian language.	buc	1274,23	1	1274,23
	<b>Mind Express4 AAC</b> Alternative, Augumentative Communication software, for Education and Communication	buc	2293,62	6	13761,72
	<b>iCSPEECH Standard Edition</b> Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian	buc	3482,91	6	20897,46
	<b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian	buc	1104,34	6	6626,04
	<b>IWRTITE prediction, Romanian</b> Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.	buc	1189,26	5	5946,30
	<b>IWRTITE prediction, Russian</b> Prediction software to speedup writing and help also	buc	1274,26	1	1274,26

	with spell checking, for Russian language. To predict words.				
	Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen,licens with dongle, <b>(ZoomText, Magnifier/Reader)</b>	buc	6544,08	6	39264,48
	Software to develop language activities in Romanian and Russian language <b>Clicker7)</b>	buc	5174,35	6	31046,10
	Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b>	buc	1319,95	5	6599,75
	Primary school Social skils software, Russian language <b>(On the Road with Safety)</b>	buc	1496,22	1	1496,22
	Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons) <b>Item 6 includes item 5 as well</b>	buc	1149,74	6	6898,44
	Mind Mapping software, with a library of pictures and possibility to make mind maps for sinior children <b>Inspiration 10.</b>	buc	1149,74	6	6898,44
	<b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, ppelling and phonology, auditory discrimination, vizual discrimination etc.	buc	789,44	6	4736,64

	<p><b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.</p> <p><b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.</p> <p><b>Chater Block (item 4)</b> Dice (talking), for young children.</p> <p><b>Attention Training Software (sent digitally) (item 5)</b> Attention Training set. (Set de formare a atenției)</p> <p><b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels)</p> <p><b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special cades/labels, set of about 400 self-sticking codes, (5% deviation +/-)</p> <p><b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)</p> <p><b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100</p> <p><b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100</p>	buc	743,66	6	4461,96

	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	5	4480,15
	<b>Russian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	895,82	1	895,82
	<b>Keeping up with Cheetah Romanian/English book</b>	buc	267,75	6	1606,50
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,90	36	248,40
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	18	104,94
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	6	34,98
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,50	6	105,00
	<b>Start arrows for Items 10-12 (Sageti)</b>	buc	1,00	12	12,00
	FM Hearing Aids for students, to be used in the classroom and the Resource Room <b>PHONAK BOLERO V30 P PHONAK ROGER MyLink</b>	buc	11619,89	6	69719,34
	<b>PHONAK ROGER TouchScreen Mic</b> FM transmitter for the Teacher, who teaches hearing impaired students.	buc	11827,15	6	70962,90
	First Aid kit Hearing Aids <b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer-1 pcs.; Phonak Cleaning beaker(dryng tub)-1 pcs.; Set of 3 cleaning tools-1 pcs.; Nattery13*H ZINC/AIR-1 pcs.; Otofloss	buc	773,92	6	4643,52

	(Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:				
	<b>Monster 2 High Visibility RO Keyboard</b> KYB-MON2VIS-UCUH Accuratus Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&2 Port USB Hub, with stickers in Romanian language	buc	842,75	6	5056,50
	<b>BigKeys LX gwerty Upper Case Black on White RO</b> AbleNet BigKeys LX QWERTY Keyboard-Romanian language	buc	2814,63	6	16887,78
	<b>Keyboard Gembird KB-U-103-RU Standard Black/RO</b> KB-U-103-RU Gembird with self-sticking plastic labels, small and caps letters, in Romanian language	set	134,74	18	2425,32
	<b>BigKeys LX Keyguard</b> PROSOPSIS Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	6	9211,56
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	6	15368,04
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	6	17043,96
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	6	18575,04
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	6	2940,24
	<b>Praetorian Optima Joystick SKU:OPMAJ</b>	buc	3725,62	6	22353,72
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	6	10052,04
	<b>Pretorian Smoothie 125</b>	buc	665,28	6	3991,68

	<b>Pretorian Smoothie 75</b>	buc	665,28	6	3991,68
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	6	11050,38
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	6	89358,35
	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	6	9760,02
	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	6	70569,12
	A portable HD Video magnifier tablet, with at least 10 inches screen	buc	18888,64	6	113331,84
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Foi laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059,00	6	12354,00
	Cloured Magnetic Number Frames 80pcs	set	1334,77	6	8008,63
	Bee-Bot Programmes Floor Robot	buc	1265,19	6	7591,12
	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	12	7157,34
	Bee-Bot Countryside Mat	buc	596,45	6	3578,67
	BEE-Bot Shapes, Colour and Size Mat	buc	596,45	6	3578,67
	Easi-Tomer	buc	596,45	6	3578,67
	Mixed Colours Reading Ruler 10pk	buc	271,11	12	3253,34
	Coloured Eye Level Reading Ruler 10pk	set	298,22	6	1789,34
	GET a Grip Pencil Grips	set	976,00	6	5856,01

		Development Pensil Grips	set	271,11	6	1626,67
		<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	6	5376,18
		<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	6	808,44
		<b>Total</b>			<b>516</b>	<b>1147062,43</b>
7	Cantemir	<b>Tablet Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB:</i> <i>10.1 Carrying case</i>	buc	8139,33	18	146507,94
		<b>DLP Data Video Projector Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS-232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling Mount: Cable HDMI to HDMI 4.5m: Power Cord Cable Extension High quality:</i>	buc	7166,15	6	42996,90
		<b>Laptop 15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case	buc	5968,31	6	35809,86

	<b>Colored MFD CANON MAXFY MB5140</b> <i>Additional Dual Resistant High Density 4 ink tanks (Black, Cyan, Magenta, Yellow)/ PGI-2400XL BK/PGI-2400XL: Cable USB2.0-Am-Vm, 1.8m, A-plug B-plug, Black:</i>	buc	4195,76	6	25174,56
	<b>Read ABCD Romanian</b> Phonology and Reading Mixed type software (step by step reading) in Romanian Language with Universal Desingn of Learning (UDL)	buc	1783,93	5	8919,65
	<b>Read ABCD Russian</b> Phonology and Reading Mixed type software (step by step reading) in Russian Language with Universal Desingn of Learning (UDL)	buc	2123,72	1	2123,72
	<b>Text Aloud 4</b> Text to speech software with hilighting whilst reading, includes Russian and Romanian voice	buc	1665	6	9990,00
	<b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.	buc	1189,29	5	5946,45
	<b>Maths 1 Russian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Russian language.	buc	1274,23	1	1274,23
	<b>Mind Express4 AAC Alternative, Augumentative Communication software, for Education and Communication</b>	buc	2293,62	6	13761,72

	<b>iCSPEECH Standard Edition</b> Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian	buc	3482,91	6	20897,46
	<b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian	buc	1104,34	6	6626,04
	<b>IWRITITE prediction, Romanian</b> Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.	buc	1189,26	5	5946,30
	<b>IWRITITE prediction, Russian</b> Prediction software to speedup writing and help also with spell checking, for Russian language. To predict words.	buc	1274,26	1	1274,26
	Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen,licens with dongle, <b>(ZoomText, Magnifier/Reader)</b>	buc	6544,08	6	39264,48
	Software to develop language activities in Romanian and Russian language <b>Clicker7)</b>	buc	5174,35	6	31046,10
	Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b>	buc	1319,95	5	6599,75
	Primary school Social skils software, Russian language <b>(On the Road with Safety)</b>	buc	1496,22	1	1496,22

	Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons) <b>Item 6 includes item 5 as well</b>	buc	1149,74	6	6898,44
	Mind Mapping software, with a library of pictures and possibility to make mind maps for senior children <b>Inspiration 10.</b>	buc	1149,74	6	6898,44
	<b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, spelling and phonology, auditory discrimination, visual discrimination etc.	buc	789,44	6	4736,64
	<b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.	buc	743,66	6	4461,96
	<b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.	buc	2662,52	6	15975,12
	<b>Chater Block (item 4)</b> Dice (talking), for young children.	buc	423,57	6	2541,42
	<b>Attention Training Software (sent digitally) (item 5)</b> Attention Training set.	buc	967,37	6	5804,22
	<b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels)	buc	1495,8	12	17949,60

	<b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special cades/labels, set of about 400 self-sticking codes, (5% deviation +/-)	set	396,62	12	4759,44
	<b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)	buc	486,8	12	5841,60
	<b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	24	20961,60
	<b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	6	5240,40
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	5	4480,15
	<b>Russian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	895,82	1	895,82
	<b>Keeping up with Cheetah Romanian/English book</b>	buc	267,75	6	1606,50
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,9	36	248,40
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	18	104,94
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	6	34,98
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,5	6	105,00
	<b>Start arrows for Items 10-12 (Sageti)</b>	buc	1	12	12,00

	FM Hearing Aids for students, to be user in the classroom and the Resourcse Room <b>PHONAK BOLERO V30 P PHONAK ROGER MyLink</b>	buc	11619,89	6	69719,34
	<b>PHONAK ROGER TouchScreen Mic</b> FM transmiter for the Teacher, who teaches hearing impaired students.	buc	11827,15	6	70962,90
	First Aid kit Hearing Aids <b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer-1pcs.; Phonak Cleasing beaker(dryng tub)-1 pcs.; Set of3 cleaning tools-1pcs.; Nattery13*H ZINC/AIR-1pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:	buc	773,92	6	4643,52
	<b>Monster 2 High Visibility RO Keyboard</b> KYB-MON2VIS-UCUH Accuratus Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&2 Port USB Hub, with stikers in Romanian language	buc	842,75	6	5056,50
	<b>BigKeys LX gwerty Upper Case Black on White RO</b> Ablenet BigKeys LX QWERTY Keyboard-Romanian language	buc	2814,63	6	16887,78
	<b>Keyboard Gembird KB-U-103-RU Standard Black/RO</b> KB-U-103-RU Gembird with self-sticking plastic labels, small and caps letters, in Romanian language	set	134,74	18	2425,32

	<b>BigKeys LX Keyguard PROSOPSIS</b> Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	6	9211,56
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	6	15368,04
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	6	17043,96
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	6	18575,04
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	6	2940,24
	<b>Praetorian Optima Joystick SKU:OPMAJ</b>	buc	3725,62	6	22353,72
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	6	10052,04
	<b>Pretorian Smoothie 125</b>	buc	665,28	6	3991,68
	<b>Pretorian Smoothie 75</b>	buc	665,28	6	3991,68
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	6	11050,38
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	6	89358,35
	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	6	9760,02
	HD Handheld digital text magnifier, Eye pad 7 inches (lupă digitală de mâna pentru texte, 7 incii)	buc	11761,52	6	70569,12
	A portable HD Video magnifier tablet, with at least 10 inches screen	buc	18888,64	6	113331,84

	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1 pack *Folii laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059	6	12354,00
	Cloured Magnetic Number Frames 80pcs	set	1334,77	6	8008,63
	Bee-Bot Programmes Floor Robot	buc	1265,19	6	7591,12
	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	12	7157,34
	Bee-Bot Countryside Mat	buc	596,45	6	3578,67
	BEE-Bot Shapes, Colour and Size Mat	buc	596,45	6	3578,67
	Easi-Tomer	buc	596,45	6	3578,67
	Mixed Colours Reading Ruler 10pk	buc	271,11	12	3253,34
	Coloured Eye Level Reading Ruler 10pk	set	298,22	6	1789,34
	GET a Grip Pencil Grips	set	976,00	6	5856,01
	Development Pensil Grips	set	271,11	6	1626,67
	<b>Romanian Letters of the Alphabet</b> <b>Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	6	5376,18
	<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	6	808,44
	<b>Total</b>			<b>516</b>	<b>1147062,43</b>

8	Căușeni	<b>Tablet</b> <b>Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB:</i> <i>10.1 Carrying case</i>	buc	8139,33	18	146507,94
		<b>DLP Data Video Projector</b> <b>Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS- 232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling</i> <i>Mount: Cable HDMI to HDMI 4.5m:</i> <i>Power Cord Cable Extension High quality:</i>	buc	7166,15	6	42996,90
		<b>Laptop</b> <b>15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case	buc	5968,31	6	35809,86
		<b>Colored MFD CANON MAXFY MB5140</b> <i>Additional Dual Resistant High Density 4 ink</i> <i>tanks (Black, Cyan, Magenta, Yellow)/ PGI-</i> <i>2400XL BK/PGI-2400XL: Cable USB2.0-Am-</i> <i>Vm, 1.8m, A-plug B-plug, Black:</i>	buc	4195,76	6	25174,56
		<b>Read ABCD Romanian</b> Phonology and Reading Mixed type software (step by step reading) in Romanian Language with Universal Desingn of Learning (UDL)	buc	1783,93	6	10703,58
		<b>Text Aloud 4</b> Text to speech software with hilighting whilst reading, includes Russian and Romanian voice	buc	1665	6	9990,00

	<b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.	buc	1189,29	6	7135,74
	<b>Mind Express4 AAC Alternative</b> , Augumentative Communication software, for Education and Communication	buc	2293,62	6	13761,72
	<b>iCSPEECH Standard Edition</b> Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian	buc	3482,91	6	20897,46
	<b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian	buc	1104,34	6	6626,04
	<b>IWRITITE prediction, Romanian</b> Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.	buc	1189,26	6	7135,56
	Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen,licens with dongle, <b>(ZoomText, Magnifier/Reader)</b>	buc	6544,08	6	39264,48
	Software to develop language activities in Romanian and Russian language <b>(Clicker7)</b>	buc	5174,35	6	31046,10
	Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b>	buc	1319,95	6	7919,70

	Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons) <b>Item 6 includes item 5 as well</b>	buc	1149,74	6	6898,44
	Mind Mapping software, with a library of pictures and possibility to make mind maps for senior children <b>Inspiration 10.</b>	buc	1149,74	6	6898,44
	<b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, spelling and phonology, auditory discrimination, visual discrimination etc.	buc	789,44	6	4736,64
	<b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.	buc	743,66	6	4461,96
	<b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.	buc	2662,52	6	15975,12
	<b>Chater Block (item 4)</b> Dice (talking), for young children.	set	423,57	6	2541,42
	<b>Attention Training Software (sent digitally) (item 5)</b> Attention Training set.	set	967,37	6	5804,22

	<b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).	buc	1495,8	12	17949,60
	<b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special cades/labels, set of about 400 self-sticking codes, (5% deviation +/-)	set	396,62	12	4759,44
	<b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)	buc	486,8	12	5841,60
	<b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	24	20961,60
	<b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	6	5240,40
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	6	5376,18
	<b>Keeping up with Cheetah Romanian/English book</b>	buc	267,75	6	1606,50
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,9	36	248,40
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	18	104,94
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	6	34,98
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,5	6	105,00
	<b>Start arrows for Items 10-12</b>	buc	1	12	12,00

	FM Hearing Aids for students, to be user in the classroom and the Resourcse Room <b>PHONAK BOLERO V30 P PHONAK ROGER MyLink</b>	buc	11619,89	6	69719,34
	<b>PHONAK ROGER TouchScreen Mic</b> FM transmiter for the Teacher, who teaches hearing impaired students.	buc	11827,15	6	70962,90
	First Aid kit Hearing Aids <b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer-1pcs.; Phonak Cleasing beaker(dryng tub)-1 pcs.; Set of3 cleaning tools-1pcs.; Nattery13*H ZINC/AIR-1pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:	buc	773,92	6	4643,52
	<b>Monster 2 High Visibility RO Keyboard</b> KYB-MON2VIS-UCUH Accuratus Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&2 Port USB Hub, with stikers in Romanian language	buc	842,75	6	5056,50
	<b>BigKeys LX gwerty Upper Case Black on White RO</b> AbleNet BigKeys LX QWERTY Keyboard-Romanian language	buc	2814,63	6	16887,78

	<b>Keyboard Gembird KB-U-103-RU Standard Black/RO KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Romanian language	set	134,74	18	2425,32
	<b>BigKeys LX Keyguard PROSOPSIS</b> Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	6	9211,56
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	6	15368,04
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	6	17043,96
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	6	18575,04
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	6	2940,24
	<b>Praetorian Optima Joystick SKU:OPMAJ</b>	buc	3725,62	6	22353,72
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	6	10052,04
	<b>Pretorian Smoothie 125</b>	buc	665,28	6	3991,68
	<b>Pretorian Smoothie 75</b>	buc	665,28	6	3991,68
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	6	11050,38

	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	6	89358,35
	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	6	9760,02
	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	6	70569,12
	A portable HD Video magnifier tablet, with at least 10 inches screen	buc	18888,64	6	113331,84
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Folii laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059	6	12354,00
	Cloured Magnetic Number Frames 80pcs	set	1334,77	6	8008,63
	Bee-Bot Programmes Floor Robot	buc	1265,19	6	7591,12
	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	12	7157,34
	Bee-Bot Countryside Mat	buc	596,45	6	3578,67
	BEE-Bot Shapes, Colour and Size Mat	buc	596,45	6	3578,67
	Easi-Tomer	buc	596,45	6	3578,67
	Mixed Colours Reading Ruler 10pk	buc	271,11	12	3253,34

		Coloured Eye Level Reading Ruler 10pk	set	298,22	6	1789,34
		GET a Grip Pencil Grips	set	976,00	6	5856,01
		Development Pensil Grips	set	271,11	6	1626,67
		<b>Romanian Letters of the Alphabet</b> <b>Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language	set	896,03	6	5376,18
		<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	6	808,44
		<b>Total</b>			<b>516</b>	<b>1146376,64</b>
9	Chișinău	<b>Tablet Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB:</i> <i>10.1 Carrying case</i>	buc	8139,33	18	146507,94
		<b>DLP Data Video Projector Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS-232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling Mount:</i> <i>Cable HDMI to HDMI 4.5m:</i> <i>Power Cord Cable Extension High quality:</i>	buc	7166,15	6	42996,90

	<p><b>Laptop 15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case</p> <p><b>Colored MFD CANON MAXFY MB5140</b> <i>Additional Dual Resistant High Density 4 ink tanks (Black, Cyan, Magenta, Yellow)/ PGI-2400XL BK/PGI-2400XL: Cable USB2.0-Am-Vm, 1.8m, A-plug B-plug, Black:</i></p> <p><b>Read ABCD Romanian</b> Phonology and Reading Mixed type software (step by step reading) in Romanian Language with Universal Desingn of Learning (UDL)</p> <p><b>Read ABCD Russian</b> Phonology and Reading Mixed type software (step by step reading) in Russian Language with Universal Desingn of Learning (UDL)</p> <p><b>Text Aloud 4</b> Text to speech software with hilighting whilst reading, includes Russian and Romanian voice</p> <p><b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.</p> <p><b>Maths 1 Russian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Russian language.</p> <p><b>Mind Express4 AAC Alternative,</b> Augumentative Communication software, for Education and Communication</p>	buc	5968,31	6	35809,86

	<p><b>iCSPEECH Standard Edition</b>            Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian</p>	buc	3482,91	6	20897,46
	<p><b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian</p>	buc	1104,34	6	6626,04
	<p><b>IWRITITE prediction, Romanian</b>            Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.</p>	buc	1189,26	5	5946,30
	<p><b>IWRITITE prediction, Russian</b> Prediction software to speedup writing and help also with spell checking, for Russian language. To predict words.</p>	buc	1274,26	1	1274,26
	<p>Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen,licens with dongle, <b>(ZoomText, Magnifier/Reader)</b></p>	buc	6544,08	6	39264,48
	<p>Software to develop language activities in Romanian and Russian language <b>Clicker7)</b></p>	buc	5174,35	6	31046,10
	<p>Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b></p>	buc	1319,95	5	6599,75
	<p>Primary school Social skils software, Russian language <b>(On the Road with Safety)</b></p>	buc	1496,22	1	1496,22

	Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons) <b>Item 6 includes item 5 as well</b>	buc	1149,74	6	6898,44
	Mind Mapping software, with a library of pictures and possibility to make mind maps for senior children <b>Inspiration 10.</b>	buc	1149,74	6	6898,44
	<b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, spelling and phonology, auditory discrimination, visual discrimination etc.	buc	789,44	6	4736,64
	<b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.	buc	743,66	6	4461,96
	<b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.	buc	2662,52	6	15975,12
	<b>Chater Block (item 4)</b> Dice (talking), for young children. (Cuburi vorbitoare), pentru copii din clasele primare	buc	423,57	6	2541,42
	<b>Attention Training Software (sent digitally) (item 5)</b> Attention Training set.	set	967,37	6	5804,22

	<b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels)	buc	1495,8	12	17949,60
	<b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special cades/labels, set of about 400 self-sticking codes, (5% deviation +/-)	buc	396,62	12	4759,44
	<b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)	buc	486,8	12	5841,60
	<b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	buc	873,4	24	20961,60
	<b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	buc	873,4	6	5240,40
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	buc	896,03	5	4480,15
	<b>Russian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	buc	895,82	1	895,82
	<b>Keeping up with Cheetah Romanian/English book</b>	buc	267,75	6	1606,50
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,9	36	248,40
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	18	104,94

	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	6	34,98
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,5	6	105,00
	<b>Start arrows for Intems 10-12</b>	buc	1	12	12,00
	FM Hearing Aids for students, to be user in the classroom and the Resourcse Room <b>PHONAK BOLERO V30 P PHONAK ROGER MyLink</b>	buc	11619,89	6	69719,34
	<b>PHONAK ROGER TouchScreen Mic</b> FM transmiter for the Teacher, who teaches hearing impaired students.	buc	11827,15	6	70962,90
	First Aid kit Hearing Aids <b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer-1pcs.; Phonak Cleasing beaker(dryng tub)-1 pcs.; Set of3 cleaning tools-1pcs.; Nattery13*H ZINC/AIR-1pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:	buc	773,92	6	4643,52
	<b>Monster 2 High Visibility RO Keyboard</b> KYB-MON2VIS-UCUH Accuratus Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&2 Port USB Hub, with stikers in Romanian language	buc	842,75	6	5056,50
	<b>BigKeys LX gwerty Upper Case Black on White RO</b> Ablenet BigKeys LX QWERTY Keyboard-Romanian language	buc	2814,63	6	16887,78

	<b>Keyboard Gembird KB-U-103-RU Standard Black/RO KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Romanian language	buc	134,74	18	2425,32
	<b>BigKeys LX Keyguard PROSOPSIS</b> Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	6	9211,56
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	6	15368,04
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	6	17043,96
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	6	18575,04
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	6	2940,24
	<b>Praetorian Optima Joystick SKU:OPMAJ</b>	buc	3725,62	6	22353,72
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	6	10052,04
	<b>Pretorian Smoothie 125</b>	buc	665,28	6	3991,68
	<b>Pretorian Smoothie 75</b>	buc	665,28	6	3991,68
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	6	11050,38
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	6	89358,35
	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	6	9760,02
	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	6	70569,12

	A portable HD Video magnifier tablet, with at least 10 inches screen	buc	18888,64	6	113331,84
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Folii laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059	6	12354,00
	Cloured Magnetic Number Frames 80pcs	buc	1334,77	6	8008,63
	Bee-Bot Programmes Floor Robot	buc	1265,19	6	7591,12
	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	12	7157,34
	Bee-Bot Countryside Mat	buc	596,45	6	3578,67
	BEE-Bot Shapes, Colour and Size Mat	buc	596,45	6	3578,67
	Easi-Tomer	buc	596,45	6	3578,67
	Mixed Colours Reading Ruler 10pk	buc	271,11	12	3253,34
	Coloured Eye Level Reading Ruler 10pk	buc	298,22	6	1789,34
	GET a Grip Pencil Grips	buc	976,00	6	5856,01
	Development Pensil Grips	buc	271,11	6	1626,67
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	buc	896,03	6	5376,18

		<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	buc	134,74	6	808,44
		<b>Total</b>			<b>516</b>	<b>1147062,43</b>
10	Cimişlia	<b>Tablet Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB:</i> <i>10.1 Carrying case</i>	buc	8139,33	6	48835,98
		<b>DLP Data Video Projector Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS-232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling Mount:</i> <i>Cable HDMI to HDMI 4.5m:</i> <i>Power Cord Cable Extension High quality:</i>	buc	7166,15	2	14332,3
		<b>Laptop 15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case	buc	5968,31	2	11936,62
		<b>Colored MFD CANON MAXFY MB5140</b> <i>Additional Dual Resistant High Density 4 ink tanks (Black, Cyan, Magenta, Yellow)/PGI-2400XL BK/PGI-2400XL: Cable USB2.0-Am-Vm, 1.8m, A-plug B-plug, Black:</i>	buc	4195,76	2	8391,52

	<b>Read ABCD Romanian</b> Phonology and Reading Mixed type software (step by step reading) in Romanian Language with Universal Desingn of Learning (UDL)	buc	1783,93	2	3567,86
	<b>Text Aloud 4</b> Text to speech software with hilighting whilst reading, includes Russian and Romanian voice	buc	1665	2	3330
	<b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.	buc	1189,29	2	2378,58
	<b>Mind Express4 AAC Alternative</b> , Augumentative Communication software, for Education and Communication	buc	2293,62	2	4587,24
	<b>iCSPEECH Standard Edition</b> Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian	buc	3482,91	2	6965,82
	<b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian	buc	1104,34	2	2208,68
	<b>IWRITITE prediction, Romanian</b> Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.	buc	1189,26	2	2378,52
	Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen,licens with dongle, <b>(ZoomText, Magnifier/Reader)</b>	buc	6544,08	2	13088,16

	Software to develop language activities in Romanian and Russian language <b>(Clicker7)</b>	buc	5174,35	2	10348,7
	Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b>	buc	1319,95	2	2639,9
	Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons) <b>Item 6 includes item 5 as well</b>	buc	1149,74	2	2299,48
	Mind Mapping software, with a library of pictures and possibility to make mind maps for sinior children <b>Inspiration 10.</b>	buc	1149,74	2	2299,48
	<b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, ppelling and phonology, auditory discrimination, vizual discrimination etc.	buc	789,44	2	1578,88
	<b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a nomber of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovissual discrimination and many mare.	buc	743,66	2	1487,32

	<b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.	buc	2662,52	2	5325,04
	<b>Chater Block (item 4)</b> Dice (talking), for young children.	set	423,57	2	847,14
	<b>Attention Training Sowftware (sent digitally) (item 5)</b> Attention Training set.	set	967,37	2	1934,74
	<b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).	buc	1495,8	4	5983,2
	<b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special cades/labels, set of about 400 self-sticking codes, (5% deviation +/-)	set	396,62	4	1586,48
	<b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)	buc	486,8	4	1947,2
	<b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	8	6987,2
	<b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	2	1746,8
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	2	1792,06

	<b>Keeping up with Cheetah Romanian/English book</b> Carte tinand pasul cu ghepardul romana/engleza	buc	267,75	2	535,5
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,9	12	82,8
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	6	34,98
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	2	11,66
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,5	2	35
	<b>Start arrows for Intems 10-12</b> (Sageti)	buc	1	4	4
	FM Hearing Aids for students, to be user in the classroom and the Resourcse Room <b>PHONAK BOLERO V30 P PHONAK ROGER MyLink</b>	buc	11619,89	2	23239,78
	<b>PHONAK ROGER TouchScreen Mic</b> FM transmiter for the Teacher, who teaches hearing impaired students.	buc	11827,15	2	23654,3
	First Aid kit Hearing Aids <b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer-1pcs.; Phonak Cleasing beaker(dryng tub)-1 pcs.; Set of3 cleaning tools-1pcs.; Nattery13*H ZINC/AIR-1pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:	buc	773,92	2	1547,84

	<b>Monster 2 High Visibility RO Keyboard</b> KYB-MON2VIS-UCUH Accuratus Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&2 Port USB Hub, with stikers in Romanian language	buc	842,75	2	1685,5
	<b>BigKeys LX gwerty Upper Case Black on White RO</b> Ablenet BigKeys LX QWERTY Keyboard-Romanian language	buc	2814,63	2	5629,26
	<b>Keyboard Gembird KB-U-103-RU Standard Black/RO</b> KB-U-103-RU Gembird with self-sticking plastic labels, small and caps letters, in Romanian language	set	134,74	6	808,44
	<b>BigKeys LX Keyguard</b> PROSOPSIS Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	2	3070,52
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	2	5122,68
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	2	5681,32
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	2	6191,68
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	2	980,08

	<b>Praetorian Optima Joystick SKU:OPMAJ</b>	buc	3725,62	2	7451,24
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	2	3350,68
	<b>Pretorian Smoothie 125</b>	buc	665,28	2	1330,56
	<b>Pretorian Smoothie 75</b>	buc	665,28	2	1330,56
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	2	3683,46
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	2	29786,1168
	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	2	3253,34
	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	2	23523,04
	A portable HD Video magnifier tablet, with at least 10 inches screen ( tabletă cu rezoluție HD, cu ecranul de cel puțin 10 incii)	buc	18888,64	2	37777,28
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Foi laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059	2	4118
	Cloured Magnetic Number Frames 80pcs	set	1334,77	2	2669,5446

	Bee-Bot Programmes Floor Robot	buc	1265,19	2	2530,374
	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	4	2385,7812
	Bee-Bot Countryside Mat	buc	596,45	2	1192,8906
	BEE-Bot Shapes, Colour and Size Mat	buc	596,45	2	1192,8906
	Easi-Tomer	buc	596,45	2	1192,8906
	Mixed Colours Reading Ruler 10pk	buc	271,11	4	1084,446
	Coloured Eye Level Reading Ruler 10pk	set	298,22	2	596,4454
	GET a Grip Pencil Grips	set	976,00	2	1952,0026
	Development Pensil Grips	set	271,11	2	542,223
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language	set	896,03	2	1792,06
	<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	2	269,48
	<b>Total</b>			<b>172</b>	<b>382125,55</b>

11	Criuleni	<b>Tablet</b> <b>Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB:</i> <i>10.1 Carrying case</i>	buc	8139,33	6	48835,98
		<b>DLP Data Video Projector</b> <b>Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS- 232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling</i> <i>Mount: Cable HDMI to HDMI 4.5m:</i> <i>Power Cord Cable Extension High quality:</i>	buc	7166,15	2	14332,30
		<b>Laptop</b> <b>15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case	buc	5968,31	2	11936,62
		<b>Colored MFD CANON MAXFY MB5140</b> <i>Additional Dual Resistant High Density 4 ink</i> <i>tanks (Black, Cyan, Magenta, Yellow)/ PGI-</i> <i>2400XL BK/PGI-2400XL: Cable USB2.0-Am-</i> <i>Vm, 1.8m, A-plug B-plug, Black:</i>	buc	4195,76	2	8391,52
		<b>Read ABCD Romanian</b> Phonology and Reading Mixed type software (step by step reading) in Romanian Language with Universal Desingn of Learning (UDL)	buc	1783,93	2	3567,86
		<b>Text Aloud 4</b> Text to speech software with hilighting whilst reading, includes Russian and Romanian voice	buc	1665	2	3330,00

	<b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.	buc	1189,29	2	2378,58
	<b>Mind Express4 AAC Alternative</b> , Augumentative Communication software, for Education and Communication	buc	2293,62	2	4587,24
	<b>iCSPEECH Standard Edition</b> Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian	buc	3482,91	2	6965,82
	<b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian	buc	1104,34	2	2208,68
	<b>IWRITITE prediction, Romanian</b> Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.	buc	1189,26	2	2378,52
	Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen,licens with dongle, <b>(ZoomText, Magnifier/Reader)</b>	buc	6544,08	2	13088,16
	Software to develop language activities in Romanian and Russian language <b>(Clicker7)</b>	buc	5174,35	2	10348,70

	Primary school Social skills software, Romanian language <b>(On the Road with Safety)</b>	buc	1319,95	2	2639,90
	Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons) <b>Item 6 includes item 5 as well</b>	buc	1149,74	2	2299,48
	Mind Mapping software, with a library of pictures and possibility to make mind maps for senior children <b>Inspiration 10.</b>	buc	1149,74	2	2299,48
	<b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, spelling and phonology, auditory discrimination, visual discrimination etc.	buc	789,44	2	1578,88
	<b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.	buc	743,66	2	1487,32
	<b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.	buc	2662,52	2	5325,04
	<b>Chater Block (item 4)</b> Dice (talking), for young children.	set	423,57	2	847,14

	<b>Attention Training Sowftware (sent digitally) (intem 5)</b> Attention Training set.	se	967,37	2	1934,74
	<b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).	buc	1495,8	4	5983,20
	<b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special cades/labels, set of about 400 self-sticking codes, (5% deviation +/-)	set	396,62	4	1586,48
	<b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)	buc	486,8	4	1947,20
	<b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	8	6987,20
	<b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	2	1746,80
	<b>Romanian Letters of the Alphabet Magnet set (intem 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	2	1792,06
	<b>Keeping up with Cheetah Romanian/English book</b> Carte tinand pasul cu ghepardul romana/engleza	buc	267,75	2	535,50
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,9	12	82,80
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	6	34,98

	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	2	11,66
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,5	2	35,00
	<b>Start arrows for Intems 10-12 (Sageti)</b>	buc	1	4	4,00
	FM Hearing Aids for students, to be user in the classroom and the Resoursec Room <b>PHONAK BOLERO V30 P PHONAK ROGER MyLink</b>	buc	11619,89	2	23239,78
	<b>PHONAK ROGER TouchScreen Mic</b> FM transmiter for the Teacher, who teaches hearing impaired students.	buc	11827,15	2	23654,30
	First Aid kit Hearing Aids <b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer-1pcs.; Phonak Cleasing beaker(dryng tub)-1 pcs.; Set of3 cleaning tools-1pcs.; Nattery13*H ZINC/AIR-1pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:	buc	773,92	2	1547,84
	<b>Monster 2 High Visibility RO Keyboard</b> KYB-MON2VIS-UCUH Accuratus Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&2 Port USB Hub, with stikers in Romanian language	buc	842,75	2	1685,50
	<b>BigKeys LX gwerly Upper Case Black on White RO</b> Ablenet BigKeys LX QWERTY Keyboard-Romanian language	buc	2814,63	2	5629,26

	<b>Keyboard Gembird KB-U-103-RU Standard Black/RO KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Romanian language	set	134,74	6	808,44
	<b>BigKeys LX Keyguard PROSOPSIS</b> Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	2	3070,52
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	2	5122,68
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	2	5681,32
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	2	6191,68
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	2	980,08
	<b>Praetorian Optima Joystick SKU:OPMAJ</b>	buc	3725,62	2	7451,24
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	2	3350,68
	<b>Pretorian Smoothie 125</b>	buc	665,28	2	1330,56
	<b>Pretorian Smoothie 75</b>	buc	665,28	2	1330,56
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	2	3683,46

	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	2	29786,12
	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	2	3253,34
	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	2	23523,04
	A portable HD Video magnifier tablet, with at least 10 inches screen ( tabletă cu rezoluție HD, cu ecranul de cel puțin 10 incii)	buc	18888,64	2	37777,28
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Foi laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059	2	4118,00
	Cloured Magnetic Number Frames 80pcs	set	1334,77	2	2669,54
	Bee-Bot Programmes Floor Robot	buc	1265,19	2	2530,37
	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	4	2385,78
	Bee-Bot Countryside Mat	buc	596,45	2	1192,89
	BEE-Bot Shapes, Colour and Size Mat	buc	596,45	2	1192,89
	Easi-Tomer	buc	596,45	2	1192,89

		Mixed Colours Reading Ruler 10pk	buc	271,11	4	1084,45
		Coloured Eye Level Reading Ruler 10pk	set	298,22	2	596,45
		GET a Grip Pencil Grips	set	976,00	2	1952,00
		Development Pensil Grips	set	271,11	2	542,22
		<b>Romanian Letters of the Alphabet</b> <b>Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language	set	896,03	2	1792,06
		<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	2	269,48
		<b>Total</b>			<b>172</b>	<b>382125,55</b>
12	Donduşeni	<b>Tablet Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB:</i> <i>10.1 Carrying case</i>	buc	8139,33	3	24417,99

	<p><b>DLP Data Video Projector Acer P1255</b>          4000 ANSI lumens DLP XGA (1024x768),          20000:1,5,000/10,000 hours, 1x HDMI,          1xHDMI/MHL,1xDC out, 1x audio out, 1xRS-          232,1 x composite video, 2x VGA, 1x 10W          (mono) Yes, Throw ratio 1.51-1.97          Additional Cable HDMI to HDMI 4.5m          Additional Power Cord Cable Extension High          quality: <i>Sopar TAPA universal Projector Ceiling</i>  <i>Mount: Cable HDMI to HDMI 4.5m:</i>  <i>Power Cord Cable Extension High quality:</i></p>	buc	7166,15	1	7166,15
	<p><b>Laptop 15.6 LENOVO V15-ADA/</b>          Wireless Optical USB Mouse/15.6 NB Carrying          case</p>	buc	5968,31	1	5968,31
	<p><b>Colored MFD CANON MAXFY MB5140</b>  <i>Additional Dual Resistant High Density 4 ink</i>  <i>tanks (Black, Cyan, Magenta, Yellow)/ PGI-</i>  <i>2400XL BK/PGI-2400XL: Cable USB2.0-Am-</i>  <i>Vm, 1.8m, A-plug B-plug, Black:</i></p>	buc	4195,76	1	4195,76
	<p><b>Read ABCD Romanian</b> Phonology and          Reading Mixed type software (step by step          reading) in Romanian Language with          Universal Desingn of Learning (UDL)</p>	buc	1783,93	1	1783,93
	<p><b>Text Aloud 4</b> Text to speech software          with hilighting whilst reading, includes          Russian and Romanian voice (one voice          each)</p>	buc	1665	1	1665
	<p><b>Maths 1 Romanian</b> Early Mathematical          concepts, numbers 1 to 5 downloadable          software, in Romanian language.</p>	buc	1189,29	1	1189,29

	<b>Mind Express4 AAC Alternative, Augumentative Communication software, for Education and Communication</b>	buc	2293,62	1	2293,62
	<b>iCSPEECH Standard Edition</b> Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian	buc	3482,91	1	3482,91
	<b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian	buc	1104,34	1	1104,34
	<b>IWRITITE prediction, Romanian</b> Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.	buc	1189,26	1	1189,26
	Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen,licens with dongle, <b>(ZoomText, Magnifier/Reader)</b>	buc	6544,08	1	6544,08
	Software to develop language activities in Romanian and Russian language <b>(Clicker7)</b>	buc	5174,35	1	5174,35
	Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b>	buc	1319,95	1	1319,95

	Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons) <b>Item 6 includes item 5 as well</b>	buc	1149,74	1	1149,74
	Mind Mapping software, with a library of pictures and possibility to make mind maps for senior children <b>Inspiration 10</b>	buc	1149,74	1	1149,74
	<b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, spelling and phonology, auditory discrimination, visual discrimination etc.	buc	789,44	1	789,44
	<b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.	buc	743,66	1	743,66
	<b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.	buc	2662,52	1	2662,52
	<b>Chater Block (item 4)</b> Dice (talking), for young children.	set	423,57	1	423,57
	<b>Attention Training Software (sent digitally) (item 5)</b> Attention Training set.	set	967,37	1	967,37

	<b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).	buc	1495,8	2	2991,6
	<b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special cades/labels, set of about 400 self-sticking codes, (5% deviation +/-)	set	396,62	2	793,24
	<b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)	buc	486,8	2	973,6
	<b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	4	3493,6
	<b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	1	873,4
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language	set	896,03	1	896,03
	<b>Keeping up with Cheetah Romanian/English</b>	buc	267,75	1	267,75
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,9	6	41,4
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	3	17,49
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	1	5,83
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,5	1	17,5

	Start arrows for Intems 10-12	buc	1	2	2
	FM Hearing Aids for students, to be user in the classroom and the Resourcse Room <b>PHONAK BOLERO V30 P</b> (Dispozitiv auditiv FM care urmeaza sa fie utilizeaza in clase si in Centre de Resurse (portabile) PHONAK ROGER MyLink	buc	11619,89	1	11619,89
	<b>PHONAK ROGER TouchScreen Mic</b> FM transmitemer for the Teacher, who teaches hearing impaired students.	buc	11827,15	1	11827,15
	First Aid kit Hearing Aids <b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrets)-2 pcs; Phonak air puffer-1pcs.; Phonak Cleaning beaker(dryng tub)-1 pcs.; Set of3 cleaning tools-1pcs.; Nattery13*H ZINC/AIR-1pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:	buc	773,92	1	773,92
	<b>Monster 2 High Visibility RO Keyboard</b> KYB-MON2VIS-UCUH Accuratus Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&2 Port USB Hub, with stickers in Romanian	buc	842,75	1	842,75
	<b>BigKeys LX gwerty Upper Case Black on White RO</b> Ablenet BigKeys LX QWERTY Keyboard-Romanian language	buc	2814,63	1	2814,63

	<b>Keyboard Gembird KB-U-103-RU Standard Black/RO KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Romanian language	set	134,74	3	404,22
	<b>BigKeys LX Keyguard PROSOPSIS</b> Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	1	1535,26
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	1	2561,34
	<b>AbleNet Quick Talker</b>	buc	2840,66	1	2840,66
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	1	3095,84
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	1	490,04
	<b>Praetorian Optima Joystick SKU:OPMAJ</b>	buc	3725,62	1	3725,62
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	1	1675,34
	<b>Pretorian Smoothie 125</b>	buc	665,28	1	665,28
	<b>Pretorian Smoothie</b>	buc	665,28	1	665,28
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	1	1841,73

	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	1	14893,0584
	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	1	1626,67
	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	1	11761,52
	A portable HD Video magnifier tablet, with at least 10 inches screen	buc	18888,64	1	18888,64
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Folii laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059	1	2059
	Cloured Magnetic Number Frames 80pcs	set	1334,77	1	1334,7723
	Bee-Bot Programmes Floor Robot	buc	1265,19	1	1265,187
	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	2	1192,8906
	Bee-Bot Countryside Mat	buc	596,45	1	596,4453
	BEE-Bot Shapes, Colour and Size Mat	buc	596,45	1	596,4453
	Easi-Tomer	buc	596,45	1	596,4453
	Mixed Colours Reading Ruler 10pk	buc	271,11	2	542,223

		Coloured Eye Level Reading Ruler 10pk	set	298,22	1	298,2227
		GET a Grip Pencil Grips	set	976,00	1	976,0013
		Development Pensil Grips	set	271,11	1	271,1115
		<b>Romanian Letters of the Alphabet</b> <b>Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language	set	896,03	1	896,03
		<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	1	134,74
		<b>Total</b>			<b>86</b>	<b>191062,77</b>
13	Drochia	<b>Tablet Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB:</i> <i>10.1 Carrying case</i>	buc	8139,33	9	73253,97

	<b>DLP Data Video Projector Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS- 232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling Mount: Cable HDMI to HDMI 4.5m: Power Cord Cable Extension High quality:</i>	buc	7166,15	3	21498,45
	<b>Laptop 15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case	buc	5968,31	3	17904,93
	<b>Colored MFD CANON MAXFY MB5140</b> <i>Additional Dual Resistant High Density 4 ink tanks (Black, Cyan, Magenta, Yellow)/ PGI- 2400XL BK/PGI-2400XL: Cable USB2.0-Am- Vm, 1.8m, A-plug B-plug, Black:</i>	buc	4195,76	3	12587,28
	<b>Read ABCD Romanian</b> Phonology and Reading Mixed type software (step by step reading) in Romanian Language with Universal Desingn of Learning (UDL)	buc	1783,93	3	5351,79
	<b>Text Aloud 4</b> Text to speech software with hilighting whilst reading, includes Russian and Romanian voice	buc	1665	3	4995
	<b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.	buc	1189,29	3	3567,87
	<b>Mind Express4 AAC Alternative,</b> Augumentative Communication software, for Education and Communication	buc	2293,62	3	6880,86

	<p><b>iCSPEECH Standard Edition</b> Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian</p>	buc	3482,91	3	10448,73
	<p><b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian</p>	buc	1104,34	3	3313,02
	<p><b>IWRITITE prediction, Romanian</b> Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.</p>	buc	1189,26	3	3567,78
	<p>Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen,licens with dongle, <b>(ZoomText, Magnifier/Reader)</b></p>	buc	6544,08	3	19632,24
	<p>Software to develop language activities in Romanian and Russian language <b>(Clicker7)</b></p>	buc	5174,35	3	15523,05
	<p>Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b></p>	buc	1319,95	3	3959,85
	<p>Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons)</p> <p><b>Item 6 includes item 5 as well</b></p>	buc	1149,74	3	3449,22

	Mind Mapping software, with a library of pictures and possibility to make mind maps for senior children <b>Inspiration 10.</b>	buc	1149,74	3	3449,22
	<b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, spelling and phonology, auditory discrimination, visual discrimination etc.	buc	789,44	3	2368,32
	<b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.	buc	743,66	3	2230,98
	<b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.	buc	2662,52	3	7987,56
	<b>Chater Block (item 4)</b> Dice (talking), for young children.	set	423,57	3	1270,71
	<b>Attention Training Software (sent digitally) (item 5)</b> Attention Training set.	set	967,37	3	2902,11
	<b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).	buc	1495,8	6	8974,8

	<b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special cades/labels, set of about 400 self-sticking codes, (5% deviation +/-)	set	396,62	6	2379,72
	<b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)	buc	486,8	6	2920,8
	<b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	12	10480,8
	<b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	3	2620,2
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	3	2688,09
	<b>Keeping up with Cheetah Romanian/English book</b> Carte tinand pasul cu ghepardul romana/engleza	buc	267,75	3	803,25
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,9	18	124,2
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	9	52,47
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	3	17,49
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,5	3	52,5
	<b>Start arrows for Items 10-12</b>	buc	1	6	6

	FM Hearing Aids for students, to be user in the classroom and the Resourcse Room <b>PHONAK BOLERO V30 P PHONAK ROGER MyLink</b>	buc	11619,89	3	34859,67
	<b>PHONAK ROGER TouchScreen Mic</b> FM transmiter for the Teacher, who teaches hearing impaired students.	buc	11827,15	3	35481,45
	First Aid kit Hearing Aids <b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer-1pcs.; Phonak Cleasing beaker(dryng tub)-1 pcs.; Set of3 cleaning tools-1pcs.; Nattery13*H ZINC/AIR-1pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:	buc	773,92	3	2321,76
	<b>Monster 2 High Visibility RO Keyboard</b> KYB-MON2VIS-UCUH Accuratus Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&2 Port USB Hub, with stikers in Romanian language	buc	842,75	3	2528,25
	<b>BigKeys LX gwerty Upper Case Black on White RO</b> Ablenet BigKeys LX QWERTY Keyboard-Romanian language	buc	2814,63	3	8443,89

	<b>Keyboard Gembird KB-U-103-RU Standard Black/RO KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Romanian language	set	134,74	9	1212,66
	<b>BigKeys LX Keyguard PROSOPSIS</b> Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	3	4605,78
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	3	7684,02
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	3	8521,98
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	3	9287,52
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	3	1470,12
	<b>Praetorian Optima Joystick SKU:OPMAJ</b>	buc	3725,62	3	11176,86
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	3	5026,02
	<b>Pretorian Smoothie 125</b>	buc	665,28	3	1995,84
	<b>Pretorian Smoothie 75</b>	buc	665,28	3	1995,84
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	3	5525,19
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	3	44679,1752

	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	3	4880,01
	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	3	35284,56
	A portable HD Video magnifier tablet, with at least 10 inches	buc	18888,64	3	56665,92
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Foi laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059	3	6177
	Cloured Magnetic Number Frames 80pcs	set	1334,77	3	4004,3169
	Bee-Bot Programmes Floor Robot	buc	1265,19	3	3795,561
	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	6	3578,6718
	Bee-Bot Countryside Mat	buc	596,45	3	1789,3359
	BEE-Bot Shapes, Colour and Size Mat	buc	596,45	3	1789,3359
	Easi-Tomer	buc	596,45	3	1789,3359
	Mixed Colours Reading Ruler 10pk	buc	271,11	6	1626,669
	Coloured Eye Level Reading Ruler 10pk	set	298,22	3	894,6681
	GET a Grip Pencil Grips	set	976,00	3	2928,0039
	Development Pensil Grips	set	271,11	3	813,3345

		<b>Romanian Letters of the Alphabet</b> <b>Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language	set	896,03	3	2688,09
		<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	3	404,22
		<b>Total</b>			<b>258</b>	<b>573188,32</b>
14	Dubăsari	<b>Tablet</b> <b>Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB:</i> <i>10.1 Carrying case</i>	buc	8139,33	3	24417,99
		<b>DLP Data Video Projector</b> <b>Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS-232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling Mount: Cable HDMI to HDMI 4.5m: Power Cord Cable Extension High quality:</i>	buc	7166,15	1	7166,15
		<b>Laptop</b> <b>15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case	buc	5968,31	1	5968,31

	<b>Colored MFD CANON MAXFY MB5140</b> <i>Additional Dual Resistant High Density 4 ink tanks (Black, Cyan, Magenta, Yellow)/ PGI-2400XL BK/PGI-2400XL: Cable USB2.0-Am-Vm, 1.8m, A-plug B-plug, Black:</i>	buc	4195,76	1	4195,76
	<b>Read ABCD Romanian</b> Phonology and Reading Mixed type software (step by step reading) in Romanian Language with Universal Desingn of Learning (UDL)	buc	1783,93	1	1783,93
	<b>Text Aloud 4</b> Text to speech software with hilighting whilst reading, incudes Russian and Romanian voice	buc	1665	1	1665,00
	<b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.	buc	1189,29	1	1189,29
	<b>Mind Express4 AAC Alternative, Augumentative Communication software, for Education and Communication</b>	buc	2293,62	1	2293,62
	<b>iCSPEECH Standard Edition</b> Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian	buc	3482,91	1	3482,91
	<b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian	buc	1104,34	1	1104,34
	<b>IWRITITE prediction, Romanian</b> Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.	buc	1189,26	1	1189,26

	Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen, licens with dongle, <b>(ZoomText, Magnifier/Reader)</b>	buc	6544,08	1	6544,08
	Software to develop language activities in Romanian and Russian language <b>(Clicker7)</b>	buc	5174,35	1	5174,35
	Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b>	buc	1319,95	1	1319,95
	Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons) <b>Item 6 includes item 5 as well</b>	buc	1149,74	1	1149,74
	Mind Mapping software, with a library of pictures and possibility to make mind maps for sinior children <b>Inspiration 10.</b>	buc	1149,74	1	1149,74
	<b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, ppelling and phonology, auditory discrimination, vizual discrimination etc.	buc	789,44	1	789,44
	<b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a nomber of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many mare.	buc	743,66	1	743,66

	<b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.	buc	2662,52	1	2662,52
	<b>Chater Block (item 4)</b> Dice (talking), for young children.	set	423,57	1	423,57
	<b>Attention Training Sowtware (sent digitally) (item 5)</b> Attention Training set.	buc	967,37	1	967,37
	<b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).	buc	1495,8	2	2991,60
	<b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special cades/labels, set of about 400 self-sticking codes, (5% deviation +/-)	set	396,62	2	793,24
	<b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)	buc	486,8	2	973,60
	<b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	4	3493,60
	<b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	1	873,40
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	1	896,03
	<b>Keeping up with Cheetah Romanian/English book</b>	buc	267,75	1	267,75

	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,9	6	41,40
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	3	17,49
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	1	5,83
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,5	1	17,50
	<b>Start arrows for Intems 10-12 (Sageti)</b>	buc	1	2	2,00
	FM Hearing Aids for students, to be user in the classroom and the Resoursec Room <b>PHONAK BOLERO V30 P PHONAK ROGER MyLink</b>	buc	11619,89	1	11619,89
	<b>PHONAK ROGER TouchScreen Mic</b> FM transmiter for the Teacher, who teaches hearing impaired students.	buc	11827,15	1	11827,15
	First Aid kit Hearing Aids <b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer-1pcs.; Phonak Cleasing beaker(dryng tub)-1 pcs.; Set of3 cleaning tools-1pcs.; Nattery13*H ZINC/AIR-1pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:	buc	773,92	1	773,92
	<b>Monster 2 High Visibility RO Keyboard</b> KYB-MON2VIS-UCUH Accuratus Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&2 Port USB Hub, with stikers in Romanian language	buc	842,75	1	842,75

	<b>BigKeys LX gwerty Upper Case Black on White RO</b> Ablenet BigKeys LX QWERTY Keyboard-Romanian language	buc	2814,63	1	2814,63
	<b>Keyboard Gembird KB-U-103-RU Standard Black/RO</b> KB-U-103-RU Gembird with self-sticking plastic labels, small and caps letters, in Romanian language	set	134,74	3	404,22
	<b>BigKeys LX Keyguard</b> PROSOPSIS Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	1	1535,26
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	1	2561,34
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	1	2840,66
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	1	3095,84
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	1	490,04
	<b>Praetorian Optima Joystick</b> SKU:OPMAJ	buc	3725,62	1	3725,62
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	1	1675,34
	<b>Pretorian Smoothie 125</b>	buc	665,28	1	665,28
	<b>Pretorian Smoothie 75</b>	buc	665,28	1	665,28
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	1	1841,73
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	1	14893,06

	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	1	1626,67
	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	1	11761,52
	A portable HD Video magnifier tablet, with at least 10 inches screen ( tabletă cu rezoluție HD, cu ecranul de cel puțin 10 incii)	buc	18888,64	1	18888,64
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Foi laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059	1	2059,00
	Cloured Magnetic Number Frames 80pcs	set	1334,77	1	1334,77
	Bee-Bot Programes Floor Robot	buc	1265,19	1	1265,19
	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	2	1192,89
	Bee-Bot Countryside Mat	buc	596,45	1	596,45
	BEE-Bot Shapes, Colour and Size Mat	buc	596,45	1	596,45
	Easi-Tomer	buc	596,45	1	596,45
	Mixed Colours Reading Ruler 10pk	buc	271,11	2	542,22
	Coloured Eye Level Reading Ruler 10pk	set	298,22	1	298,22
	GET a Grip Pencil Grips	set	976,00	1	976,00

		Development Pensil Grips	set	271,11	1	271,11
		<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language	set	896,03	1	896,03
		<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	1	134,74
		<b>Total</b>	buc		<b>86</b>	<b>191062,77</b>
15	Edineț	<b>Tablet Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB:</i> <i>10.1 Carrying case</i>	buc	8139,33	9	73253,97
		<b>DLP Data Video Projector Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS-232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling Mount: Cable HDMI to HDMI 4.5m: Power Cord Cable Extension High quality:</i>	buc	7166,15	3	21498,45
		<b>Laptop 15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case	buc	5968,31	3	17904,93

	<b>Colored MFD CANON MAXFY MB5140</b> <i>Additional Dual Resistant High Density 4 ink tanks (Black, Cyan, Magenta, Yellow)/ PGI-2400XL BK/PGI-2400XL: Cable USB2.0-Am-Vm, 1.8m, A-plug B-plug, Black:</i>	buc	4195,76	3	12587,28
	<b>Read ABCD Romanian</b> Phonology and Reading Mixed type software (step by step reading) in Romanian Language with Universal Desingn of Learning (UDL)	buc	1783,93	1	1783,93
	<b>Read ABCD Russian</b> Phonology and Reading Mixed type software (step by step reading) in Russian Language with Universal Desingn of Learning (UDL)	buc	2123,72	2	4247,44
	<b>Text Aloud 4</b> Text to speech software with hilighting whilst reading, includes Russian and Romanian voice	buc	1665	3	4995,00
	<b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.	buc	1189,29	1	1189,29
	<b>Maths 1 Russian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Russian language.	buc	1274,23	2	2548,46
	<b>Mind Express4 AAC Alternative, Augumentative Communication software, for Education and Communication</b>	buc	2293,62	3	6880,86
	<b>iCSPEECH Standard Edition</b> Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian	buc	3482,91	3	10448,73
	<b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian	buc	1104,34	3	3313,02

	<b>IWRTITE prediction, Romanian</b> Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.	buc	1189,26	1	1189,26
	<b>IWRTITE prediction, Russian</b> Prediction software to speedup writing and help also with spell checking, for Russian language. To predict words.	buc	1274,26	2	2548,52
	Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen,licens with dongle, <b>(ZoomText, Magnifier/Reader)</b>	buc	6544,08	3	19632,24
	Software to develop language activities in Romanian and Russian language <b>Clicker7)</b>	buc	5174,35	3	15523,05
	Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b>	buc	1319,95	1	1319,95
	Primary school Social skils software, Russian language <b>(On the Road with Safety)</b>	buc	1496,22	2	2992,44
	Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons) <b>Item 6 includes item 5 as well</b>	buc	1149,74	3	3449,22
	Mind Mapping software, with a library of pictures and possibility to make mind maps for sinior children <b>Inspiration 10.</b>	buc	1149,74	3	3449,22
	<b>Recordable Talking Wall Panel Story Sequencer (intem 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, ppelling and phonology,	buc	789,44	3	2368,32

	auditory discrimination, vizual discrimination etc.				
	<b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.	buc	743,66	3	2230,98
	<b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.	buc	2662,52	3	7987,56
	<b>Chater Block (item 4)</b> Dice (talking), for young children.	buc	423,57	3	1270,71
	<b>Attention Training Software (sent digitally) (item 5)</b> Attention Training set.	set	967,37	3	2902,11
	<b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).	buc	1495,8	6	8974,80
	<b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special codes/labels, set of about 400 self-sticking codes, (5% deviation +/-)	buc	396,62	6	2379,72
	<b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)	buc	486,8	6	2920,80
	<b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	buc	873,4	12	10480,80

	<b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	buc	873,4	3	2620,20
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	buc	896,03	1	896,03
	<b>Russian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	buc	895,82	2	1791,64
	<b>Keeping up with Cheetah Romanian/English book</b>	buc	267,75	3	803,25
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,9	18	124,20
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	9	52,47
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	3	17,49
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,5	3	52,50
	<b>Start arrows for Items 10-12 (Sageti)</b>	buc	1	6	6,00
	FM Hearing Aids for students, to be used in the classroom and the Resource Room <b>PHONAK BOLERO V30 P PHONAK ROGER MyLink</b>	buc	11619,89	3	34859,67
	<b>PHONAK ROGER TouchScreen Mic</b> FM transmitter for the Teacher, who teaches hearing impaired students.	buc	11827,15	3	35481,45

	First Aid kit Hearing Aids <b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer-1pcs.; Phonak Cleasing beaker(dryng tub)-1 pcs.; Set of3 cleaning tools-1pcs.; Nattery13*H ZINC/AIR-1pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:	buc	773,92	3	2321,76
	<b>Monster 2 High Visibility RO Keyboard</b> KYB-MON2VIS-UCUH Accuratus Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&2 Port USB Hub, with stikers in Romanian language	buc	842,75	3	2528,25
	<b>BigKeys LX gwerty Upper Case Black on White RO</b> AbleNet BigKeys LX QWERTY Keyboard-Romanian language	buc	2814,63	3	8443,89
	<b>Keyboard Gembird KB-U-103-RU Standard Black/RO</b> KB-U-103-RU Gembird with self-sticking plastic labels, small and caps letters, in Romanian language	buc	134,74	9	1212,66
	<b>BigKeys LX Keyguard</b> PROSOPSIS Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	3	4605,78
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	3	7684,02
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	3	8521,98

	<b>AbleNet Quick Talker 23</b>	buc	3095,84	3	9287,52
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	3	1470,12
	<b>Praetorian Optima Joystick SKU:OPMAJ</b>	buc	3725,62	3	11176,86
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	3	5026,02
	<b>Pretorian Smoothie 125</b>	buc	665,28	3	1995,84
	<b>Pretorian Smoothie 75</b>	buc	665,28	3	1995,84
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	3	5525,19
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	3	44679,18
	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	3	4880,01
	HD Handheld digital text magnifier, Eye pad 7 inches (lupă digitală de mâna pentru texte, 7 incii)	buc	11761,52	3	35284,56
	A portable HD Video magnifier tablet, with at least 10 inches screen	buc	18888,64	3	56665,92
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Foi laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059	3	6177,00
	Cloured Magnetic Number Frames 80pcs	buc	1334,77	3	4004,32
	Bee-Bot Programmes Floor Robot	buc	1265,19	3	3795,56

		Bee-Bot Transparent Grid Mat 8x8	buc	596,45	6	3578,67
		Bee-Bot Countryside Mat	buc	596,45	3	1789,34
		BEE-Bot Shapes, Colour and Size Mat	buc	596,45	3	1789,34
		Easi-Tomer	buc	596,45	3	1789,34
		Mixed Colours Reading Ruler 10pk	buc	271,11	6	1626,67
		Coloured Eye Level Reading Ruler 10pk	buc	298,22	3	894,67
		GET a Grip Pencil Grips	buc	976,00	3	2928,00
		Development Pensil Grips	buc	271,11	3	813,33
		<b>Romanian Letters of the Alphabet</b> <b>Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	buc	896,03	3	2688,09
		<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	buc	134,74	3	404,22
		<b>Total</b>			<b>258</b>	<b>574559,90</b>
16	Făleşti	<b>Tablet Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB:</i> <i>10.1 Carrying case</i>	buc	8139,33	6	48835,98

	<b>DLP Data Video Projector Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS- 232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling Mount: Cable HDMI to HDMI 4.5m: Power Cord Cable Extension High quality:</i>	buc	7166,15	2	14332,30
	<b>Laptop 15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case	buc	5968,31	2	11936,62
	<b>Colored MFD CANON MAXFY MB5140</b> <i>Additional Dual Resistant High Density 4 ink tanks (Black, Cyan, Magenta, Yellow)/ PGI- 2400XL BK/PGI-2400XL: Cable USB2.0-Am- Vm, 1.8m, A-plug B-plug, Black:</i>	buc	4195,76	2	8391,52
	<b>Read ABCD Romanian</b> Phonology and Reading Mixed type software (step by step reading) in Romanian Language with Universal Desingn of Learning (UDL)	buc	1783,93	2	3567,86
	<b>Text Aloud 4</b> Text to speech software with hilighting whilst reading, includes Russian and Romanian voice	buc	1665	2	3330,00
	<b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.	buc	1189,29	2	2378,58
	<b>Mind Express4 AAC Alternative,</b> Augumentative Communication software, for Education and Communication	buc	2293,62	2	4587,24

	<b>iCSPEECH Standard Edition</b> Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian	buc	3482,91	2	6965,82
	<b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Romanian and Russian	buc	1104,34	2	2208,68
	<b>IWRITITE prediction, Romanian</b> Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.	buc	1189,26	2	2378,52
	Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen, licens with dongle, <b>(ZoomText, Magnifier/Reader)</b>	buc	6544,08	2	13088,16
	Software to develop language activities in Romanian and Russian language <b>(Clicker7)</b>	buc	5174,35	2	10348,70
	Primary school Social skills software, Romanian language <b>(On the Road with Safety)</b>	buc	1319,95	2	2639,90
	Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons) <b>Item 6 includes item 5 as well</b>	buc	1149,74	2	2299,48
	Mind Mapping software, with a library of pictures and possibility to make mind maps for senior children <b>Inspiration 10.</b>	buc	1149,74	2	2299,48

	<b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, spelling and phonology, auditory discrimination, visual discrimination etc.	buc	789,44	2	1578,88
	<b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.	buc	743,66	2	1487,32
	<b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.	buc	2662,52	2	5325,04
	<b>Chater Block (item 4)</b> Dice (talking), for young children.	set	423,57	2	847,14
	<b>Attention Training Software (sent digitally) (item 5)</b> Attention Training set.	buc	967,37	2	1934,74
	<b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).	buc	1495,8	4	5983,20
	<b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special codes/labels, set of about 400 self-sticking codes, (5% deviation +/-)	set	396,62	4	1586,48
	<b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)	buc	486,8	4	1947,20

	<b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	8	6987,20
	<b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	2	1746,80
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	2	1792,06
	<b>Keeping up with Cheetah Romanian/English book</b>	buc	267,75	2	535,50
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,9	12	82,80
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	6	34,98
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	2	11,66
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,5	2	35,00
	<b>Start arrows for Items 10-12 (Sageti)</b>	buc	1	4	4,00
	FM Hearing Aids for students, to be used in the classroom and the Resource Room <b>PHONAK BOLERO V30 P PHONAK ROGER MyLink</b>	buc	11619,89	2	23239,78
	<b>PHONAK ROGER TouchScreen Mic</b> FM transmitter for the Teacher, who teaches hearing impaired students.	buc	11827,15	2	23654,30

	<p>First Aid kit Hearing Aids  <b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer-1pcs.; Phonak Cleasing beaker(dryng tub)-1 pcs.; Set of3 cleaning tools-1pcs.; Nattery13*H ZINC/AIR-1pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:</p>	buc	773,92	2	1547,84
	<p><b>Monster 2 High Visibility RO Keyboard</b>  KYB-MON2VIS-UCUH Accuratus  Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&amp;2 Port USB Hub, with stikers in Romanian language</p>	buc	842,75	2	1685,50
	<p><b>BigKeys LX gwerty Upper Case Black on White RO</b> Ablenet BigKeys LX QWERTY Keyboard-Romanian language</p>	buc	2814,63	2	5629,26
	<p><b>Keyboard Gembird KB-U-103-RU Standard Black/RO</b> KB-U-103-RU Gembird with self-sticking plastic labels, small and caps letters, in Romanian language</p>	set	134,74	6	808,44

	<b>BigKeys LX Keyguard PROSOPSIS</b> Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	2	3070,52
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	2	5122,68
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	2	5681,32
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	2	6191,68
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	2	980,08
	<b>Praetorian Optima Joystick SKU:OPMAJ</b>	buc	3725,62	2	7451,24
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	2	3350,68
	<b>Pretorian Smoothie 125</b>	buc	665,28	2	1330,56
	<b>Pretorian Smoothie 75</b>	buc	665,28	2	1330,56
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	2	3683,46
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	2	29786,12

	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	2	3253,34
	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	2	23523,04
	A portable HD Video magnifier tablet, with at least 10 inches screen	buc	18888,64	2	37777,28
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Folii laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059	2	4118,00
	Cloured Magnetic Number Frames 80pcs	set	1334,77	2	2669,54
	Bee-Bot Programmes Floor Robot	buc	1265,19	2	2530,37
	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	4	2385,78
	Bee-Bot Countryside Mat	buc	596,45	2	1192,89
	BEE-Bot Shapes, Colour and Size Mat	buc	596,45	2	1192,89
	Easi-Tomer	buc	596,45	2	1192,89
	Mixed Colours Reading Ruler 10pk	buc	271,11	4	1084,45
	Coloured Eye Level Reading Ruler 10pk	set	298,22	2	596,45
	GET a Grip Pencil Grips	set	976,00	2	1952,00
	Development Pensil Grips	set	271,11	2	542,22

		<b>Romanian Letters of the Alphabet</b> <b>Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language	set	896,03	2	1792,06
		<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	2	269,48
		<b>Total</b>	buc		<b>172</b>	<b>382125,55</b>
17	Florești	<b>Tablet Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB:</i> <i>10.1 Carrying case</i>	buc	8139,33	3	24417,99
		<b>DLP Data Video Projector Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS-232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling Mount: Cable HDMI to HDMI 4.5m: Power Cord Cable Extension High quality:</i>	buc	7166,15	1	7166,15
		<b>Laptop 15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case	buc	5968,31	1	5968,31

	<b>Colored MFD CANON MAXFY MB5140</b> <i>Additional Dual Resistant High Density 4 ink tanks (Black, Cyan, Magenta, Yellow)/ PGI-2400XL BK/PGI-2400XL: Cable USB2.0-Am-Vm, 1.8m, A-plug B-plug, Black:</i>	buc	4195,76	1	4195,76
	<b>Read ABCD Romanian</b> Phonology and Reading Mixed type software (step by step reading) in Romanian Language with Universal Desing of Learning (UDL)	buc	1783,93	1	1783,93
	<b>Text Aloud 4</b> Text to speech software with hilighting whilst reading, includes Russian and Romanian voice	buc	1665	1	1665,00
	<b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.	buc	1189,29	1	1189,29
	<b>Mind Express4 AAC Alternative</b> , Augumentative Communication software, for Education and Communication	buc	2293,62	1	2293,62
	<b>iCSPEECH Standard Edition</b> Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian	buc	3482,91	1	3482,91
	<b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian	buc	1104,34	1	1104,34
	<b>IWRITITE prediction, Romanian</b> Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.	buc	1189,26	1	1189,26

	<p>Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen, licens with dongle, <b>(ZoomText, Magnifier/Reader)</b></p> <p>Software to develop language activities in Romanian and Russian language <b>(Clicker7)</b></p> <p>Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b></p> <p>Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons)</p> <p><b>Item 6 includes item 5 as well</b></p> <p>Mind Mapping software, with a library of pictures and possibility to make mind maps for sinior children <b>Inspiration 10.</b></p> <p><b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, ppelling and phonology, auditory discrimination, vizual discrimination etc.</p> <p><b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a nomber of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovissual discrimination and many mare.</p>	buc	6544,08	1	6544,08
		buc	5174,35	1	5174,35
		buc	1319,95	1	1319,95
		buc	1149,74	1	1149,74
		buc	1149,74	1	1149,74
		buc	789,44	1	789,44
		buc	743,66	1	743,66

	<b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.	set	2662,52	1	2662,52
	<b>Chater Block (item 4)</b> Dice (talking), for young children.	buc	423,57	1	423,57
	<b>Attention Training Sowftware (sent digitally) (item 5)</b> Attention Training set.	buc	967,37	1	967,37
	<b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).	set	1495,8	2	2991,60
	<b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special cades/labels, set of about 400 self-sticking codes, (5% deviation +/-)	buc	396,62	2	793,24
	<b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)	set	486,8	2	973,60
	<b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	4	3493,60
	<b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	1	873,40
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	buc	896,03	1	896,03
	<b>Keeping up with Cheetah Romanian/English book</b> Carte tinand pasul cu ghepardul romana/engleza	buc	267,75	1	267,75

	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,9	6	41,40
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	3	17,49
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	1	5,83
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,5	1	17,50
	<b>Start arrows for Intems 10-12 (Sageti)</b>	buc	1	2	2,00
	FM Hearing Aids for students, to be user in the classroom and the Resoursec Room <b>PHONAK BOLERO V30 P PHONAK ROGER MyLink</b>	buc	11619,89	1	11619,89
	<b>PHONAK ROGER TouchScreen Mic</b> FM transmiter for the Teacher, who teaches hearing impaired students.	buc	11827,15	1	11827,15
	First Aid kit Hearing Aids <b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer-1pcs.; Phonak Cleasing beaker(dryng tub)-1 pcs.; Set of3 cleaning tools-1pcs.; Nattery13*H ZINC/AIR-1pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:	buc	773,92	1	773,92
	<b>Monster 2 High Visibility RO Keyboard</b> KYB-MON2VIS-UCUH Accuratus Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&2 Port USB Hub, with stikers in Romanian language	buc	842,75	1	842,75

	<b>BigKeys LX gwerty Upper Case Black on White RO</b> Ablenet BigKeys LX QWERTY Keyboard-Romanian language	set	2814,63	1	2814,63
	<b>Keyboard Gembird KB-U-103-RU Standard Black/RO</b> KB-U-103-RU Gembird with self-sticking plastic labels, small and caps letters, in Romanian language	buc	134,74	3	404,22
	<b>BigKeys LX Keyguard</b> PROSOPSIS Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	1	1535,26
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	1	2561,34
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	1	2840,66
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	1	3095,84
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	1	490,04
	<b>Praetorian Optima Joystick SKU:OPMAJ</b>	buc	3725,62	1	3725,62
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	1	1675,34
	<b>Pretorian Smoothie 125</b>	buc	665,28	1	665,28
	<b>Pretorian Smoothie 75</b>	buc	665,28	1	665,28
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	1	1841,73
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	1	14893,06
	Mouse with magnification option for reading from any flat surface by zoom in,	buc	1626,67	1	1626,67

	zoom out SRATE SR 028B-Mouse Magnifier				
	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	1	11761,52
	A portable HD Video magnifier tablet, with at least 10 inches screen ( tabletă cu rezoluție HD, cu ecranul de cel puțin 10 incii)	buc	18888,64	1	18888,64
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Foi laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	set	2059	1	2059,00
	Cloured Magnetic Number Frames 80pcs	buc	1334,77	1	1334,77
	Bee-Bot Programmes Floor Robot	buc	1265,19	1	1265,19
	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	2	1192,89
	Bee-Bot Countryside Mat	buc	596,45	1	596,45
	BEE-Bot Shapes, Colour and Size Mat	buc	596,45	1	596,45
	Easi-Tomer	buc	596,45	1	596,45
	Mixed Colours Reading Ruler 10pk	set	271,11	2	542,22
	Coloured Eye Level Reading Ruler 10pk	set	298,22	1	298,22
	GET a Grip Pencil Grips	set	976,00	1	976,00
	Development Pensil Grips	set	271,11	1	271,11

		<b>Romanian Letters of the Alphabet</b> <b>Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language	set	896,03	1	896,03
		<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	buc	134,74	1	134,74
		<b>Total</b>			<b>86</b>	<b>191062,77</b>
18	Glodeni	<b>Tablet Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB:</i> <i>10.1 Carrying case</i>	buc	8139,33	6	48835,98
		<b>DLP Data Video Projector Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS-232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling Mount: Cable HDMI to HDMI 4.5m:</i> <i>Power Cord Cable Extension High quality:</i>	buc	7166,15	2	14332,30
		<b>Laptop 15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case	buc	5968,31	2	11936,62

	<b>Colored MFD CANON MAXFY MB5140</b> <i>Additional Dual Resistant High Density 4 ink tanks (Black, Cyan, Magenta, Yellow)/ PGI-2400XL BK/PGI-2400XL: Cable USB2.0-Am-Vm, 1.8m, A-plug B-plug, Black:</i>	buc	4195,76	2	8391,52
	<b>Read ABCD Romanian</b> Phonology and Reading Mixed type software (step by step reading) in Romanian Language with Universal Desingn of Learning (UDL)	buc	1783,93	2	3567,86
	<b>Text Aloud 4</b> Text to speech software with hilighting whilst reading, includes Russian and Romanian voice	buc	1665	2	3330,00
	<b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.	buc	1189,29	2	2378,58
	<b>Mind Express4 AAC Alternative, Augumentative Communication software, for Education and Communication</b>	buc	2293,62	2	4587,24
	<b>iCSPEECH Standard Edition</b> Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian	buc	3482,91	2	6965,82
	<b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian	buc	1104,34	2	2208,68

	<b>IWRTITE prediction, Romanian</b> Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.	buc	1189,26	2	2378,52
	Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen, licens with dongle, <b>(ZoomText, Magnifier/Reader)</b>	buc	6544,08	2	13088,16
	Software to develop language activities in Romanian and Russian language <b>(Clicker7)</b>	buc	5174,35	2	10348,70
	Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b>	buc	1319,95	2	2639,90
	Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons) <b>Item 6 includes item 5 as well</b>	buc	1149,74	2	2299,48
	Mind Mapping software, with a library of pictures and possibility to make mind maps for sinior children <b>Inspiration 10.</b>	buc	1149,74	2	2299,48
	<b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, ppelling and phonology, auditory discrimination, vizual discrimination etc.	buc	789,44	2	1578,88

	<p><b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.</p> <p><b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.</p> <p><b>Chater Block (item 4)</b> Dice (talking), for young children.</p> <p><b>Attention Training Software (sent digitally) (item 5)</b> Attention Training set.</p> <p><b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).</p> <p><b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special cades/labels, set of about 400 self-sticking codes, (5% deviation +/-)</p> <p><b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)</p> <p><b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100</p>	buc	743,66	2	1487,32

	<b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	2	1746,80
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	2	1792,06
	<b>Keeping up with Cheetah Romanian/English book</b> Carte tinand pasul cu ghepardul romana/engleza	buc	267,75	2	535,50
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,9	12	82,80
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	6	34,98
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	2	11,66
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,5	2	35,00
	<b>Start arrows for Items 10-12 (Sageti)</b>	buc	1	4	4,00
	FM Hearing Aids for students, to be user in the classroom and the Resource Room <b>PHONAK BOLERO V30 P PHONAK ROGER MyLink</b>	buc	11619,89	2	23239,78
	<b>PHONAK ROGER TouchScreen Mic</b> FM transmitter for the Teacher, who teaches hearing impaired students.	buc	11827,15	2	23654,30

	<p>First Aid kit Hearing Aids</p> <p><b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer-1pcs.; Phonak Cleasing beaker(dryng tub)-1 pcs.; Set of3 cleaning tools-1pcs.; Nattery13*H ZINC/AIR-1pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:</p>	buc	773,92	2	1547,84
	<p><b>Monster 2 High Visibility RO Keyboard</b></p> <p>KYB-MON2VIS-UCUH Accuratus</p> <p>Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&amp;2 Port USB Hub, with stikers in Romanian language</p>	buc	842,75	2	1685,50
	<p><b>BigKeys LX gwerty Upper Case Black on White RO</b></p> <p>Ablenet BigKeys LX QWERTY Keyboard-Romanian language</p>	buc	2814,63	2	5629,26
	<p><b>Keyboard Gembird KB-U-103-RU Standard Black/RO</b></p> <p>KB-U-103-RU Gembird with self-sticking plastic labels, small and caps letters, in Romanian language</p>	set	134,74	6	808,44

	<b>BigKeys LX Keyguard PROSOPSIS</b> Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	2	3070,52
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	2	5122,68
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	2	5681,32
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	2	6191,68
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	2	980,08
	<b>Praetorian Optima Joystick</b> <b>SKU:OPMAJ</b>	buc	3725,62	2	7451,24
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	2	3350,68
	<b>Pretorian Smoothie 125</b>	buc	665,28	2	1330,56
	<b>Pretorian Smoothie 75</b>	buc	665,28	2	1330,56
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	2	3683,46
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	2	29786,12
	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	2	3253,34

	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	2	23523,04
	A portable HD Video magnifier tablet, with at least 10 inches	buc	18888,64	2	37777,28
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Folii laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059	2	4118,00
	Cloured Magnetic Number Frames 80pcs	set	1334,77	2	2669,54
	Bee-Bot Programmes Floor Robot	buc	1265,19	2	2530,37
	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	4	2385,78
	Bee-Bot Countryside Mat	buc	596,45	2	1192,89
	BEE-Bot Shapes, Colour and Size Mat	buc	596,45	2	1192,89
	Easi-Tomer	buc	596,45	2	1192,89
	Mixed Colours Reading Ruler 10pk	buc	271,11	4	1084,45
	Coloured Eye Level Reading Ruler 10pk	set	298,22	2	596,45

		GET a Grip Pencil Grips	set	976,00	2	1952,00
		Development Pensil Grips	set	271,11	2	542,22
		<b>Romanian Letters of the Alphabet</b> <b>Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language	set	896,03	2	1792,06
		<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	2	269,48
		<b>Total</b>			<b>172</b>	<b>382125,55</b>
19	Hîncești	<b>Tablet Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: USB to HDMI Video Adapter: Wireless, Silent Optical Mouse, 2.4GHz, USB: 10.1 Carrying case	buc	8139,33	3	24417,99
		<b>DLP Data Video Projector Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS-232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: Sopar TAPA universal Projector Ceiling Mount: Cable	buc	7166,15	1	7166,15

	<b>HDMI to HDMI 4.5m: Power Cord Cable Extension High quality:</b>				
	<b>Laptop 15.6 LENOVO V15-ADA/ Wireless Optical USB Mouse/15.6 NB Carrying case</b>	buc	5968,31	1	5968,31
	<b>Colored MFD CANON MAXFY MB5140 Additional Dual Resistant High Density 4 ink tanks (Black, Cyan, Magenta, Yellow)/ PGI-2400XL BK/PGI-2400XL: Cable USB2.0-Am-Vm, 1.8m, A-plug B-plug, Black:</b>	buc	4195,76	1	4195,76
	<b>Read ABCD Romanian Phonology and Reading Mixed type software (step by step reading) in Romanian Language with Universal Desingn of Learning (UDL)</b>	buc	1783,93	1	1783,93
	<b>Text Aloud 4 Text to speech software with hilighting whilst reading, incudes Russian and Romanian voice</b>	buc	1665	1	1665,00
	<b>Maths 1 Romanian Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.</b>	buc	1189,29	1	1189,29
	<b>Mind Express4 AAC Alternative, Augumentative Communication software, for Education and Communication</b>	buc	2293,62	1	2293,62

	<b>iCSPEECH Standard Edition</b> Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian	buc	3482,91	1	3482,91
	<b>iCSPEECH Comparing Software for recording and comparing voice and speech in both languages Ramanian and Russian</b>	buc	1104,34	1	1104,34
	<b>IWRITITE prediction, Romanian</b> Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.	buc	1189,26	1	1189,26
	Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen,licens with dongle, (ZoomText, Magnifier/Reader)	buc	6544,08	1	6544,08
	Software to develop language activities in Romanian and Russian language (Clicker7)	buc	5174,35	1	5174,35
	Primary school Social skils software, Romanian language (On the Road with Safety)	buc	1319,95	1	1319,95
	Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons) Item 6 includes item 5 as well	buc	1149,74	1	1149,74
	Mind Mapping software, with a library of pictures and possibility to make mind maps for sinior children Inspiration 10.	buc	1149,74	1	1149,74

	<b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, spelling and phonology, auditory discrimination, visual discrimination etc.	buc	789,44	1	789,44
	<b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.	buc	743,66	1	743,66
	<b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.	buc	2662,52	1	2662,52
	<b>Chatter Block (item 4)</b> Dice (talking), for young children.	set	423,57	1	423,57
	<b>Attention Training Software (sent digitally) (item 5)</b> Attention Training set.	set	967,37	1	967,37
	<b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).	buc	1495,8	2	2991,60
	<b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special codes/labels, set of about 400 self-sticking codes, (5% deviation +/-)	set	396,62	2	793,24
	<b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)	buc	486,8	2	973,60

	Romanian Words Magnet Set (item 10) Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	4	3493,60
	Russian Words Magnet Set (item 10) Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	1	873,40
	Romanian Letters of the Alphabet Magnet set (item 11) Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	1	896,03
	Keeping up with Cheetah Romanian/English book Carte tinand pasul cu ghepardul romana/engleza	buc	267,75	1	267,75
	AAA alkaline batteries NOT RESTRICTED AS PER 123	buc	6,9	6	41,40
	AA alkaline batteries NOT RESTRICTED AS PER 123	buc	5,83	3	17,49
	9v batteries NOT RESTRICTED AS PER 123	buc	5,83	1	5,83
	MOLDOVA BOX AND HANDLES	buc	17,5	1	17,50
	Start arrows for Items 10-12	buc	1	2	2,00
	FM Hearing Aids for students, to be used in the classroom and the Resource Room PHONAK BOLERO V30 P PHONAK ROGER MyLink	buc	11619,89	1	11619,89
	PHONAK ROGER TouchScreen Mic FM transmitter for the Teacher, who teaches hearing impaired students.	buc	11827,15	1	11827,15

	<p>First Aid kit Hearing Aids PHONAK Cleaning and Care Kit ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer-1pcs.; Phonak Cleasing beaker(dryng tub)-1 pcs.; Set of3 cleaning tools-1pcs.; Nattery13*H ZINC/AIR-1pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:</p>	buc	773,92	1	773,92
	<p>Monster 2 High Visibility RO Keyboard KYB-MON2VIS-UCUH Accuratus Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&amp;2 Port USB Hub, with stikers in Romanian language</p>	buc	842,75	1	842,75
	<p><b>BigKeys LX gwerty Upper Case Black on White RO Ablenet BigKeys LX QWERTY Keyboard-Romanian language</b></p>	buc	2814,63	1	2814,63
	<p><b>Keyboard Gembird KB-U-103-RU Standard Black/RO KB-U-103-RU Gembird with self-sticking plastic labels, small and caps letters, in Romanian language</b></p>	set	134,74	3	404,22
	<p><b>BigKeys LX Keyguard PROSOPSIS</b> <b>Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard</b> <b>Fits perfectly with the BigKeys Lx Keyboard</b> <b>Plexiglass thickness minimum 3mm</b></p>	buc	1535,26	1	1535,26

	<b>AbleNet Quick Talker 7</b>	<b>buc</b>	2561,34	1	2561,34
	<b>AbleNet Quick Talker 12</b>	<b>buc</b>	2840,66	1	2840,66
	<b>AbleNet Quick Talker 23</b>	<b>buc</b>	3095,84	1	3095,84
	<b>TTS Chatter Board LI 10193</b>	<b>buc</b>	490,04	1	490,04
	<b>Praetorian Optima Joystick SKU:OPMAJ</b>	<b>buc</b>	3725,62	1	3725,62
	<b>AbleNet BIGtrack 2</b>	<b>buc</b>	1675,34	1	1675,34
	<b>Pretorian Smoothie 125</b>	<b>buc</b>	665,28	1	665,28
	<b>Pretorian Smoothie 75</b>	<b>buc</b>	665,28	1	665,28
	<b>Pretorian SIMPLYWORS SEND-6</b>	<b>buc</b>	1841,73	1	1841,73
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	1	14893,06
	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	1	1626,67
	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	1	11761,52
	A portable HD Video magnifier tablet, with at least 10 inches screen	buc	18888,64	1	18888,64

	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1 pack *Folii laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059	1	2059,00
	Cloured Magnetic Number Frames 80pcs	set	1334,77	1	1334,77
	Bee-Bot Programmes Floor Robot	buc	1265,19	1	1265,19
	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	2	1192,89
	Bee-Bot Countryside Mat	buc	596,45	1	596,45
	BEE-Bot Shapes, Colour and Size Mat	buc	596,45	1	596,45
	Easi-Tomer	buc	596,45	1	596,45
	Mixed Colours Reading Ruler 10pk	buc	271,11	2	542,22
	Coloured Eye Level Reading Ruler 10pk	set	298,22	1	298,22
	GET a Grip Pencil Grips	set	976,00	1	976,00
	Development Pensil Grips	set	271,11	1	271,11

		Romanian Letters of the Alphabet Magnet set (item 11) Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language	set	896,03	1	896,03
		KB-U-103-RU Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	1	134,74
		<b>Total</b>			<b>86</b>	<b>191062,77</b>
20	Ialoveni	<b>Tablet</b> <b>Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB:</i> <i>10.1 Carrying case</i>	buc	8139,33	6	48835,98
		<b>DLP Data Video Projector</b> <b>Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS- 232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling</i> <i>Mount: Cable HDMI to HDMI 4.5m:</i> <i>Power Cord Cable Extension High quality:</i>	buc	7166,15	2	14332,30
		<b>Laptop</b> <b>15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case	buc	5968,31	2	11936,62

	<b>Colored MFD CANON MAXFY MB5140</b> <i>Additional Dual Resistant High Density 4 ink tanks (Black, Cyan, Magenta, Yellow)/ PGI-2400XL BK/PGI-2400XL: Cable USB2.0-Am-Vm, 1.8m, A-plug B-plug, Black:</i>	buc	4195,76	2	8391,52
	<b>Read ABCD Romanian</b> Phonology and Reading Mixed type software (step by step reading) in Romanian Language with Universal Desingn of Learning (UDL)	buc	1783,93	2	3567,86
	<b>Text Aloud 4</b> Text to speech software with hilighting whilst reading, includes Russian and Romanian voice	buc	1665	2	3330,00
	<b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.	buc	1189,29	2	2378,58
	<b>Mind Express4 AAC Alternative, Augumentative Communication software, for Education and Communication</b>	buc	2293,62	2	4587,24
	<b>iCSPEECH Standard Edition</b> Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian	buc	3482,91	2	6965,82
	<b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian	buc	1104,34	2	2208,68

	<p><b>IWRTITE prediction, Romanian</b> Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.</p>	buc	1189,26	2	2378,52
	<p>Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen,licens with dongle, <b>(ZoomText, Magnifier/Reader)</b></p>	buc	6544,08	2	13088,16
	<p>Software to develop language activities in Romanian and Russian language <b>(Clicker7)</b></p>	buc	5174,35	2	10348,70
	<p>Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b></p>	buc	1319,95	2	2639,90
	<p>Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons) <b>Item 6 includes item 5 as well</b></p>	buc	1149,74	2	2299,48
	<p>Mind Mapping software, with a library of pictures and possibility to make mind maps for sinior children <b>Inspiration 10.</b></p>	buc	1149,74	2	2299,48

	<p><b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, spelling and phonology, auditory discrimination, visual discrimination etc.</p> <p><b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.</p> <p><b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.</p> <p><b>Chater Block (item 4)</b> Dice (talking), for young children.</p> <p><b>Attention Training Software (sent digitally) (item 5)</b> Attention Training set.</p> <p><b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).</p> <p><b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special codes/labels, set of about 400 self-sticking codes, (5% deviation +/-)</p>	buc	789,44	2	1578,88
		buc	743,66	2	1487,32
		buc	2662,52	2	5325,04
		set	423,57	2	847,14
		set	967,37	2	1934,74
		buc	1495,8	4	5983,20
		set	396,62	4	1586,48

	<b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)	buc	486,8	4	1947,20
	<b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	8	6987,20
	<b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	2	1746,80
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	2	1792,06
	<b>Keeping up with Cheetah Romanian/English book</b> Carte tinand pasul cu ghepardul romana/engleza	buc	267,75	2	535,50
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,9	12	82,80
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	6	34,98
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	2	11,66
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,5	2	35,00
	<b>Start arrows for Items 10-12</b>	buc	1	4	4,00
	FM Hearing Aids for students, to be used in the classroom and the Resource Room <b>PHONAK BOLERO V30 P PHONAK ROGER MyLink</b>	buc	11619,89	2	23239,78

	<b>PHONAK ROGER TouchScreen Mic</b> FM transmiter for the Teacher, who teaches hearing impaired students.	buc	11827,15	2	23654,30
	First Aid kit Hearing Aids <b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer-1pcs.; Phonak Cleasing beaker(dryng tub)-1 pcs.; Set of3 cleaning tools-1pcs.; Nattery13*H ZINC/AIR-1pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:	buc	773,92	2	1547,84
	<b>Monster 2 High Visibility RO Keyboard</b> KYB-MON2VIS-UCUH Accuratus Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&2 Port USB Hub, with stikers in Romanian language	buc	842,75	2	1685,50
	<b>BigKeys LX gwerty Upper Case Black on White RO</b> Ablenet BigKeys LX QWERTY Keyboard-Romanian language	buc	2814,63	2	5629,26
	<b>Keyboard Gembird KB-U-103-RU Standard Black/RO</b> KB-U-103-RU Gembird with self-sticking plastic labels, small and caps letters, in Romanian language	set	134,74	6	808,44

	<b>BigKeys LX Keyguard PROSOPSIS</b> Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	2	3070,52
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	2	5122,68
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	2	5681,32
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	2	6191,68
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	2	980,08
	<b>Praetorian Optima Joystick SKU:OPMAJ</b>	buc	3725,62	2	7451,24
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	2	3350,68
	<b>Pretorian Smoothie 125</b>	buc	665,28	2	1330,56
	<b>Pretorian Smoothie 75</b>	buc	665,28	2	1330,56
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	2	3683,46
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	2	29786,12
	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	2	3253,34

	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	2	23523,04
	A portable HD Video magnifier tablet, with at least 10 inches screen	buc	18888,64	2	37777,28
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Folii laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059	2	4118,00
	Cloured Magnetic Number Frames 80pcs	set	1334,77	2	2669,54
	Bee-Bot Programmes Floor Robot	buc	1265,19	2	2530,37
	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	4	2385,78
	Bee-Bot Countryside Mat	buc	596,45	2	1192,89
	BEE-Bot Shapes, Colour and Size Mat	buc	596,45	2	1192,89
	Easi-Tomer	buc	596,45	2	1192,89
	Mixed Colours Reading Ruler 10pk	buc	271,11	4	1084,45
	Coloured Eye Level Reading Ruler 10pk	set	298,22	2	596,45
	GET a Grip Pencil Grips	set	976,00	2	1952,00
	Development Pensil Grips	set	271,11	2	542,22

		<b>Romanian Letters of the Alphabet</b> <b>Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language	set	896,03	2	1792,06
		<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	2	269,48
		<b>Total</b>			<b>172</b>	<b>382125,55</b>
21	Leova	<b>Tablet Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB:</i> <i>10.1 Carrying case</i>	buc	8139,33	12	97671,96
		<b>DLP Data Video Projector Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS-232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling Mount: Cable HDMI to HDMI 4.5m: Power Cord Cable Extension High quality:</i>	buc	7166,15	4	28664,6
		<b>Laptop 15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case	buc	5968,31	4	23873,24

	<b>Colored MFD CANON MAXFY MB5140</b> <i>Additional Dual Resistant High Density 4 ink tanks (Black, Cyan, Magenta, Yellow)/ PGI-2400XL BK/PGI-2400XL: Cable USB2.0-Am-Vm, 1.8m, A-plug B-plug, Black:</i>	buc	4195,76	4	16783,04
	<b>Read ABCD Romanian</b> Phonology and Reading Mixed type software (step by step reading) in Romanian Language with Universal Desingn of Learning (UDL)	buc	1783,93	4	7135,72
	<b>Text Aloud 4</b> Text to speech software with hilighting whilst reading, includes Russian and Romanian voice	buc	1665	4	6660
	<b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.	buc	1189,29	4	4757,16
	<b>Mind Express4 AAC Alternative, Augumentative Communication software, for Education and Communication</b>	buc	2293,62	4	9174,48
	<b>iCSPEECH Standard Edition</b> Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian	buc	3482,91	4	13931,64
	<b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian	buc	1104,34	4	4417,36

	<p><b>IWRTITE prediction, Romanian</b>            Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.</p>	buc	1189,26	4	4757,04
	<p>Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen,licens with dongle, <b>(ZoomText, Magnifier/Reader)</b></p>	buc	6544,08	4	26176,32
	<p>Software to develop language activities in Romanian and Russian language <b>(Clicker7)</b></p>	buc	5174,35	4	20697,4
	<p>Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b></p>	buc	1319,95	4	5279,8
	<p>Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons)  <b>Item 6 includes item 5 as well</b></p>	buc	1149,74	4	4598,96
	<p>Mind Mapping software, with a library of pictures and possibility to make mind maps for sinior children <b>Inspiration 10.</b></p>	buc	1149,74	4	4598,96

	<p><b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, spelling and phonology, auditory discrimination, visual discrimination etc.</p> <p><b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.</p> <p><b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.</p> <p><b>Chater Block (item 4)</b> Dice (talking), for young children.</p> <p><b>Attention Training Software (sent digitally) (item 5)</b> Attention Training set.</p> <p><b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).</p> <p><b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special codes/labels, set of about 400 self-sticking codes, (5% deviation +/-)</p>	buc	789,44	4	3157,76

	<b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)	buc	486,8	8	3894,4
	<b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	16	13974,4
	<b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	4	3493,6
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	4	3584,12
	<b>Keeping up with Cheetah Romanian/English book</b> Carte tinand pasul cu ghepardul romana/engleza	buc	267,75	4	1071
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,9	24	165,6
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	12	69,96
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	4	23,32
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,5	4	70
	<b>Start arrows for Items 10-12</b>	buc	1	8	8
	FM Hearing Aids for students, to be used in the classroom and the Resource Room <b>PHONAK BOLERO V30 P PHONAK ROGER MyLink</b>	buc	11619,89	4	46479,56

	<b>PHONAK ROGER TouchScreen Mic</b> FM transmiter for the Teacher, who teaches hearing impaired students.	buc	11827,15	4	47308,6
	First Aid kit Hearing Aids <b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer-1pcs.; Phonak Cleasing beaker(dryng tub)-1 pcs.; Set of3 cleaning tools-1pcs.; Nattery13*H ZINC/AIR-1pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:	buc	773,92	4	3095,68
	<b>Monster 2 High Visibility RO Keyboard</b> KYB-MON2VIS-UCUH Accuratus Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&2 Port USB Hub, with stikers in Romanian language	buc	842,75	4	3371
	<b>BigKeys LX gwerty Upper Case Black on White RO</b> Ablenet BigKeys LX QWERTY Keyboard-Romanian language	buc	2814,63	4	11258,52
	<b>Keyboard Gembird KB-U-103-RU Standard Black/RO</b> KB-U-103-RU Gembird with self-sticking plastic labels, small and caps letters, in Romanian language	set	134,74	12	1616,88

	<b>BigKeys LX Keyguard PROSOPSIS</b> Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	4	6141,04
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	4	10245,36
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	4	11362,64
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	4	12383,36
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	4	1960,16
	<b>Praetorian Optima Joystick</b> <b>SKU:OPMAJ</b>	buc	3725,62	4	14902,48
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	4	6701,36
	<b>Pretorian Smoothie 125</b>	buc	665,28	4	2661,12
	<b>Pretorian Smoothie 75</b>	buc	665,28	4	2661,12
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	4	7366,92
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	4	59572,23
	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	4	6506,68

	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	4	47046,08
	A portable HD Video magnifier tablet, with at least 10 inches screen	buc	18888,64	4	75554,56
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Folii laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059	4	8236
	Cloured Magnetic Number Frames 80pcs	set	1334,77	4	5339,09
	Bee-Bot Programmes Floor Robot	buc	1265,19	4	5060,75
	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	8	4771,56
	Bee-Bot Countryside Mat	buc	596,45	4	2385,78
	BEE-Bot Shapes, Colour and Size Mat	buc	596,45	4	2385,78
	Easi-Tomer	buc	596,45	4	2385,78
	Mixed Colours Reading Ruler 10pk	buc	271,11	8	2168,89
	Coloured Eye Level Reading Ruler 10pk	set	298,22	4	1192,89
	GET a Grip Pencil Grips	set	976,00	4	3904,01
	Development Pensil Grips	set	271,11	4	1084,446

		<b>Romanian Letters of the Alphabet</b> <b>Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language	set	896,03	4	3584,12
		<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	4	538,96
		<b>Total</b>			<b>344</b>	<b>764251,09</b>
22	Nisporeni	<b>Tablet Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB:</i> <i>10.1 Carrying case</i>	buc	8139,33	12	97671,96
		<b>DLP Data Video Projector Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS-232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling Mount: Cable HDMI to HDMI 4.5m: Power Cord Cable Extension High quality:</i>	buc	7166,15	4	28664,60
		<b>Laptop 15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case	buc	5968,31	4	23873,24

	<p><b>Colored MFD CANON MAXFY MB5140</b>  <i>Additional Dual Resistant High Density 4 ink tanks (Black, Cyan, Magenta, Yellow)/ PGI-2400XL BK/PGI-2400XL: Cable USB2.0-Am-Vm, 1.8m, A-plug B-plug, Black:</i></p>	buc	4195,76	4	16783,04
	<p><b>Read ABCD Romanian</b> Phonology and Reading Mixed type software (step by step reading) in Romanian Language with Universal Desingn of Learning (UDL)</p>	buc	1783,93	4	7135,72
	<p><b>Text Aloud 4</b> Text to speech software with hilighting whilst reading, includes Russian and Romanian voice</p>	buc	1665	4	6660,00
	<p><b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.</p>	buc	1189,29	4	4757,16
	<p><b>Mind Express4 AAC Alternative, Augumentative Communication software, for Education and Communication</b></p>	buc	2293,62	4	9174,48
	<p><b>iCSPEECH Standard Edition</b>  Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian</p>	buc	3482,91	4	13931,64
	<p><b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian</p>	buc	1104,34	4	4417,36

	<p><b>IWRTITE prediction, Romanian</b>            Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.</p>	buc	1189,26	4	4757,04
	<p>Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen,licens with dongle, <b>(ZoomText, Magnifier/Reader)</b></p>	buc	6544,08	4	26176,32
	<p>Software to develop language activities in Romanian and Russian language <b>(Clicker7)</b></p>	buc	5174,35	4	20697,40
	<p>Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b></p>	buc	1319,95	4	5279,80
	<p>Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons)</p>	buc	1149,74	4	4598,96
	<p><b>Item 6 includes item 5 as well</b></p>				
	<p>Mind Mapping software, with a library of pictures and possibility to make mind maps for sinior children <b>Inspiration 10.</b></p>	buc	1149,74	4	4598,96

	<p><b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, spelling and phonology, auditory discrimination, visual discrimination etc.</p> <p><b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.</p> <p><b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.</p> <p><b>Chater Block (item 4)</b> Dice (talking), for young children.</p> <p><b>Attention Training Software (sent digitally) (item 5)</b> Attention Training set.</p> <p><b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).</p> <p><b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special codes/labels, set of about 400 self-sticking codes, (5% deviation +/-)</p>	buc	789,44	4	3157,76
		buc	743,66	4	2974,64
		buc	2662,52	4	10650,08
		set	423,57	4	1694,28
		set	967,37	4	3869,48
		buc	1495,8	8	11966,40
		set	396,62	8	3172,96

	<b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)	buc	486,8	8	3894,40
	<b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	16	13974,40
	<b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	4	3493,60
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	4	3584,12
	<b>Keeping up with Cheetah Romanian/English book</b>	buc	267,75	4	1071,00
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,9	24	165,60
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	12	69,96
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	4	23,32
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,5	4	70,00
	<b>Start arrows for Items 10-12</b>	buc	1	8	8,00
	FM Hearing Aids for students, to be used in the classroom and the Resource Room <b>PHONAK BOLERO V30 P PHONAK ROGER MyLink</b>	buc	11619,89	4	46479,56

	<b>PHONAK ROGER TouchScreen Mic</b> FM transmiter for the Teacher, who teaches hearing impaired students.	buc	11827,15	4	47308,60
	First Aid kit Hearing Aids <b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer-1pcs.; Phonak Cleasing beaker(dryng tub)-1 pcs.; Set of3 cleaning tools-1pcs.; Nattery13*H ZINC/AIR-1pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:	buc	773,92	4	3095,68
	<b>Monster 2 High Visibility RO Keyboard</b> KYB-MON2VIS-UCUH Accuratus Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&2 Port USB Hub, with stikers in Romanian language	buc	842,75	4	3371,00
	<b>BigKeys LX gwerty Upper Case Black on White RO</b> Ablenet BigKeys LX QWERTY Keyboard-Romanian language	buc	2814,63	4	11258,52
	<b>Keyboard Gembird KB-U-103-RU Standard Black/RO</b> KB-U-103-RU Gembird with self-sticking plastic labels, small and caps letters, in Romanian language	set	134,74	12	1616,88

	<b>BigKeys LX Keyguard PROSOPSIS</b> Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	4	6141,04
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	4	10245,36
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	4	11362,64
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	4	12383,36
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	4	1960,16
	<b>Praetorian Optima Joystick</b> <b>SKU:OPMAJ</b>	buc	3725,62	4	14902,48
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	4	6701,36
	<b>Pretorian Smoothie 125</b>	buc	665,28	4	2661,12
	<b>Pretorian Smoothie 75</b>	buc	665,28	4	2661,12
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	4	7366,92
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	4	59572,23
	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	4	6506,68

	HD Handheld digital text magnifier, Eye pad 7 inches A portable HD Video magnifier tablet, with at least 10 inches Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Folii laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi) Cloured Magnetic Number Frames 80pcs Bee-Bot Programmes Floor Robot Bee-Bot Transparent Grid Mat 8x8 Bee-Bot Countryside Mat BEE-Bot Shapes, Colour and Size Mat Easi-Tomer Mixed Colours Reading Ruler 10pk Coloured Eye Level Reading Ruler 10pk	buc	11761,52 18888,64 2059 1334,77 1265,19 596,45 596,45 596,45 596,45 271,11 298,22	4 4 4 4 4 8 4 4 4 8 4	47046,08 75554,56 8236,00 5339,09 5060,75 4771,56 2385,78 2385,78 2385,78 2168,89 1192,89
--	--	-----	--	---	---

		GET a Grip Pencil Grips	set	976,00	4	3904,01
		Development Pensil Grips	set	271,11	4	1084,45
		<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language	set	896,03	4	3584,12
		<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	4	538,96
		<b>Total</b>			<b>344</b>	<b>764251,09</b>
23	Ocnita	<b>Tablet Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB:</i> <i>10.1 Carrying case</i>	buc	8139,33	3	24417,99
		<b>DLP Data Video Projector Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS-232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling</i>	buc	7166,15	1	7166,15

	Mount: <i>Cable HDMI to HDMI 4.5m: Power Cord Cable Extension High quality:</i>				
	<b>Laptop 15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case	buc	5968,31	1	5968,31
	<b>Colored MFD CANON MAXFY MB5140</b> <i>Additional Dual Resistant High Density 4 ink tanks (Black, Cyan, Magenta, Yellow)/ PGI-2400XL BK/PGI-2400XL: Cable USB2.0-Am-Vm, 1.8m, A-plug B-plug, Black:</i>	buc	4195,76	1	4195,76
	<b>Read ABCD Romanian</b> Phonology and Reading Mixed type software (step by step reading) in Romanian Language with Universal Desingn of Learning (UDL)	buc	1783,93	1	1783,93
	<b>Text Aloud 4</b> Text to speech software with hilighting whilst reading, includes Russian and Romanian voice	buc	1665	1	1665,00
	<b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.	buc	1189,29	1	1189,29
	<b>Mind Express4 AAC Alternative, Augumentative Communication software, for Education and Communication</b>	buc	2293,62	1	2293,62

	<p><b>iCSPEECH Standard Edition</b>            Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian</p>	buc	3482,91	1	3482,91
	<p><b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian</p>	buc	1104,34	1	1104,34
	<p><b>IWRITITE prediction, Romanian</b>            Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.</p>	buc	1189,26	1	1189,26
	<p>Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen,licens with dongle, <b>(ZoomText, Magnifier/Reader)</b></p>	buc	6544,08	1	6544,08
	<p>Software to develop language activities in Romanian and Russian language <b>(Clicker7)</b></p>	buc	5174,35	1	5174,35
	<p>Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b></p>	buc	1319,95	1	1319,95

	Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons) <b>Item 6 includes item 5 as well</b>	buc	1149,74	1	1149,74
	Mind Mapping software, with a library of pictures and possibility to make mind maps for senior children <b>Inspiration 10.</b>	buc	1149,74	1	1149,74
	<b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, spelling and phonology, auditory discrimination, visual discrimination etc.	buc	789,44	1	789,44
	<b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.	buc	743,66	1	743,66
	<b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.	buc	2662,52	1	2662,52
	<b>Chater Block (item 4)</b> Dice (talking), for young children.	set	423,57	1	423,57

	<p><b>Attention Training Software (sent digitally) (item 5)</b> Attention Training set.</p> <p><b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).</p> <p><b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special cades/labels, set of about 400 self-sticking codes, (5% deviation +/-)</p> <p><b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)</p> <p><b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100</p> <p><b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100</p> <p><b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.</p>	set	967,37	1	967,37
		buc	1495,8	2	2991,60
		set	396,62	2	793,24
		buc	486,8	2	973,60
		set	873,4	4	3493,60
		set	873,4	1	873,40
		set	896,03	1	896,03

	<b>Keeping up with Cheetah Romanian/English book</b>	buc	267,75	1	267,75
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,9	6	41,40
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	3	17,49
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	1	5,83
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,5	1	17,50
	<b>Start arrows for Intems 10-12 (Sageti)</b>	buc	1	2	2,00
	FM Hearing Aids for students, to be user in the classroom and the Resourcse Room <b>PHONAK BOLERO V30 P PHONAK ROGER MyLink</b>	buc	11619,89	1	11619,89
	<b>PHONAK ROGER TouchScreen Mic</b> FM transmiter for the Teacher, who teaches hearing impaired students.	buc	11827,15	1	11827,15
	First Aid kit Hearing Aids <b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer- 1pcs.; Phonak Cleasing beaker(dryng tub)- 1 pcs.; Set of3 cleaning tools-1pcs.; Nattery13*H ZINC/AIR-1pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:	buc	773,92	1	773,92

	<b>Monster 2 High Visibility RO Keyboard</b> KYB-MON2VIS-UCUH Accuratus Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&2 Port USB Hub, with stickers in Romanian language	buc	842,75	1	842,75
	<b>BigKeys LX gwerly Upper Case Black on White RO</b> AbleNet BigKeys LX QWERTY Keyboard-Romanian language	buc	2814,63	1	2814,63
	<b>Keyboard Gembird KB-U-103-RU Standard Black/RO</b> KB-U-103-RU Gembird with self-sticking plastic labels, small and caps letters, in Romanian language	set	134,74	3	404,22
	<b>BigKeys LX Keyguard</b> PROSOPSIS Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	1	1535,26
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	1	2561,34
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	1	2840,66
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	1	3095,84
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	1	490,04

	<b>Praetorian Optima Joystick SKU:OPMAJ</b>	buc	3725,62	1	3725,62
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	1	1675,34
	<b>Pretorian Smoothie 125</b>	buc	665,28	1	665,28
	<b>Pretorian Smoothie 75</b>	buc	665,28	1	665,28
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	1	1841,73
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	1	14893,06
	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	1	1626,67
	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	1	11761,52
	A portable HD Video magnifier tablet, with at least 10 inches screen	buc	18888,64	1	18888,64
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Foi laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059	1	2059,00
	Cloured Magnetic Number Frames 80pcs	set	1334,77	1	1334,77
	Bee-Bot Programmes Floor Robot	buc	1265,19	1	1265,19
	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	2	1192,89
	Bee-Bot Countryside Mat	buc	596,45	1	596,45

		BEE-Bot Shapes, Colour and Size Mat	buc	596,45	1	596,45
		Easi-Tomer	buc	596,45	1	596,45
		Mixed Colours Reading Ruler 10pk	buc	271,11	2	542,22
		Coloured Eye Level Reading Ruler 10pk	set	298,22	1	298,22
		GET a Grip Pencil Grips	set	976,00	1	976,00
		Development Pensil Grips	set	271,11	1	271,11
		<b>Romanian Letters of the Alphabet</b> <b>Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language	set	896,03	1	896,03
		<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	1	134,74
		<b>Total</b>			<b>86</b>	<b>191062,77</b>
24	Orhei	<b>Tablet Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB:</i> <i>10.1 Carrying case</i>	buc	8139,33	6	48835,98

	<b>DLP Data Video Projector Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS- 232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling Mount: Cable HDMI to HDMI 4.5m: Power Cord Cable Extension High quality:</i>	buc	7166,15	2	14332,30
	<b>Laptop 15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case	buc	5968,31	2	11936,62
	<b>Colored MFD CANON MAXFY MB5140</b> <i>Additional Dual Resistant High Density 4 ink tanks (Black, Cyan, Magenta, Yellow)/ PGI- 2400XL BK/PGI-2400XL: Cable USB2.0-Am- Vm, 1.8m, A-plug B-plug, Black:</i>	buc	4195,76	2	8391,52
	<b>Read ABCD Romanian</b> Phonology and Reading Mixed type software (step by step reading) in Romanian Language with Universal Desingn of Learning (UDL)	buc	1783,93	2	3567,86
	<b>Text Aloud 4</b> Text to speech software with hilighting whilst reading, includes Russian and Romanian voice	buc	1665	2	3330,00
	<b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.	buc	1189,29	2	2378,58
	<b>Mind Express4 AAC Alternative,</b> Augumentative Communication software, for Education and Communication	buc	2293,62	2	4587,24

	<p><b>iCSPEECH Standard Edition</b>            Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian</p>	buc	3482,91	2	6965,82
	<p><b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian</p>	buc	1104,34	2	2208,68
	<p><b>IWRITITE prediction, Romanian</b>            Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.</p>	buc	1189,26	2	2378,52
	<p>Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen,licens with dongle, <b>(ZoomText, Magnifier/Reader)</b></p>	buc	6544,08	2	13088,16
	<p>Software to develop language activities in Romanian and Russian language <b>(Clicker7)</b></p>	buc	5174,35	2	10348,70
	<p>Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b></p>	buc	1319,95	2	2639,90

	Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons) <b>Item 6 includes item 5 as well</b>	buc	1149,74	2	2299,48
	Mind Mapping software, with a library of pictures and possibility to make mind maps for senior children <b>Inspiration 10.</b>	buc	1149,74	2	2299,48
	<b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, spelling and phonology, auditory discrimination, visual discrimination etc.	buc	789,44	2	1578,88
	<b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.	buc	743,66	2	1487,32
	<b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.	buc	2662,52	2	5325,04
	<b>Chater Block (item 4)</b> Dice (talking), for young children.	set	423,57	2	847,14

	<b>Attention Training Software (sent digitally) (item 5)</b> Attention Training set.	buc	967,37	2	1934,74
	<b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).	buc	1495,8	4	5983,20
	<b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special cades/labels, set of about 400 self-sticking codes, (5% deviation +/-)	set	396,62	4	1586,48
	<b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)	buc	486,8	4	1947,20
	<b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	8	6987,20
	<b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	2	1746,80
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	2	1792,06
	<b>Keeping up with Cheetah Romanian/English book</b> Carte tinand pasul cu ghepardul romana/engleza	buc	267,75	2	535,50
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,9	12	82,80

	<p><b>AA alkaline batteries NOT RESTRICTED AS PER 123</b></p> <p><b>9v batteries NOT RESTRICTED AS PER 123</b></p> <p><b>MOLDOVA BOX AND HANDLES</b></p> <p><b>Start arrows for Intems 10-12</b></p> <p>FM Hearing Aids for students, to be user in the classroom and the Resourcse Room  <b>PHONAK BOLERO V30 P PHONAK</b>  <b>ROGER MyLink</b></p> <p><b>PHONAK ROGER TouchScreen Mic</b>  FM transmiter for the Teacher, who teaches hearing impaired students.</p> <p>First Aid kit Hearing Aids  <b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer-1pcs.; Phonak Cleasing beaker(dryng tub)-1 pcs.; Set of3 cleaning tools-1pcs.; Nattery13*H ZINC/AIR-1pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:</p> <p><b>Monster 2 High Visibility RO Keyboard</b>  KYB-MON2VIS-UCUH Accuratus  Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&amp;2 Port USB Hub, with stikers in Romanian language</p>	buc	5,83	6	34,98
		buc	5,83	2	11,66
		buc	17,5	2	35,00
		buc	1	4	4,00
		buc	11619,89	2	23239,78
		buc	11827,15	2	23654,30
		buc	773,92	2	1547,84
		buc	842,75	2	1685,50

	<b>BigKeys LX gwerty Upper Case Black on White RO</b> Ablenet BigKeys LX QWERTY Keyboard-Romanian language	buc	2814,63	2	5629,26
	<b>Keyboard Gembird KB-U-103-RU Standard Black/RO</b> KB-U-103-RU Gembird with self-sticking plastic labels, small and caps letters, in Romanian language	set	134,74	6	808,44
	<b>BigKeys LX Keyguard</b> PROSOPSIS Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	2	3070,52
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	2	5122,68
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	2	5681,32
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	2	6191,68
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	2	980,08
	<b>Praetorian Optima Joystick SKU:OPMAJ</b>	buc	3725,62	2	7451,24
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	2	3350,68
	<b>Pretorian Smoothie 125</b>	buc	665,28	2	1330,56
	<b>Pretorian Smoothie 75</b>	buc	665,28	2	1330,56

	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	2	3683,46
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	2	29786,12
	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	2	3253,34
	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	2	23523,04
	A portable HD Video magnifier tablet, with at least 10 inches screen	buc	18888,64	2	37777,28
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Foi laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059	2	4118,00
	Cloured Magnetic Number Frames 80pcs	set	1334,77	2	2669,54
	Bee-Bot Programmes Floor Robot	buc	1265,19	2	2530,37
	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	4	2385,78
	Bee-Bot Countryside Mat	buc	596,45	2	1192,89
	BEE-Bot Shapes, Colour and Size Mat	buc	596,45	2	1192,89
	Easi-Tomer	buc	596,45	2	1192,89

		Mixed Colours Reading Ruler 10pk	buc	271,11	4	1084,45
		Coloured Eye Level Reading Ruler 10pk	set	298,22	2	596,45
		GET a Grip Pencil Grips	set	976,00	2	1952,00
		Development Pensil Grips	set	271,11	2	542,22
		<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language	set	896,03	2	1792,06
		<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	2	269,48
		<b>Total</b>			<b>172</b>	<b>382125,55</b>
25	Rezina	<b>Tablet Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter: Wireless, Silent Optical Mouse, 2.4GHz, USB: 10.1 Carrying case</i>	buc	8139,33	6	48835,98

	<b>DLP Data Video Projector Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS- 232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling Mount: Cable HDMI to HDMI 4.5m: Power Cord Cable Extension High quality:</i>	buc	7166,15	2	14332,30
	<b>Laptop 15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case	buc	5968,31	2	11936,62
	<b>Colored MFD CANON MAXFY MB5140</b> <i>Additional Dual Resistant High Density 4 ink tanks (Black, Cyan, Magenta, Yellow)/ PGI- 2400XL BK/PGI-2400XL: Cable USB2.0-Am- Vm, 1.8m, A-plug B-plug, Black:</i>	buc	4195,76	2	8391,52
	<b>Read ABCD Romanian</b> Phonology and Reading Mixed type software (step by step reading) in Romanian Language with Universal Desingn of Learning (UDL)	buc	1783,93	1	1783,93
	<b>Read ABCD Russian</b> Phonology and Reading Mixed type software (step by step reading) in Russian Language with Universal Desingn of Learning (UDL)	buc	2123,72	1	2123,72
	<b>Text Aloud 4</b> Text to speech software with hilighting whilst reading, includes Russian and Romanian voice	buc	1665	2	3330,00
	<b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.	buc	1189,29	1	1189,29

	<b>Maths 1 Russian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Russian language.	buc	1274,23	1	1274,23
	<b>Mind Express4 AAC Alternative, Augumentative Communication software, for Education and Communication</b>	buc	2293,62	2	4587,24
	<b>iCSPEECH Standard Edition</b> Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian	buc	3482,91	2	6965,82
	<b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian	buc	1104,34	2	2208,68
	<b>IWRITITE prediction, Romanian</b> Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.	buc	1189,26	1	1189,26
	<b>IWRITITE prediction, Russian</b> Prediction software to speedup writing and help also with spell checking, for Russian language. To predict words.	buc	1274,26	1	1274,26
	Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen,licens with dongle, <b>(ZoomText, Magnifier/Reader)</b>	buc	6544,08	2	13088,16

	Software to develop language activities in Romanian and Russian language <b>Clicker7)</b>	buc	5174,35	2	10348,70
	Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b>	buc	1319,95	1	1319,95
	Primary school Social skils software, Russian language <b>(On the Road with Safety)</b>	buc	1496,22	1	1496,22
	Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons) <b>Item 6 includes item 5 as well</b>	buc	1149,74	2	2299,48
	Mind Mapping software, with a library of pictures and possibility to make mind maps for sinior children <b>Inspiration 10.</b>	buc	1149,74	2	2299,48
	<b>Recordable Talking Wall Panel Story Sequencer (intem 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, ppelling and phonology, auditory discrimination, vizual discrimination etc.	buc	789,44	2	1578,88

	<b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.	buc	743,66	2	1487,32
	<b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.	buc	2662,52	2	5325,04
	<b>Chater Block (item 4)</b> Dice (talking), for young children.	buc	423,57	2	847,14
	<b>Attention Training Software (sent digitally) (item 5)</b> Attention Training set. (Set de formare a atentiei)	buc	967,37	2	1934,74
	<b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels). (Stilou vorbitor care citeste si inregistreaza texte pe coduri speciale autocolante)	buc	1495,8	4	5983,20
	<b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special cades/labels, set of about 400 self-sticking codes, (5% deviation +/-)	set	396,62	4	1586,48
	<b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)	buc	486,8	4	1947,20

	<b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	8	6987,20
	<b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	2	1746,80
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	1	896,03
	<b>Russian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	895,82	1	895,82
	<b>Keeping up with Cheetah Romanian/English book</b>	buc	267,75	2	535,50
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,9	12	82,80
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	6	34,98
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	2	11,66
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,5	2	35,00
	<b>Start arrows for Items 10-12 (Sageti)</b>	buc	1	4	4,00

	FM Hearing Aids for students, to be user in the classroom and the Resourcse Room <b>PHONAK BOLERO V30 P PHONAK</b> ROGER MyLink	buc	11619,89	2	23239,78
	<b>PHONAK ROGER TouchScreen Mic</b> FM transmiter for the Teacher, who teaches hearing impaired students.	buc	11827,15	2	23654,30
	First Aid kit Hearing Aids <b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer-1pcs.; Phonak Cleasing beaker(dryng tub)-1 pcs.; Set of3 cleaning tools-1pcs.; Nattery13*H ZINC/AIR-1pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:	buc	773,92	2	1547,84
	<b>Monster 2 High Visibility RO Keyboard</b> KYB-MON2VIS-UCUH Accuratus Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&2 Port USB Hub, with stikers in Romanian language	buc	842,75	2	1685,50
	<b>BigKeys LX gwerty Upper Case Black on White RO</b> Ablenet BigKeys LX QWERTY Keyboard-Romanian language	buc	2814,63	2	5629,26

	<b>Keyboard Gembird KB-U-103-RU Standard Black/RO KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Romanian language	set	134,74	6	808,44
	<b>BigKeys LX Keyguard PROSOPSIS</b> Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	2	3070,52
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	2	5122,68
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	2	5681,32
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	2	6191,68
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	2	980,08
	<b>Praetorian Optima Joystick SKU:OPMAJ</b>	buc	3725,62	2	7451,24
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	2	3350,68
	<b>Pretorian Smoothie 125</b>	buc	665,28	2	1330,56
	<b>Pretorian Smoothie 75</b>	buc	665,28	2	1330,56
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	2	3683,46
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	2	29786,12

	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	2	3253,34
	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	2	23523,04
	A portable HD Video magnifier tablet, with at least 10 inches screen	buc	18888,64	2	37777,28
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Folii laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059	2	4118,00
	Cloured Magnetic Number Frames 80pcs	set	1334,77	2	2669,54
	Bee-Bot Programes Floor Robot	buc	1265,19	2	2530,37
	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	4	2385,78
	Bee-Bot Countryside Mat	buc	596,45	2	1192,89
	BEE-Bot Shapes, Colour and Size Mat	buc	596,45	2	1192,89
	Easi-Tomer	buc	596,45	2	1192,89
	Mixed Colours Reading Ruler 10pk	buc	271,11	4	1084,45
	Coloured Eye Level Reading Ruler 10pk	set	298,22	2	596,45

		GET a Grip Pencil Grips	set	976,00	2	1952,00
		Development Pensil Grips	set	271,11	2	542,22
		<b>Romanian Letters of the Alphabet</b> <b>Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	2	1792,06
		<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	2	269,48
		<b>Total</b>			<b>172</b>	<b>382811,34</b>
26	Rîșcani	<b>Tablet Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB:</i> <i>10.1 Carrying case</i>	buc	8139,33	3	24417,99
		<b>DLP Data Video Projector Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS-232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling Mount: Cable HDMI to HDMI 4.5m: Power Cord Cable Extension High quality:</i>	buc	7166,15	1	7166,15

	<b>Laptop 15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case	buc	5968,31	1	5968,31
	<b>Colored MFD CANON MAXFY MB5140</b> <i>Additional Dual Resistant High Density 4 ink tanks (Black, Cyan, Magenta, Yellow)/ PGI-2400XL BK/PGI-2400XL: Cable USB2.0-Am-Vm, 1.8m, A-plug B-plug, Black:</i>	buc	4195,76	1	4195,76
	<b>Read ABCD Russian</b> Phonology and Reading Mixed type software (step by step reading) in Russian Language with Universal Desingn of Learning (UDL)	buc	2123,72	1	2123,72
	<b>Text Aloud 4</b> Text to speech software with hilighting whilst reading, includes Russian and Romanian voice (one voice each)	buc	1665	1	1665
	<b>Maths 1 Russian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Russian language.	buc	1274,23	1	1274,23
	<b>Mind Express4 AAC Alternative, Augumentative Communication software, for Education and Communication</b>	buc	2293,62	1	2293,62
	<b>iCSPEECH Standard Edition</b> Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian	buc	3482,91	1	3482,91
	<b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian	buc	1104,34	1	1104,34

	<b>IWRTITE prediction, Russian Prediction</b> software to speedup writing and help also with spell checking, for Russian language. To predict words.	buc	1274,26	1	1274,26
	Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen,licens with dongle, <b>(ZoomText, Magnifier/Reader)</b>	buc	6544,08	1	6544,08
	Software to develop language activities in Romanian and Russian language <b>(Clicker7)</b>	buc	5174,35	1	5174,35
	Primary school Social skils software, Russian language <b>(On the Road with Safety)</b>	buc	1496,22	1	1496,22
	Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons) <b>Item 6 includes item 5 as well</b>	buc	1149,74	1	1149,74
	Mind Mapping software, with a library of pictures and possibility to make mind maps for sinior children <b>Inspiration 10.</b>	buc	1149,74	1	1149,74

	<p><b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, spelling and phonology, auditory discrimination, visual discrimination etc.</p> <p><b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.</p> <p><b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.</p> <p><b>Chater Block (item 4)</b> Dice (talking), for young children.</p> <p><b>Attention Training Software (sent digitally) (item 5)</b> Attention Training set. (Set de formare a atentiei)</p> <p><b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).</p> <p><b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special codes/labels, set of about 400 self-sticking codes, (5% deviation +/-)</p>	buc	789,44	1	789,44

	<b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)	buc	486,8	2	973,6
	<b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	4	3493,6
	<b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	1	873,4
	<b>Russian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	895,82	1	895,82
	<b>Keeping up with Cheetah Romanian/English book</b> Carte tinand pasul cu ghepardul romana/engleza	buc	267,75	1	267,75
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,9	6	41,4
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	3	17,49
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	1	5,83
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,5	1	17,5
	<b>Start arrows for Items 10-12</b>	buc	1	2	2

	<p>FM Hearing Aids for students, to be user in the classroom and the Resourcse Room</p> <p><b>PHONAK BOLERO V30 P</b> (Dispozitiv auditiv FM care urmeaza sa fie utilizeaza in clase si in Centre de Resurse (portabile)</p> <p>PHONAK ROGER MyLink</p>	buc	11619,89	1	11619,89
	<p><b>PHONAK ROGER TouchScreen Mic</b></p> <p>FM transmitter for the Teacher, who teaches hearing impaired students.</p>	buc	11827,15	1	11827,15
	<p>First Aid kit Hearing Aids</p> <p><b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer-1 pcs.; Phonak Cleaning beaker(dryng tub)-1 pcs.; Set of 3 cleaning tools-1 pcs.; Nattery13*H ZINC/AIR-1 pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6 pcs.; Cleaning tablets-4 pcs.:</p>	buc	773,92	1	773,92
	<p><b>Monster 2 High Visibility RO Keyboard</b></p> <p>KYB-MON2VIS-UCUH Accuratus</p> <p>Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys &amp; 2 Port USB Hub, with stickers in Romanian language</p>	buc	842,75	1	842,75
	<p><b>BigKeys LX gwerky Upper Case Black on White RO</b> AbleNet BigKeys LX QWERTY Keyboard-Romanian language</p>	buc	2814,63	1	2814,63

	<b>Keyboard Gembird KB-U-103-RU Standard Black/RO KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Romanian language	set	134,74	3	404,22
	<b>BigKeys LX Keyguard PROSOPSIS</b> Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	1	1535,26
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	1	2561,34
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	1	2840,66
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	1	3095,84
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	1	490,04
	<b>Praetorian Optima Joystick SKU:OPMAJ</b>	buc	3725,62	1	3725,62
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	1	1675,34
	<b>Pretorian Smoothie 125</b>	buc	665,28	1	665,28
	<b>Pretorian Smoothie 75</b>	buc	665,28	1	665,28
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	1	1841,73

	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	1	14893,06
	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	1	1626,67
	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	1	11761,52
	A portable HD Video magnifier tablet, with at least 10 inches screen	buc	18888,64	1	18888,64
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Folii laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059	1	2059
	Cloured Magnetic Number Frames 80pcs	set	1334,77	1	1334,7723
	Bee-Bot Programmes Floor Robot	buc	1265,19	1	1265,187
	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	2	1192,8906
	Bee-Bot Countryside Mat	buc	596,45	1	596,4453
	BEE-Bot Shapes, Colour and Size Mat	buc	596,45	1	596,4453
	Easi-Tomer	buc	596,45	1	596,4453
	Mixed Colours Reading Ruler 10pk	buc	271,11	2	542,223

		Coloured Eye Level Reading Ruler 10pk	set	298,22	1	298,2227
		GET a Grip Pencil Grips	set	976,00	1	976,0013
		Development Pensil Grips	set	271,11	1	271,1115
		<b>Romanian Letters of the Alphabet</b> <b>Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	1	896,03
		<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language (( Etichete autocolante din plastic, litere mici si mari in rusa)	set	134,74	1	134,74
		<b>Total</b>			<b>86</b>	<b>191748,56</b>
27	Sîngerei	<b>Tablet Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB:</i> <i>10.1 Carrying case</i>	buc	8139,33	6	48835,98

	<b>DLP Data Video Projector Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS- 232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling Mount: Cable HDMI to HDMI 4.5m: Power Cord Cable Extension High quality:</i>	buc	7166,15	2	14332,30
	<b>Laptop 15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case	buc	5968,31	2	11936,62
	<b>Colored MFD CANON MAXFY MB5140</b> <i>Additional Dual Resistant High Density 4 ink tanks (Black, Cyan, Magenta, Yellow)/ PGI- 2400XL BK/PGI-2400XL: Cable USB2.0-Am- Vm, 1.8m, A-plug B-plug, Black:</i>	buc	4195,76	2	8391,52
	<b>Read ABCD Romanian</b> Phonology and Reading Mixed type software (step by step reading) in Romanian Language with Universal Desingn of Learning (UDL)	buc	1783,93	2	3567,86
	<b>Text Aloud 4</b> Text to speech software with hilighting whilst reading, includes Russian and Romanian voice	buc	1665	2	3330,00
	<b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.	buc	1189,29	2	2378,58
	<b>Mind Express4 AAC Alternative,</b> Augumentative Communication software, for Education and Communication	buc	2293,62	2	4587,24

	<p><b>iCSPEECH Standard Edition</b>            Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian</p> <p><b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian</p> <p><b>IWRITITE prediction, Romanian</b>            Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.</p> <p>Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen,licens with dongle, <b>(ZoomText, Magnifier/Reader)</b></p> <p>Software to develop language activities in Romanian and Russian language <b>(Clicker7)</b></p> <p>Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b></p>	buc	3482,91	2	6965,82
			1104,34	2	2208,68
			1189,26	2	2378,52
			6544,08	2	13088,16
			5174,35	2	10348,70
			1319,95	2	2639,90

	Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons) <b>Item 6 includes item 5 as well</b>	buc	1149,74	2	2299,48
	Mind Mapping software, with a library of pictures and possibility to make mind maps for senior children <b>Inspiration 10.</b>	buc	1149,74	2	2299,48
	<b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, spelling and phonology, auditory discrimination, visual discrimination etc.	buc	789,44	2	1578,88
	<b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.	buc	743,66	2	1487,32
	<b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.	buc	2662,52	2	5325,04
	<b>Chater Block (item 4)</b> Dice (talking), for young children.	set	423,57	2	847,14

	<p><b>Attention Training Software (sent digitally) (item 5)</b> Attention Training set.</p> <p><b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).</p> <p><b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special cades/labels, set of about 400 self-sticking codes, (5% deviation +/-)</p> <p><b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)</p> <p><b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100</p> <p><b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100</p> <p><b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.</p>	set	967,37	2	1934,74
		buc	1495,8	4	5983,20
		set	396,62	4	1586,48
		buc	486,8	4	1947,20
		set	873,4	8	6987,20
		set	873,4	2	1746,80
		set	896,03	2	1792,06

	<b>Keeping up with Cheetah Romanian/English book</b>	buc	267,75	2	535,50
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,9	12	82,80
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	6	34,98
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	2	11,66
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,5	2	35,00
	<b>Start arrows for Items 10-12</b>	buc	1	4	4,00
	FM Hearing Aids for students, to be used in the classroom and the Resource Room <b>PHONAK BOLERO V30 P PHONAK ROGER MyLink</b>	buc	11619,89	2	23239,78
	<b>PHONAK ROGER TouchScreen Mic</b> FM transmitter for the Teacher, who teaches hearing impaired students.	buc	11827,15	2	23654,30
	First Aid kit Hearing Aids <b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablets)-2 pcs; Phonak air puffer- 1 pcs.; Phonak Cleaning beaker(dryng tub)- 1 pcs.; Set of 3 cleaning tools-1 pcs.; Nattery 13*H ZINC/AIR-1 pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6 pcs.; Cleaning tablets-4 pcs.:	buc	773,92	2	1547,84

	<b>Monster 2 High Visibility RO Keyboard</b> KYB-MON2VIS-UCUH Accuratus Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&2 Port USB Hub, with stickers in Romanian language	buc	842,75	2	1685,50
	<b>BigKeys LX gwerly Upper Case Black on White RO</b> AbleNet BigKeys LX QWERTY Keyboard-Romanian language	buc	2814,63	2	5629,26
	<b>Keyboard Gembird KB-U-103-RU Standard Black/RO</b> KB-U-103-RU Gembird with self-sticking plastic labels, small and caps letters, in Romanian language	set	134,74	6	808,44
	<b>BigKeys LX Keyguard</b> PROSOPSIS Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	2	3070,52
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	2	5122,68
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	2	5681,32
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	2	6191,68
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	2	980,08

	<b>Praetorian Optima Joystick SKU:OPMAJ</b>	buc	3725,62	2	7451,24
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	2	3350,68
	<b>Pretorian Smoothie 125</b>	buc	665,28	2	1330,56
	<b>Pretorian Smoothie 75</b>	buc	665,28	2	1330,56
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	2	3683,46
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	2	29786,12
	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	2	3253,34
	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	2	23523,04
	A portable HD Video magnifier tablet, with at least 10 inches screen	buc	18888,64	2	37777,28
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Foi laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059	2	4118,00
	Cloured Magnetic Number Frames 80pcs	set	1334,77	2	2669,54
	Bee-Bot Programmes Floor Robot	buc	1265,19	2	2530,37

	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	4	2385,78
	Bee-Bot Countryside Mat	buc	596,45	2	1192,89
	BEE-Bot Shapes, Colour and Size Mat	buc	596,45	2	1192,89
	Easi-Tomer	buc	596,45	2	1192,89
	Mixed Colours Reading Ruler 10pk	buc	271,11	4	1084,45
	Coloured Eye Level Reading Ruler 10pk	set	298,22	2	596,45
	GET a Grip Pencil Grips	set	976,00	2	1952,00
	Development Pensil Grips	set	271,11	2	542,22
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language	set	896,03	2	1792,06
	<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	2	269,48
	<b>Total</b>			<b>172</b>	<b>382125,55</b>

28	Şoldăneşti	<p><b>Tablet</b> <b>Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock:  <i>USB to HDMI Video Adapter:</i>  <i>Wireless, Silent Optical Mouse, 2.4GHz, USB:</i>  <i>10.1 Carrying case</i></p>	buc	8139,33	3	24417,99
		<p><b>DLP Data Video Projector</b> <b>Acer P1255</b>  4000 ANSI lumens DLP XGA (1024x768),  20000:1,5,000/10,000 hours, 1x HDMI,  1xHDMI/MHL,1xDC out, 1x audio out, 1xRS-  232,1 x composite video, 2x VGA, 1x 10W  (mono) Yes, Throw ratio 1.51-1.97  Additional Cable HDMI to HDMI 4.5m  Additional Power Cord Cable Extension High  quality: <i>Sopar TAPA universal Projector Ceiling</i>  <i>Mount: Cable HDMI to HDMI 4.5m:</i>  <i>Power Cord Cable Extension High quality:</i></p>	buc	7166,15	1	7166,15
		<p><b>Laptop</b> <b>15.6 LENOVO V15-ADA/</b>  Wireless Optical USB Mouse/15.6 NB Carrying  case</p>	buc	5968,31	1	5968,31
		<p><b>Colored MFD CANON MAXFY MB5140</b>  <i>Additional Dual Resistant High Density 4 ink</i>  <i>tanks (Black, Cyan, Magenta, Yellow)/ PGI-</i>  <i>2400XL BK/PGI-2400XL: Cable USB2.0-Am-</i>  <i>Vm, 1.8m, A-plug B-plug, Black:</i></p>	buc	4195,76	1	4195,76
		<p><b>Read ABCD Romanian</b> Phonology and  Reading Mixed type software (step by step  reading) in Romanian Language with  Universal Desingn of Learning (UDL)</p>	buc	1783,93	1	1783,93
		<p><b>Text Aloud 4</b> Text to speech software  with hilighting whilst reading, includes  Russian and Romanian voice</p>	buc	1665	1	1665,00

	<b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.	buc	1189,29	1	1189,29
	<b>Mind Express4 AAC Alternative</b> , Augumentative Communication software, for Education and Communication	buc	2293,62	1	2293,62
	<b>iCSPEECH Standard Edition</b> Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian	buc	3482,91	1	3482,91
	<b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian	buc	1104,34	1	1104,34
	<b>IWRITITE prediction, Romanian</b> Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.	buc	1189,26	1	1189,26
	Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen,licens with dongle, <b>(ZoomText, Magnifier/Reader)</b>	buc	6544,08	1	6544,08
	Software to develop language activities in Romanian and Russian language <b>(Clicker7)</b>	buc	5174,35	1	5174,35

	<p>Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b></p> <p>Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons)</p> <p><b>Item 6 includes item 5 as well</b></p> <p>Mind Mapping software, with a library of pictures and possibility to make mind maps for sinior children</p> <p><b>Inspiration 10.</b></p> <p><b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, ppelling and phonology, auditory discrimination, vizual discrimination etc.</p> <p><b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a nomber of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovissual discrimination and many mare.</p>	buc	1319,95	1	1319,95

	<p><b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.</p>	buc	2662,52	1	2662,52
	<p><b>Chater Block (item 4)</b> Dice (talking), for young children.</p>	set	423,57	1	423,57
	<p><b>Attention Training Sowtware (sent digitally) (item 5)</b> Attention Training set.</p>	set	967,37	1	967,37
	<p><b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).</p>	buc	1495,8	2	2991,60
	<p><b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special cades/labels, set of about 400 self-sticking codes, (5% deviation +/-)</p>	set	396,62	2	793,24
	<p><b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)</p>	buc	486,8	2	973,60
	<p><b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100</p>	set	873,4	4	3493,60
	<p><b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100</p>	set	873,4	1	873,40

	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	1	896,03
	<b>Keeping up with Cheetah Romanian/English book</b>	buc	267,75	1	267,75
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,9	6	41,40
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	3	17,49
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	1	5,83
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,5	1	17,50
	<b>Start arrows for Items 10-12</b>	buc	1	2	2,00
	FM Hearing Aids for students, to be used in the classroom and the Resource Room <b>PHONAK BOLERO V30 P PHONAK ROGER MyLink</b>	buc	11619,89	1	11619,89
	<b>PHONAK ROGER TouchScreen Mic</b> FM transmitter for the Teacher, who teaches hearing impaired students.	buc	11827,15	1	11827,15
	First Aid kit Hearing Aids <b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer-1 pcs.; Phonak Cleaning beaker(dryng tub)-1 pcs.; Set of 3 cleaning tools-1 pcs.; Nattery13*H ZINC/AIR-1 pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC	buc	773,92	1	773,92

	tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:				
	<b>Monster 2 High Visibility RO Keyboard</b> KYB-MON2VIS-UCUH Accuratus Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&2 Port USB Hub, with stickers in Romanian language	buc	842,75	1	842,75
	<b>BigKeys LX gwerty Upper Case Black on White RO</b> Ablenet BigKeys LX QWERTY Keyboard-Romanian language	buc	2814,63	1	2814,63
	<b>Keyboard Gembird KB-U-103-RU Standard Black/RO</b> KB-U-103-RU Gembird with self-sticking plastic labels, small and caps letters, in Romanian language	set	134,74	3	404,22
	<b>BigKeys LX Keyguard</b> PROSOPSIS Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	1	1535,26

	<b>AbleNet Quick Talker 7</b>	buc	2561,34	1	2561,34
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	1	2840,66
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	1	3095,84
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	1	490,04
	<b>Praetorian Optima Joystick SKU:OPMAJ</b>	buc	3725,62	1	3725,62
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	1	1675,34
	<b>Pretorian Smoothie 125</b>	buc	665,28	1	665,28
	<b>Pretorian Smoothie 75</b>	buc	665,28	1	665,28
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	1	1841,73
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	1	14893,06
	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	1	1626,67
	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	1	11761,52
	A portable HD Video magnifier tablet, with at least 10 inches screen	buc	18888,64	1	18888,64

	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1 pack *Folii laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059	1	2059,00
	Cloured Magnetic Number Frames 80pcs	set	1334,77	1	1334,77
	Bee-Bot Programmes Floor Robot	buc	1265,19	1	1265,19
	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	2	1192,89
	Bee-Bot Countryside Mat	buc	596,45	1	596,45
	BEE-Bot Shapes, Colour and Size Mat	buc	596,45	1	596,45
	Easi-Tomer	buc	596,45	1	596,45
	Mixed Colours Reading Ruler 10pk	buc	271,11	2	542,22
	Coloured Eye Level Reading Ruler 10pk	set	298,22	1	298,22
	GET a Grip Pencil Grips	set	976,00	1	976,00
	Development Pensil Grips	set	271,11	1	271,11
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language	set	896,03	1	896,03

		<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	1	134,74
		<b>Total</b>			<b>86</b>	<b>191062,77</b>
29	Soroca	<b>Tablet Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB:</i> <i>10.1 Carrying case</i>	buc	8139,33	15	122089,95
		<b>DLP Data Video Projector Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS- 232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling</i> <i>Mount: Cable HDMI to HDMI 4.5m:</i> <i>Power Cord Cable Extension High quality:</i>	buc	7166,15	5	35830,75
		<b>Laptop 15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case	buc	5968,31	5	29841,55
		<b>Colored MFD CANON MAXFY MB5140</b> <i>Additional Dual Resistant High Density 4 ink tanks (Black, Cyan, Magenta, Yellow)/ PGI-2400XL BK/PGI-2400XL: Cable USB2.0-Am-Vm, 1.8m, A-plug B-plug, Black:</i>	buc	4195,76	5	20978,8

	<p><b>Read ABCD Romanian</b> Phonology and Reading Mixed type software (step by step reading) in Romanian Language with Universal Desingn of Learning (UDL)</p> <p><b>Text Aloud 4</b> Text to speech software with hilighting whilst reading, includes Russian and Romanian voice</p> <p><b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.</p> <p><b>Mind Express4 AAC Alternative, Augumentative Communication software, for Education and Communication</b></p> <p><b>iCSPEECH Standard Edition</b> Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian</p> <p><b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian</p> <p><b>IWRITITE prediction, Romanian</b> Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.</p>	buc	1783,93	5	8919,65

	<p>Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen, licens with dongle, <b>(ZoomText, Magnifier/Reader)</b></p> <p>Software to develop language activities in Romanian and Russian language <b>(Clicker7)</b></p> <p>Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b></p> <p>Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons) <b>Item 6 includes item 5 as well</b></p> <p>Mind Mapping software, with a library of pictures and possibility to make mind maps for sinior children <b>Inspiration 10.</b></p> <p><b>Recordable Talking Wall Panel Story Sequencer (intem 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, ppelling and phonology, auditory discrimination, vizual discrimination etc.</p>	buc	6544,08	5	32720,4

	<p><b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.</p> <p><b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.</p> <p><b>Chater Block (item 4)</b> Dice (talking), for young children.</p> <p><b>Attention Training Software (sent digitally) (item 5)</b> Attention Training set.</p> <p><b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).</p> <p><b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special cades/labels, set of about 400 self-sticking codes, (5% deviation +/-)</p> <p><b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)</p>	buc	743,66	5	3718,3

	<b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	20	17468
	<b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	5	4367
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	5	4480,15
	<b>Keeping up with Cheetah Romanian/English book</b>	buc	267,75	5	1338,75
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,9	30	207
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	15	87,45
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	5	29,15
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,5	5	87,5
	<b>Start arrows for Items 10-12</b>	buc	1	10	10
	FM Hearing Aids for students, to be used in the classroom and the Resource Room <b>PHONAK BOLERO V30 P PHONAK ROGER MyLink</b>	buc	11619,89	5	58099,45
	<b>PHONAK ROGER TouchScreen Mic</b> FM transmitter for the Teacher, who teaches hearing impaired students.	buc	11827,15	5	59135,75

	<p>First Aid kit Hearing Aids</p> <p><b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer-1pcs.; Phonak Cleasing beaker(dryng tub)-1 pcs.; Set of3 cleaning tools-1pcs.; Nattery13*H ZINC/AIR-1pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:</p>	buc	773,92	5	3869,6
	<p><b>Monster 2 High Visibility RO Keyboard</b></p> <p>KYB-MON2VIS-UCUH Accuratus</p> <p>Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&amp;2 Port USB Hub, with stikers in Romanian language</p>	buc	842,75	5	4213,75
	<p><b>BigKeys LX gwerty Upper Case Black on White RO</b></p> <p>Ablenet BigKeys LX QWERTY Keyboard-Romanian language</p>	buc	2814,63	5	14073,15
	<p><b>Keyboard Gembird KB-U-103-RU Standard Black/RO</b></p> <p>KB-U-103-RU Gembird with self-sticking plastic labels, small and caps letters, in Romanian language</p>	set	134,74	15	2021,1

	<b>BigKeys LX Keyguard PROSOPSIS</b> Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	5	7676,3
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	5	12806,7
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	5	14203,3
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	5	15479,2
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	5	2450,2
	<b>Praetorian Optima Joystick SKU:OPMAJ</b>	buc	3725,62	5	18628,1
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	5	8376,7
	<b>Pretorian Smoothie 125</b>	buc	665,28	5	3326,4
	<b>Pretorian Smoothie 75</b>	buc	665,28	5	3326,4
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	5	9208,65
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	5	74465,292
	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	5	8133,35

	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	5	58807,6
	A portable HD Video magnifier tablet, with at least 10 inches screen	buc	18888,64	5	94443,2
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Folii laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059	5	10295
	Cloured Magnetic Number Frames 80pcs	set	1334,77	5	6673,8615
	Bee-Bot Programmes Floor Robot	buc	1265,19	5	6325,935
	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	10	5964,453
	Bee-Bot Countryside Mat	buc	596,45	5	2982,2265
	BEE-Bot Shapes, Colour and Size Mat	buc	596,45	5	2982,2265
	Easi-Tomer	buc	596,45	5	2982,2265
	Mixed Colours Reading Ruler 10pk	buc	271,11	10	2711,115
	Coloured Eye Level Reading Ruler 10pk	set	298,22	5	1491,1135
	GET a Grip Pencil Grips	set	976,00	5	4880,0065
	Development Pensil Grips	set	271,11	5	1355,5575

		<b>Romanian Letters of the Alphabet</b> <b>Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language	set	896,03	5	4480,15
		<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	5	673,7
		<b>Total</b>			<b>430</b>	<b>955313,86</b>
30	Ştefan Vodă	<b>Tablet Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB:</i> <i>10.1 Carrying case</i>	buc	8139,33	9	73253,97
		<b>DLP Data Video Projector Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS-232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling Mount: Cable HDMI to HDMI 4.5m: Power Cord Cable Extension High quality:</i>	buc	7166,15	3	21498,45
		<b>Laptop 15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case	buc	5968,31	3	17904,93

	<b>Colored MFD CANON MAXFY MB5140</b> <i>Additional Dual Resistant High Density 4 ink tanks (Black, Cyan, Magenta, Yellow)/ PGI-2400XL BK/PGI-2400XL: Cable USB2.0-Am-Vm, 1.8m, A-plug B-plug, Black:</i>	buc	4195,76	3	12587,28
	<b>Read ABCD Romanian</b> Phonology and Reading Mixed type software (step by step reading) in Romanian Language with Universal Desingn of Learning (UDL)	buc	1783,93	3	5351,79
	<b>Text Aloud 4</b> Text to speech software with hilighting whilst reading, includes Russian and Romanian voice	buc	1665	3	4995,00
	<b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.	buc	1189,29	3	3567,87
	<b>Mind Express4 AAC Alternative, Augumentative Communication software, for Education and Communication</b>	buc	2293,62	3	6880,86
	<b>iCSPEECH Standard Edition</b> Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian	buc	3482,91	3	10448,73
	<b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian	buc	1104,34	3	3313,02

	<p><b>IWRTITE prediction, Romanian</b>            Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.</p>	buc	1189,26	3	3567,78
	<p>Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen,licens with dongle, <b>(ZoomText, Magnifier/Reader)</b></p>	buc	6544,08	3	19632,24
	<p>Software to develop language activities in Romanian and Russian language <b>(Clicker7)</b></p>	buc	5174,35	3	15523,05
	<p>Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b></p>	buc	1319,95	3	3959,85
	<p>Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons)</p>	buc	1149,74	3	3449,22
	<p><b>Item 6 includes item 5 as well</b></p>				
	<p>Mind Mapping software, with a library of pictures and possibility to make mind maps for sinior children <b>Inspiration 10.</b></p>	buc	1149,74	3	3449,22

	<p><b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, spelling and phonology, auditory discrimination, visual discrimination etc.</p> <p><b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.</p> <p><b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.</p> <p><b>Chater Block (item 4)</b> Dice (talking), for young children.</p> <p><b>Attention Training Software (sent digitally) (item 5)</b> Attention Training set.</p> <p><b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).</p> <p><b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special codes/labels, set of about 400 self-sticking codes, (5% deviation +/-)</p>	buc	789,44	3	2368,32
		buc	743,66	3	2230,98
		buc	2662,52	3	7987,56
		set	423,57	3	1270,71
		set	967,37	3	2902,11
		buc	1495,8	6	8974,80
		set	396,62	6	2379,72

	<b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)	buc	486,8	6	2920,80
	<b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	12	10480,80
	<b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	3	2620,20
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	3	2688,09
	<b>Keeping up with Cheetah Romanian/English book</b>	buc	267,75	3	803,25
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,9	18	124,20
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	9	52,47
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	3	17,49
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,5	3	52,50
	<b>Start arrows for Items 10-12</b>	buc	1	6	6,00

	FM Hearing Aids for students, to be user in the classroom and the Resourcse Room <b>PHONAK BOLERO V30 P PHONAK</b> ROGER MyLink	buc	11619,89	3	34859,67
	<b>PHONAK ROGER TouchScreen Mic</b> FM transmiter for the Teacher, who teaches hearing impaired students.	buc	11827,15	3	35481,45
	First Aid kit Hearing Aids <b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer-1pcs.; Phonak Cleasing beaker(dryng tub)-1 pcs.; Set of3 cleaning tools-1pcs.; Nattery13*H ZINC/AIR-1pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:	buc	773,92	3	2321,76
	<b>Monster 2 High Visibility RO Keyboard</b> KYB-MON2VIS-UCUH Accuratus Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&2 Port USB Hub, with stikers in Romanian language	buc	842,75	3	2528,25
	<b>BigKeys LX gwerty Upper Case Black on White RO</b> Ablenet BigKeys LX QWERTY Keyboard-Romanian language	buc	2814,63	3	8443,89

	<b>Keyboard Gembird KB-U-103-RU Standard Black/RO KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Romanian language	set	134,74	9	1212,66
	<b>BigKeys LX Keyguard PROSOPSIS</b> Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	3	4605,78
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	3	7684,02
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	3	8521,98
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	3	9287,52
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	3	1470,12
	<b>Praetorian Optima Joystick SKU:OPMAJ</b>	buc	3725,62	3	11176,86
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	3	5026,02
	<b>Pretorian Smoothie 125</b>	buc	665,28	3	1995,84
	<b>Pretorian Smoothie 75</b>	buc	665,28	3	1995,84
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	3	5525,19
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	3	44679,18

	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	3	4880,01
	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	3	35284,56
	A portable HD Video magnifier tablet, with at least 10 inches screen	buc	18888,64	3	56665,92
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Folii laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059	3	6177,00
	Cloured Magnetic Number Frames 80pcs	set	1334,77	3	4004,32
	Bee-Bot Programmes Floor Robot	buc	1265,19	3	3795,56
	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	6	3578,67
	Bee-Bot Countryside Mat	buc	596,45	3	1789,34
	BEE-Bot Shapes, Colour and Size Mat	buc	596,45	3	1789,34
	Easi-Tomer	buc	596,45	3	1789,34
	Mixed Colours Reading Ruler 10pk	buc	271,11	6	1626,67

		Coloured Eye Level Reading Ruler 10pk	set	298,22	3	894,67
		GET a Grip Pencil Grips	set	976,00	3	2928,00
		Development Pensil Grips	set	271,11	3	813,33
		<b>Romanian Letters of the Alphabet</b> <b>Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language	set	896,03	3	2688,09
		<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	3	404,22
		<b>Total</b>			<b>258</b>	<b>573188,32</b>
31	Strășeni	<b>Tablet Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB: 10.1 Carrying case</i>	buc	8139,33	12	97671,96

	<b>DLP Data Video Projector Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS- 232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling Mount: Cable HDMI to HDMI 4.5m: Power Cord Cable Extension High quality:</i>	buc	7166,15	4	28664,60
	<b>Laptop 15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case	buc	5968,31	4	23873,24
	<b>Colored MFD CANON MAXFY MB5140</b> <i>Additional Dual Resistant High Density 4 ink tanks (Black, Cyan, Magenta, Yellow)/ PGI- 2400XL BK/PGI-2400XL: Cable USB2.0-Am- Vm, 1.8m, A-plug B-plug, Black:</i>	buc	4195,76	4	16783,04
	<b>Read ABCD Romanian</b> Phonology and Reading Mixed type software (step by step reading) in Romanian Language with Universal Desing of Learning (UDL)	buc	1783,93	4	7135,72
	<b>Text Aloud 4</b> Text to speech software with hilighting whilst reading, includes Russian and Romanian voice	buc	1665	4	6660,00
	<b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.	buc	1189,29	4	4757,16
	<b>Mind Express4 AAC Alternative,</b> Augumentative Communication software, for Education and Communication	buc	2293,62	4	9174,48

	<p><b>iCSPEECH Standard Edition</b>            Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian</p> <p><b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian</p> <p><b>IWRITITE prediction, Romanian</b>            Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.</p> <p>Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen,licens with dongle, <b>(ZoomText, Magnifier/Reader)</b></p> <p>Software to develop language activities in Romanian and Russian language <b>(Clicker7)</b></p> <p>Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b></p>	buc	3482,91	4	13931,64
		buc	1104,34	4	4417,36
		buc	1189,26	4	4757,04
		buc	6544,08	4	26176,32
		buc	5174,35	4	20697,40
		buc	1319,95	4	5279,80

	Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons) <b>Item 6 includes item 5 as well</b>	buc	1149,74	4	4598,96
	Mind Mapping software, with a library of pictures and possibility to make mind maps for senior children <b>Inspiration 10.</b>	buc	1149,74	4	4598,96
	<b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, spelling and phonology, auditory discrimination, visual discrimination etc.	buc	789,44	4	3157,76
	<b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.	buc	743,66	4	2974,64
	<b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.	buc	2662,52	4	10650,08
	<b>Chater Block (item 4)</b> Dice (talking), for young children.	set	423,57	4	1694,28

	<p><b>Attention Training Software (sent digitally) (item 5)</b> Attention Training set.</p> <p><b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).</p> <p><b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special cades/labels, set of about 400 self-sticking codes, (5% deviation +/-)</p> <p><b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)</p> <p><b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100</p> <p><b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100</p> <p><b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.</p>	set	967,37	4	3869,48
		buc	1495,8	8	11966,40
		set	396,62	8	3172,96
		buc	486,8	8	3894,40
		set	873,4	16	13974,40
		set	873,4	4	3493,60
		set	896,03	4	3584,12

	<b>Keeping up with Cheetah Romanian/English book</b>	buc	267,75	4	1071,00
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,9	24	165,60
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	12	69,96
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	4	23,32
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,5	4	70,00
	<b>Start arrows for Items 10-12</b>	buc	1	8	8,00
	FM Hearing Aids for students, to be used in the classroom and the Resource Room <b>PHONAK BOLERO V30 P PHONAK ROGER MyLink</b>	buc	11619,89	4	46479,56
	<b>PHONAK ROGER TouchScreen Mic</b> FM transmitter for the Teacher, who teaches hearing impaired students.	buc	11827,15	4	47308,60
	First Aid kit Hearing Aids <b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablets)-2 pcs; Phonak air puffer- 1 pcs.; Phonak Cleaning beaker(dryng tub)- 1 pcs.; Set of 3 cleaning tools-1 pcs.; Nattery 13*H ZINC/AIR-1 pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6 pcs.; Cleaning tablets-4 pcs.:	buc	773,92	4	3095,68

	<b>Monster 2 High Visibility RO Keyboard</b> KYB-MON2VIS-UCUH Accuratus Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&2 Port USB Hub, with stickers in Romanian language	buc	842,75	4	3371,00
	<b>BigKeys LX gwerly Upper Case Black on White RO</b> AbleNet BigKeys LX QWERTY Keyboard-Romanian language	buc	2814,63	4	11258,52
	<b>Keyboard Gembird KB-U-103-RU Standard Black/RO</b> KB-U-103-RU Gembird with self-sticking plastic labels, small and caps letters, in Romanian language	set	134,74	12	1616,88
	<b>BigKeys LX Keyguard</b> PROSOPSIS Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	4	6141,04
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	4	10245,36
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	4	11362,64
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	4	12383,36
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	4	1960,16

	<b>Praetorian Optima Joystick SKU:OPMAJ</b>	buc	3725,62	4	14902,48
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	4	6701,36
	<b>Pretorian Smoothie 125</b>	buc	665,28	4	2661,12
	<b>Pretorian Smoothie 75</b>	buc	665,28	4	2661,12
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	4	7366,92
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	4	59572,23
	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	4	6506,68
	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	4	47046,08
	A portable HD Video magnifier tablet, with at least 10 inches screen	buc	18888,64	4	75554,56
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Foi laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059	4	8236,00
	Cloured Magnetic Number Frames 80pcs	set	1334,77	4	5339,09
	Bee-Bot Programmes Floor Robot	buc	1265,19	4	5060,75
	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	8	4771,56

Bee-Bot Countryside Mat	buc	596,45	4	2385,78
BEE-Bot Shapes, Colour and Size Mat	buc	596,45	4	2385,78
Easi-Tomer	buc	596,45	4	2385,78
Mixed Colours Reading Ruler 10pk	buc	271,11	8	2168,89
Coloured Eye Level Reading Ruler 10pk	set	298,22	4	1192,89
GET a Grip Pencil Grips	set	976,00	4	3904,01
Development Pensil Grips	set	271,11	4	1084,45
<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language	set	896,03	4	3584,12
<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	4	538,96
<b>Total</b>			<b>344</b>	<b>764251,09</b>

32	Taraclia	<p><b>Tablet Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock:  <i>USB to HDMI Video Adapter:</i>  <i>Wireless, Silent Optical Mouse, 2.4GHz, USB:</i>  <i>10.1 Carrying case</i></p>	buc	8139,33	9	73253,97
		<p><b>DLP Data Video Projector Acer P1255</b>  4000 ANSI lumens DLP XGA (1024x768),  20000:1,5,000/10,000 hours, 1x HDMI,  1xHDMI/MHL,1xDC out, 1x audio out, 1xRS-  232,1 x composite video, 2x VGA, 1x 10W  (mono) Yes, Throw ratio 1.51-1.97  Additional Cable HDMI to HDMI 4.5m  Additional Power Cord Cable Extension High  quality: <i>Sopar TAPA universal Projector Ceiling</i>  <i>Mount: Cable HDMI to HDMI 4.5m:</i>  <i>Power Cord Cable Extension High quality:</i></p>	buc	7166,15	3	21498,45
		<p><b>Laptop 15.6 LENOVO V15-ADA/</b>  Wireless Optical USB Mouse/15.6 NB Carrying  case</p>	buc	5968,31	3	17904,93
		<p><b>Colored MFD CANON MAXFY MB5140</b>  <i>Additional Dual Resistant High Density 4 ink</i>  <i>tanks (Black, Cyan, Magenta, Yellow)/ PGI-</i>  <i>2400XL BK/PGI-2400XL: Cable USB2.0-Am-</i>  <i>Vm, 1.8m, A-plug B-plug, Black:</i></p>	buc	4195,76	3	12587,28
		<p><b>Read ABCD Romanian</b> Phonology and  Reading Mixed type software (step by step  reading) in Romanian Language with  Universal Desingn of Learning (UDL)</p>	buc	1783,93	1	1783,93

	<p><b>Read ABCD Russian</b> Phonology and Reading Mixed type software (step by step reading) in Russian Language with Universal Design of Learning (UDL)</p> <p><b>Text Aloud 4</b> Text to speech software with highlighting whilst reading, includes Russian and Romanian voice</p> <p><b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.</p> <p><b>Maths 1 Russian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Russian language.</p> <p><b>Mind Express4</b> AAC Alternative, Augmentative Communication software, for Education and Communication</p> <p><b>iCSPEECH Standard Edition</b> Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian</p> <p><b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Romanian and Russian</p>	buc	2123,72	2	4247,44

	<b>IWRTITE prediction, Romanian</b> Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.	buc	1189,26	1	1189,26
	<b>IWRTITE prediction, Russian</b> Prediction software to speedup writing and help also with spell checking, for Russian language. To predict words.	buc	1274,26	2	2548,52
	Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen, licens with dongle, <b>(ZoomText, Magnifier/Reader)</b>	buc	6544,08	3	19632,24
	Software to develop language activities in Romanian and Russian language <b>Clicker7)</b>	buc	5174,35	3	15523,05
	Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b>	buc	1319,95	1	1319,95
	Primary school Social skils software, Russian language <b>(On the Road with Safety)</b>	buc	1496,22	2	2992,44
	Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons) <b>Item 6 includes item 5 as well</b>	buc	1149,74	3	3449,22

	Mind Mapping software, with a library of pictures and possibility to make mind maps for senior children <b>Inspiration 10.</b>	buc	1149,74	3	3449,22
	<b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, spelling and phonology, auditory discrimination, visual discrimination etc.	buc	789,44	3	2368,32
	<b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.	buc	743,66	3	2230,98
	<b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.	buc	2662,52	3	7987,56
	<b>Chater Block (item 4)</b> Dice (talking), for young children.	buc	423,57	3	1270,71
	<b>Attention Training Software (sent digitally) (item 5)</b> Attention Training set. (Set de formare a atentiei)	buc	967,37	3	2902,11

	<p><b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).</p> <p><b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special cades/labels, set of about 400 self-sticking codes, (5% deviation +/-)</p> <p><b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)</p> <p><b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100</p> <p><b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100</p> <p><b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.</p>	buc	1495,8	6	8974,80
		set	396,62	6	2379,72
		buc	486,8	6	2920,80
		set	873,4	12	10480,80
		set	873,4	3	2620,20
		set	896,03	1	896,03

	<b>Russian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	895,82	2	1791,64
	<b>Keeping up with Cheetah Romanian/English book</b>	buc	267,75	3	803,25
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,9	18	124,20
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	9	52,47
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	3	17,49
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,5	3	52,50
	<b>Start arrows for Items 10-12 (Sageti)</b>	buc	1	6	6,00
	FM Hearing Aids for students, to be used in the classroom and the Resource Room <b>PHONAK BOLERO V30 P PHONAK ROGER MyLink</b>	buc	11619,89	3	34859,67
	<b>PHONAK ROGER TouchScreen Mic</b> FM transmitter for the Teacher, who teaches hearing impaired students.	buc	11827,15	3	35481,45

	<p>First Aid kit Hearing Aids</p> <p><b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer-1pcs.; Phonak Cleasing beaker(dryng tub)-1 pcs.; Set of3 cleaning tools-1pcs.; Nattery13*H ZINC/AIR-1pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:</p>	buc	773,92	3	2321,76
	<p><b>Monster 2 High Visibility RO Keyboard</b></p> <p>KYB-MON2VIS-UCUH Accuratus</p> <p>Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&amp;2 Port USB Hub, with stikers in Romanian language</p>	buc	842,75	3	2528,25
	<p><b>BigKeys LX gwerty Upper Case Black on White RO</b></p> <p>Ablenet BigKeys LX QWERTY Keyboard-Romanian language</p>	buc	2814,63	3	8443,89
	<p><b>Keyboard Gembird KB-U-103-RU Standard Black/RO</b></p> <p>KB-U-103-RU Gembird with self-sticking plastic labels, small and caps letters, in Romanian language</p>	set	134,74	9	1212,66

	<b>BigKeys LX Keyguard PROSOPSIS</b> Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	3	4605,78
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	3	7684,02
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	3	8521,98
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	3	9287,52
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	3	1470,12
	<b>Praetorian Optima Joystick SKU:OPMAJ</b>	buc	3725,62	3	11176,86
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	3	5026,02
	<b>Pretorian Smoothie 125</b>	buc	665,28	3	1995,84
	<b>Pretorian Smoothie 75</b>	buc	665,28	3	1995,84
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	3	5525,19
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	3	44679,18
	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	3	4880,01

	HD Handheld digital text magnifier, Eye pad 7 inches (lupă digitală de mâna pentru texte, 7 incii)	buc	11761,52	3	35284,56
	A portable HD Video magnifier tablet, with at least 10 inches screen	buc	18888,64	3	56665,92
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Foi laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059	3	6177,00
	Cloured Magnetic Number Frames 80pcs	set	1334,77	3	4004,32
	Bee-Bot Programes Floor Robot	buc	1265,19	3	3795,56
	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	6	3578,67
	Bee-Bot Countryside Mat	buc	596,45	3	1789,34
	BEE-Bot Shapes, Colour and Size Mat	buc	596,45	3	1789,34
	Easi-Tomer	buc	596,45	3	1789,34
	Mixed Colours Reading Ruler 10pk	buc	271,11	6	1626,67
	Coloured Eye Level Reading Ruler 10pk	set	298,22	3	894,67
	GET a Grip Pencil Grips	set	976,00	3	2928,00
	Development Pensil Grips	set	271,11	3	813,33

		<b>Romanian Letters of the Alphabet</b> <b>Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	3	2688,09
		<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	3	404,22
		<b>Total</b>			<b>258</b>	<b>574559,90</b>
33	Telenești	<b>Tablet Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB:</i> <i>10.1 Carrying case</i>	buc	8139,33	3	24417,99
		<b>DLP Data Video Projector Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS-232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling Mount: Cable HDMI to HDMI 4.5m: Power Cord Cable Extension High quality:</i>	buc	7166,15	1	7166,15
		<b>Laptop 15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case	buc	5968,31	1	5968,31

	<b>Colored MFD CANON MAXFY MB5140</b> <i>Additional Dual Resistant High Density 4 ink tanks (Black, Cyan, Magenta, Yellow)/ PGI-2400XL BK/PGI-2400XL: Cable USB2.0-Am-Vm, 1.8m, A-plug B-plug, Black:</i>	buc	4195,76	1	4195,76
	<b>Read ABCD Romanian</b> Phonology and Reading Mixed type software (step by step reading) in Romanian Language with Universal Desingn of Learning (UDL)	buc	1783,93	1	1783,93
	<b>Text Aloud 4</b> Text to speech software with hilighting whilst reading, includes Russian and Romanian voice	buc	1665	1	1665,00
	<b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.	buc	1189,29	1	1189,29
	<b>Mind Express4 AAC Alternative, Augumentative Communication software, for Education and Communication</b>	buc	2293,62	1	2293,62
	<b>iCSPEECH Standard Edition</b> Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian	buc	3482,91	1	3482,91
	<b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian	buc	1104,34	1	1104,34

	<b>IWRTITE prediction, Romanian</b> Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.	buc	1189,26	1	1189,26
	Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen,licens with dongle, <b>(ZoomText, Magnifier/Reader)</b>	buc	6544,08	1	6544,08
	Software to develop language activities in Romanian and Russian language <b>(Clicker7)</b>	buc	5174,35	1	5174,35
	Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b>	buc	1319,95	1	1319,95
	Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons) <b>Item 6 includes item 5 as well</b>	buc	1149,74	1	1149,74
	Mind Mapping software, with a library of pictures and possibility to make mind maps for sinior children <b>Inspiration 10.</b>	buc	1149,74	1	1149,74

	<p><b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, spelling and phonology, auditory discrimination, visual discrimination etc.</p> <p><b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.</p> <p><b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.</p> <p><b>Chater Block (item 4)</b> Dice (talking), for young children.</p> <p><b>Attention Training Software (sent digitally) (item 5)</b> Attention Training set.</p> <p><b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).</p> <p><b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special codes/labels, set of about 400 self-sticking codes, (5% deviation +/-)</p>	buc	789,44	1	789,44
		buc	743,66	1	743,66
		buc	2662,52	1	2662,52
		set	423,57	1	423,57
		set	967,37	1	967,37
		buc	1495,8	2	2991,60
		set	396,62	2	793,24

	<b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)	buc	486,8	2	973,60
	<b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	4	3493,60
	<b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100	set	873,4	1	873,40
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	1	896,03
	<b>Keeping up with Cheetah Romanian/English book</b>	buc	267,75	1	267,75
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,9	6	41,40
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	3	17,49
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	1	5,83
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,5	1	17,50
	<b>Start arrows for Items 10-12</b>	buc	1	2	2,00

	FM Hearing Aids for students, to be user in the classroom and the Resource Room <b>PHONAK BOLERO V30 P PHONAK</b> ROGER MyLink	buc	11619,89	1	11619,89
	<b>PHONAK ROGER TouchScreen Mic</b> FM transmitter for the Teacher, who teaches hearing impaired students.	buc	11827,15	1	11827,15
	First Aid kit Hearing Aids <b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer-1 pcs.; Phonak Cleaning beaker(dryng tub)-1 pcs.; Set of 3 cleaning tools-1 pcs.; Nattery 13*H ZINC/AIR-1 pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6 pcs.; Cleaning tablets-4 pcs.:	buc	773,92	1	773,92
	<b>Monster 2 High Visibility RO Keyboard</b> KYB-MON2VIS-UCUH Accuratus Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys & 2 Port USB Hub, with stickers in Romanian language	buc	842,75	1	842,75
	<b>BigKeys LX gwerty Upper Case Black on White RO</b> AbleNet BigKeys LX QWERTY Keyboard-Romanian language	buc	2814,63	1	2814,63

	<b>Keyboard Gembird KB-U-103-RU Standard Black/RO KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Romanian language	set	134,74	3	404,22
	<b>BigKeys LX Keyguard PROSOPSIS</b> Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	1	1535,26
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	1	2561,34
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	1	2840,66
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	1	3095,84
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	1	490,04
	<b>Praetorian Optima Joystick SKU:OPMAJ</b>	buc	3725,62	1	3725,62
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	1	1675,34
	<b>Pretorian Smoothie 125</b>	buc	665,28	1	665,28
	<b>Pretorian Smoothie 75</b>	buc	665,28	1	665,28
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	1	1841,73

	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	1	14893,06
	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	1	1626,67
	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	1	11761,52
	A portable HD Video magnifier tablet, with at least 10 inches screen	buc	18888,64	1	18888,64
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Folii laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059	1	2059,00
	Cloured Magnetic Number Frames 80pcs	set	1334,77	1	1334,77
	Bee-Bot Programmes Floor Robot	buc	1265,19	1	1265,19
	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	2	1192,89
	Bee-Bot Countryside Mat	buc	596,45	1	596,45
	BEE-Bot Shapes, Colour and Size Mat	buc	596,45	1	596,45
	Easi-Tomer	buc	596,45	1	596,45

		Mixed Colours Reading Ruler 10pk	buc	271,11	2	542,22
		Coloured Eye Level Reading Ruler 10pk	set	298,22	1	298,22
		GET a Grip Pencil Grips	set	976,00	1	976,00
		Development Pensil Grips	set	271,11	1	271,11
		<b>Romanian Letters of the Alphabet</b> <b>Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language	set	896,03	1	896,03
		<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	1	134,74
		<b>Total</b>			<b>86</b>	<b>191062,77</b>
34	Ungheni	<b>Tablet Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB: 10.1 Carrying case</i>	buc	8139,33	6	48835,98

	<b>DLP Data Video Projector Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS- 232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling Mount: Cable HDMI to HDMI 4.5m: Power Cord Cable Extension High quality:</i>	buc	7166,15	2	14332,30
	<b>Laptop 15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case	buc	5968,31	2	11936,62
	<b>Colored MFD CANON MAXFY MB5140</b> <i>Additional Dual Resistant High Density 4 ink tanks (Black, Cyan, Magenta, Yellow)/ PGI- 2400XL BK/PGI-2400XL: Cable USB2.0-Am- Vm, 1.8m, A-plug B-plug, Black:</i>	buc	4195,76	2	8391,52
	<b>Read ABCD Romanian</b> Phonology and Reading Mixed type software (step by step reading) in Romanian Language with Universal Desingn of Learning (UDL)	buc	1783,93	2	3567,86
	<b>Text Aloud 4</b> Text to speech software with hilighting whilst reading, includes Russian and Romanian voice	buc	1665	2	3330,00
	<b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.	buc	1189,29	2	2378,58
	<b>Mind Express4 AAC Alternative,</b> Augumentative Communication software, for Education and Communication	buc	2293,62	2	4587,24

	<p><b>iCSPEECH Standard Edition</b>            Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian</p>	buc	3482,91	2	6965,82
	<p><b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Ramanian and Russian</p>	buc	1104,34	2	2208,68
	<p><b>IWRITITE prediction, Romanian</b>            Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.</p>	buc	1189,26	2	2378,52
	<p>Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen,licens with dongle, <b>(ZoomText, Magnifier/Reader)</b></p>	buc	6544,08	2	13088,16
	<p>Software to develop language activities in Romanian and Russian language <b>(Clicker7)</b></p>	buc	5174,35	2	10348,70
	<p>Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b></p>	buc	1319,95	2	2639,90

	Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons) <b>Item 6 includes item 5 as well</b>	buc	1149,74	2	2299,48
	Mind Mapping software, with a library of pictures and possibility to make mind maps for senior children <b>Inspiration 10.</b>	buc	1149,74	2	2299,48
	<b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, spelling and phonology, auditory discrimination, visual discrimination etc.	buc	789,44	2	1578,88
	<b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.	buc	743,66	2	1487,32
	<b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.	buc	2662,52	2	5325,04
	<b>Chater Block (item 4)</b> Dice (talking), for young children.	set	423,57	2	847,14

	<p><b>Attention Training Software (sent digitally) (item 5)</b> Attention Training set.</p> <p><b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).</p> <p><b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special cades/labels, set of about 400 self-sticking codes, (5% deviation +/-)</p> <p><b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)</p> <p><b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100</p> <p><b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100</p> <p><b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.</p>	set	967,37	2	1934,74
		buc	1495,8	4	5983,20
		set	396,62	4	1586,48
		buc	486,8	4	1947,20
		set	873,4	8	6987,20
		set	873,4	2	1746,80
		set	896,03	2	1792,06

	<b>Keeping up with Cheetah Romanian/English book</b>	buc	267,75	2	535,50
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,9	12	82,80
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	6	34,98
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	2	11,66
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,5	2	35,00
	<b>Start arrows for Items 10-12</b>	buc	1	4	4,00
	FM Hearing Aids for students, to be used in the classroom and the Resource Room <b>PHONAK BOLERO V30 P PHONAK ROGER MyLink</b>	buc	11619,89	2	23239,78
	<b>PHONAK ROGER TouchScreen Mic</b> FM transmitter for the Teacher, who teaches hearing impaired students.	buc	11827,15	2	23654,30
	First Aid kit Hearing Aids <b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablets)-2 pcs; Phonak air puffer-1 pcs.; Phonak Cleaning beaker(dryng tub)-1 pcs.; Set of 3 cleaning tools-1 pcs.; Nattery 13*H ZINC/AIR-1 pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6 pcs.; Cleaning tablets-4 pcs.:	buc	773,92	2	1547,84

	<b>Monster 2 High Visibility RO Keyboard</b> KYB-MON2VIS-UCUH Accuratus Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&2 Port USB Hub, with stickers in Romanian language	buc	842,75	2	1685,50
	<b>BigKeys LX gwerty Upper Case Black on White RO</b> AbleNet BigKeys LX QWERTY Keyboard-Romanian language	buc	2814,63	2	5629,26
	<b>Keyboard Gembird KB-U-103-RU Standard Black/RO</b> KB-U-103-RU Gembird with self-sticking plastic labels, small and caps letters, in Romanian language	set	134,74	6	808,44
	<b>BigKeys LX Keyguard PROSOPSIS</b> Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	2	3070,52
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	2	5122,68
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	2	5681,32
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	2	6191,68
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	2	980,08

	<b>Praetorian Optima Joystick SKU:OPMAJ</b>	buc	3725,62	2	7451,24
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	2	3350,68
	<b>Pretorian Smoothie 125</b>	buc	665,28	2	1330,56
	<b>Pretorian Smoothie 75</b>	buc	665,28	2	1330,56
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	2	3683,46
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	2	29786,12
	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	2	3253,34
	HD Handheld digital text magnifier, Eye pad 7 inches	buc	11761,52	2	23523,04
	A portable HD Video magnifier tablet, with at least 10 inches screen	buc	18888,64	2	37777,28
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Foi laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059	2	4118,00
	Cloured Magnetic Number Frames 80pcs	set	1334,77	2	2669,54
	Bee-Bot Programmes Floor Robot	buc	1265,19	2	2530,37

	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	4	2385,78
	Bee-Bot Countryside Mat	buc	596,45	2	1192,89
	BEE-Bot Shapes, Colour and Size Mat	buc	596,45	2	1192,89
	Easi-Tomer	buc	596,45	2	1192,89
	Mixed Colours Reading Ruler 10pk	buc	271,11	4	1084,45
	Coloured Eye Level Reading Ruler 10pk	set	298,22	2	596,45
	GET a Grip Pencil Grips	set	976,00	2	1952,00
	Development Pensil Grips	set	271,11	2	542,22
	<b>Romanian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language	set	896,03	2	1792,06
	<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	2	269,48
	<b>Total</b>			<b>172</b>	<b>382125,55</b>

35	UTA Gîgăuzia	<b>Tablet</b> <b>Lenova iDEPAD D 330-10IGM</b> 10.1 FHD (1920x120) IPS /Intel Pentium Silver N5000/RAM 4GB LPDDR4/64GB eMMC flash/Front 2.0MP/Rear 5.0MP/Wi-Fi+Bluetooth/MS Windows 10 Home S /Detachable Keyboard Dock: <i>USB to HDMI Video Adapter:</i> <i>Wireless, Silent Optical Mouse, 2.4GHz, USB:</i> <i>10.1 Carrying case</i>	buc	8139,33	6	48835,98
		<b>DLP Data Video Projector</b> <b>Acer P1255</b> 4000 ANSI lumens DLP XGA (1024x768), 20000:1,5,000/10,000 hours, 1x HDMI, 1xHDMI/MHL,1xDC out, 1x audio out, 1xRS- 232,1 x composite video, 2x VGA, 1x 10W (mono) Yes, Throw ratio 1.51-1.97 Additional Cable HDMI to HDMI 4.5m Additional Power Cord Cable Extension High quality: <i>Sopar TAPA universal Projector Ceiling</i> <i>Mount: Cable HDMI to HDMI 4.5m:</i> <i>Power Cord Cable Extension High quality:</i>	buc	7166,15	2	14332,30
		<b>Laptop</b> <b>15.6 LENOVO V15-ADA/</b> Wireless Optical USB Mouse/15.6 NB Carrying case	buc	5968,31	2	11936,62
		<b>Colored MFD CANON MAXFY MB5140</b> <i>Additional Dual Resistant High Density 4 ink</i> <i>tanks (Black, Cyan, Magenta, Yellow)/ PGI-</i> <i>2400XL BK/PGI-2400XL: Cable USB2.0-Am-</i> <i>Vm, 1.8m, A-plug B-plug, Black:</i>	buc	4195,76	2	8391,52
		<b>Read ABCD Romanian</b> Phonology and Reading Mixed type software (step by step reading) in Romanian Language with Universal Desingn of Learning (UDL)	buc	1783,93	1	1783,93

	<p><b>Read ABCD Russian</b> Phonology and Reading Mixed type software (step by step reading) in Russian Language with Universal Design of Learning (UDL)</p> <p><b>Text Aloud 4</b> Text to speech software with highlighting whilst reading, includes Russian and Romanian voice</p> <p><b>Maths 1 Romanian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Romanian language.</p> <p><b>Maths 1 Russian</b> Early Mathematical concepts, numbers 1 to 5 downloadable software, in Russian language.</p> <p><b>Mind Express4</b> AAC Alternative, Augmentative Communication software, for Education and Communication</p> <p><b>iCSPEECH Standard Edition</b> Standalone software or online application for speech production, speech correction, articulation, prosody in both languages Romanian and Russian</p> <p><b>iCSPEECH Comparing</b> Software for recording and comparing voice and speech in both languages Romanian and Russian</p>	buc	2123,72	1	2123,72

	<b>IWRTITE prediction, Romanian</b> Prediction software to speedup writing and help also with spell checking, for Romanian language. To predict words.	buc	1189,26	1	1189,26
	<b>IWRTITE prediction, Russian</b> Prediction software to speedup writing and help also with spell checking, for Russian language. To predict words.	buc	1274,26	1	1274,26
	Magnifier/Reader of screen, software, licens with dongleMagnifier/Reader of screen, licens with dongle, <b>(ZoomText, Magnifier/Reader)</b>	buc	6544,08	2	13088,16
	Software to develop language activities in Romanian and Russian language <b>Clicker7)</b>	buc	5174,35	2	10348,70
	Primary school Social skils software, Romanian language <b>(On the Road with Safety)</b>	buc	1319,95	1	1319,95
	Primary school Social skils software, Russian language <b>(On the Road with Safety)</b>	buc	1496,22	1	1496,22
	Mind Mapping software, with a library of pictures and possibility to make mind maps for junior children (500 library pictures/icons) <b>Item 6 includes item 5 as well</b>	buc	1149,74	2	2299,48

	Mind Mapping software, with a library of pictures and possibility to make mind maps for senior children <b>Inspiration 10.</b>	buc	1149,74	2	2299,48
	<b>Recordable Talking Wall Panel Story Sequencer (item 1)</b> Routines and sequence device with 5-6 cells to help with reading, syntax, spelling and phonology, auditory discrimination, visual discrimination etc.	buc	789,44	2	1578,88
	<b>Recordable Talking Interactive Wall (item 2)</b> Talking board with a number of pockets (around 30) to insert pictures and to record messages on each one. Helps with phonology, syntax, audiovisual discrimination and many more.	buc	743,66	2	1487,32
	<b>Little Step by Step with Levels (item 3)</b> Device to reproduce several messages, up to 4 minutes with possibility to listen to the sequentially or randomly.	buc	2662,52	2	5325,04
	<b>Chater Block (item 4)</b> Dice (talking), for young children.	buc	423,57	2	847,14
	<b>Attention Training Software (sent digitally) (item 5)</b> Attention Training set. (Set de formare a atentiei)	buc	967,37	2	1934,74

	<p><b>PENpal TalkingPEN,I (item 6)</b> Talking pen, that reads and records text on special self-sticking codes (labels).</p>	buc	1495,8	4	5983,20
	<p><b>TalkingPENRecordable Labels (item 7)</b> Talking Pen special cades/labels, set of about 400 self-sticking codes, (5% deviation +/-)</p>	set	396,62	4	1586,48
	<p><b>Romanian/English Talking Dictionary (item 8)</b> Early ages and the Talking Pen with basic school topics in Romanian language (at least 600 pictures)</p>	buc	486,8	4	1947,20
	<p><b>Romanian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100</p>	set	873,4	8	6987,20
	<p><b>Russian Words Magnet Set (item 10)</b> Word building, sentence building (text and sound) magnetic tiles to be used with the talking pen, set of at least 100</p>	set	873,4	2	1746,80
	<p><b>Romanian Letters of the Alphabet Magnet set (intem 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.</p>	set	896,03	1	896,03

	<b>Russian Letters of the Alphabet Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	895,82	1	895,82
	<b>Keeping up with Cheetah Romanian/English book</b>	buc	267,75	2	535,50
	<b>AAA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	6,9	12	82,80
	<b>AA alkaline batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	6	34,98
	<b>9v batteries NOT RESTRICTED AS PER 123</b>	buc	5,83	2	11,66
	<b>MOLDOVA BOX AND HANDLES</b>	buc	17,5	2	35,00
	<b>Start arrows for Items 10-12 (Sageti)</b>	buc	1	4	4,00
	FM Hearing Aids for students, to be used in the classroom and the Resource Room <b>PHONAK BOLERO V30 P PHONAK ROGER MyLink</b>	buc	11619,89	2	23239,78
	<b>PHONAK ROGER TouchScreen Mic</b> FM transmitter for the Teacher, who teaches hearing impaired students.	buc	11827,15	2	23654,30

	<p>First Aid kit Hearing Aids</p> <p><b>PHONAK Cleaning and Care Kit</b> ( includes, Phonak Pediatric clip holder-1 pcs; Phonak hygiene bag-1 pcs.; Phonak Listening tube-1 pcs.; Phonak Drying capsules (tablrts)-2 pcs; Phonak air puffer-1pcs.; Phonak Cleasing beaker(dryng tub)-1 pcs.; Set of3 cleaning tools-1pcs.; Nattery13*H ZINC/AIR-1pcs.; Otofloss (Tubing floss(threads))-10 pcs.; PVC tubing (Tubes)-6pcs.; Cleaning tablets-4 pcs.:</p>	buc	773,92	2	1547,84
	<p><b>Monster 2 High Visibility RO Keyboard</b></p> <p>KYB-MON2VIS-UCUH Accuratus</p> <p>Monster 2 -USB High Visibility Visual Impairment Keyboard with Extra Large Keys&amp;2 Port USB Hub, with stikers in Romanian language</p>	buc	842,75	2	1685,50
	<p><b>BigKeys LX gwerty Upper Case Black on White RO</b></p> <p>Ablenet BigKeys LX QWERTY Keyboard-Romanian language</p>	buc	2814,63	2	5629,26
	<p><b>Keyboard Gembird KB-U-103-RU Standard Black/RO</b></p> <p>KB-U-103-RU Gembird with self-sticking plastic labels, small and caps letters, in Romanian language</p>	set	134,74	6	808,44

	<b>BigKeys LX Keyguard PROSOPSIS</b> Bigkeys LX Keyboard Keyboard made of clear plexiglass for the BigKeys Lx Keyboard Fits perfectly with the BigKeys Lx Keyboard Plexiglass thickness minimum 3mm	buc	1535,26	2	3070,52
	<b>AbleNet Quick Talker 7</b>	buc	2561,34	2	5122,68
	<b>AbleNet Quick Talker 12</b>	buc	2840,66	2	5681,32
	<b>AbleNet Quick Talker 23</b>	buc	3095,84	2	6191,68
	<b>TTS Chatter Board LI 10193</b>	buc	490,04	2	980,08
	<b>Praetorian Optima Joystick</b> <b>SKU:OPMAJ</b>	buc	3725,62	2	7451,24
	<b>AbleNet BIGtrack 2</b>	buc	1675,34	2	3350,68
	<b>Pretorian Smoothie 125</b>	buc	665,28	2	1330,56
	<b>Pretorian Smoothie 75</b>	buc	665,28	2	1330,56
	<b>Pretorian SIMPLYWORS SEND-6</b>	buc	1841,73	2	3683,46
	Image/Text ,readers aloud textfrom books, notes, leaflets	buc	14893,06	2	29786,12
	Mouse with magnification option for reading from any flat surface by zoom in, zoom out SRATE SR 028B-Mouse Magnifier	buc	1626,67	2	3253,34

	HD Handheld digital text magnifier, Eye pad 7 inches (lupă digitală de mâna pentru texte, 7 incii)	buc	11761,52	2	23523,04
	A portable HD Video magnifier tablet, with at least 10 inches screen	buc	18888,64	2	37777,28
	Laminator OLYMPIA a340 Combo incl:1 pack *Folii laminare DIN A6-125 MIN (100foi);1pack *Foi laminare DIN A6-125 MIC (100foi), 1 pack *Folii laminare DIN A6-125 MIC (100 foi) 2pack*Folii laminare DIN A6MIC (100 foi)	buc	2059	2	4118,00
	Cloured Magnetic Number Frames 80pcs	set	1334,77	2	2669,54
	Bee-Bot Programmes Floor Robot	buc	1265,19	2	2530,37
	Bee-Bot Transparent Grid Mat 8x8	buc	596,45	4	2385,78
	Bee-Bot Countryside Mat	buc	596,45	2	1192,89
	BEE-Bot Shapes, Colour and Size Mat	buc	596,45	2	1192,89
	Easi-Tomer	buc	596,45	2	1192,89
	Mixed Colours Reading Ruler 10pk	buc	271,11	4	1084,45
	Coloured Eye Level Reading Ruler 10pk	set	298,22	2	596,45

	GET a Grip Pencil Grips	set	976,00	2	1952,00
	Development Pensil Grips	set	271,11	2	542,22
	<b>Romanian Letters of the Alphabet</b> <b>Magnet set (item 11)</b> Magnetic words, Magnetic letters with codes to be read by the talking pen, set of around 120 words in Romanian language.	set	896,03	2	1792,06
	<b>KB-U-103-RU</b> Gembird with self-sticking plastic labels, small and caps letters, in Russian language	set	134,74	2	269,48
	<b>Total</b>			<b>172</b>	<b>382811,34</b>

